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1. B4USPL PUQUNIB3NILLEN: PYUSPL IUNNIULULNFBINILLGD:
IUNNPILULNFPSUL UUIVULL: PYUSPL TUNRE:

PwqinpyntGGtipp hhdGwywOnid Gowlwyynid GO (wwnhGlptbh dESwwnw-
ntipny:

Uwpbtidwuinhljuwywl wlwihgh nwupGpwgh 2wpwnpdwb pGpwgpntd, gpki-
(wdlh YwpSnpjwld hwidwp, oquwgnpdynd LG hbnlyw) GwGGEpp’

V, 3,=,€,¢,U,N, npnlGg hdwuwnp tnpdwé t htinnbyw) wyniuwyndd:

G2wG wijwbnuwdp pwgwwpnLpjnG
v pGnhwGpnipjwa thnfuwphbnud t uwdwjwyw, jnupwpwlynep,
Gowh pninp pwntphG
3 [anmppsug | AR & baunlh, anmpnul nuth pu-
A= B qphjwdLp GwlGwynd t, np A-hg
= | htinbbint GowG htitnbnud t B -G, w)| Ybpwy wuwd B wwjdw-

Gp wlGhpwdtiin t 4 -h hwiwp Jwd 4 wwj-
dwip pwywpwp t B -h hwiwp

A& B qpblwdlp Gowlwynmd t, np 4 -hg
htivmuntd £ B-G L B-hg htitnbnud £t A4 -G, wy|

o hwiwndtipnipjw Ybpw wuwéd A4-6 hwiwpdtp t B-hG, B-G
G2wa wlhpwdtyn b pwdwpwp wwpdws t 4-h
hwdwp, A4-6 wbnh nGh w)b L Ghwyls wyG
nbwpnuy, tipp wnnbinh nlGh B -G
ae A qpblwdlp Gwlwynd t a-0 4 pwq-
€ g;l:::guwﬁblhmpjwﬁ Onipjwl wwppb £ Ywd a-0 wywuwnfwbnud t
A-hG
a¢ A qpblwdlp Gwlwymd t a-G 4 pwg-
¢ El;'uuj";‘ Yt dnipjwl wvwpp st Ywd a-0 sh wwwnwanid
A-hG
U | shuynpdwG Gowa
N | hwuwndwG Gawh




bpt 4 pwqinipjwl jnpwpwbgnip @ nwpp wwwnhwondd £ Gwlk B pwq-
dnupjwlp, wwyw A4 -0 widwbnud G B pwqdinpjwl fipwpwqintpnil L qpnid
LG Ac B Ywd Bc 4 (A-0pGYywé t B-h oby, A4 -0 wwpniGwyymd bt B -nud
ywd B -0 wwpnibwyma t 4 -0):

A L B pwqdnpjnGGtph Shwynpnuip (AU B) pwaqinipynih t, npp
Yuquiywé t wyG vwppbiphg, npnbp wwwnlwbnd 66 4 L B pwqdnpyntGGt-

nhg qnGb dEYHG:
A L B pwqinipniGGtiph hwwnudp (4 B) pwqdnip)niG t, npp Yuqd-

ywé t wyb wwwpptiphg, npnlp wwwywhnud 66 pb™ 4 -hG L pt” B -hG:

A L B pwqinpyniGGliph wwpptipnipynilp (4/B) pwqinipyniG £, npp
Yuqijwé t 4 pwqinupjwl wyb nwppbiphg, npnGp s60 wwwnlwbnud B -hG:

Ng Gh vwpp swwpnibwynn pwqinpynilp Yngynud b nwunwpy pwqinpn
L Gywlwlyyny” O

bpt 4 c B, wyw B/A pwqinpjwlp wijwlnid GG 4 pwqdnipjwl jpw-
gntd 6hGsk B pwqinipntlp, L Guulwynis™ A;

Ujh ntiwptipnud, Gpp nhunwpyyned 66 nput hhdGwywb C pwqdinpjwi G-
pwpwqinpjnGGtpp, M LGpwpwqdnipjwb (pwgniip 6hGsk C pwqinupynilp
Gwlwlyntd t nipnuwiyh M’ -ny:

A L B pwqinpyntlGGtipp Ynsymd 6 hwywuwp, tpt Gpwip Ywqiywd
G0 ohLGnyG wwpptiphg:

A L B pwqinipniGGtipp hwywuwp 66 wyb L Shw)b wyG nbwpniy, tpb
620wphuwn GG htivbywy GepnpnudGpp 4B L Bc A4

LpwgiwG uwhdiwbndhg  wbdhpwwtiu  htwkmd t MUM'=C,
MNM' =@, (MY =M:

A pwqinipjwl wyG tnwpptiph GGpwpwqdnipyntGGipp, npnGp pwywpuwpntd
G0 P wwydwGha, Gawlwyynd t” B={xe A4: P}: OphGwly’

A\B={xe A:x¢ B}:
Pwaquntp)nibp, nph tnwpptipp pYtip GG, Ynsunid t pYwyhG pwqinupyniG:

Uwpbidwinhywlwlh wlwihgnd woewyt) hwéwhu hwlnhwynn pywhG puq-
dnupynLGGliphg GG

R = (—o0;+20) (hpwlw( pytin)
N ={;2;---n;---} (pGwlwa pytin)
Z={0;1;£2;---+n;---} (wipnng pytin)

0= {fzpe Z,.qe N} (nwghnGiuwy pytin)

I=R/Q (hnwghnGuwy pytn)
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w) qunll; A b B pwqdnipymGGEph Jhwynpnidp.
A={-6;-5-31,37}, B={-4,-3,1,2;7;8}

A—-pun 4 L B pwqinipynbGtph dhwynpnud pwqinpjwl uwhdwG-
0wl AU B pwqinpyntlp unwGwint hwiwnp pwywlw t bpglty 4 pwgq-
Gnipywb vwppbipp L Gpwig wybiwgll; B pwquinipjwl wyG nwwppbipp, npnGp
$60 wwuwwbnud A4 -hG:

U)Gwbu np® AU B = {-6;-5;—4;-3;1;2;3;7;8} \A

P) qunGb| A U B pwqumpyniGGEph hunnnudp.
A={-7;-5;-4,-1;2,3;4}, B={-8;-5;-3;-1;2;5}
A — puin hwuinnud pwqinpjwl uwhdwGdwl 4N B pwqinipnlp unw-
Gwpnt hwdwp hwplwynp t ybpgltp wyl vwwpptpp, npnGp pGnhwbnip GG 4 L
B pwqinipyniGGbph hwiwp: UjGwtu np® 4N B = {-5;-1;2}: \Y%

q) Uywgnigby, np gwlliwgwdé A, B U C pwqumpimGGph hwiwp
ddwppin t (ANB)UC =(4UC)N(BUC):

A -Lwlwytbp 7-nd L I7-nd hwiwwwunwufuwlwpwp hwyjwuwpni-
pjwl dwhu L wy dwubipp: 8nyyg wwbp, np 620wphuin GG htwnbyw) GepnpnudGt-
mp IclluwllclI:

GGpwnpkGp a€ I: Ujuinbinhg htitnbnud t, np ae Ywd A B-hG, Ywd
C -hG, Ywd GpyniupG t) Shwowdwbwy: tpt ae A(N\B=>ae€ A, ae B>
ae AUC Lae BUC =>ae ll:

bpt ae C, wyw ae AUC Lae BUC = ae Il : UYuwhuny I c II':

tGpwnptGp ae€ II: Uuwtnhg hbwnbnmd t ae AUC L ae BUC:
ae AUC=>ae A4 L C puqinpnlGtphg qnGt OtyhG: LnyG auny
ae BUC=ae B L C puqinpjnlGtiphg qnGt dtiyhG: bpt a-0 wwuinljw-
Gnud t C-hb, www ae I-hG: bpb a-6 C-hb sh wwnwbnuy, www wjl ywn-
YwGni t L A-hG L B-hG, hinkwpwp ae AN B = ae I-hh, GauGwlynid t
I c I: 6pynt GinpnuiGliphg hiwbinui t, np 7 =11 \Y%

n) Uwwgm gl hwyjwuwpnipyniGp.
(ANBY=4AUB

A -LywlwytGp 7-ny L 7-nd. hwiwwwunwuhwlwpwp hwywuwpnt-
pjwh dwfu L we Jwubipp:

* A =0 GauGwym t wwwgnygh ulhgpep, V -G GawGwynid b wwwgngh Yipep:



Gopwnplip ae I: = ae AN B: Gwpwynp t bpbip nbwp® 1) ae 4,
ag B,2) ae A, ae B,3) ag A, a¢ B: 1-hG nbwpnid ae B’ : = ae Il :
2-nn ntiwpnd ae A’: = ae Il : 3-pn nypnid ae A’, ae B': =aell:
Wowtunp I II:

8niyg wtwlp, npShaint I/ c I:

Gopwnpbilp ae Il = ae A" Ywd ae B’ ywi t ae 4", ae B’ : Pninp b-
pbip ntiwptipnud b uinwgytg ag A B-hg = a€ I -hG: ainbwpwp I=11: V

2. UURLUUSPLULUL PLINFUSHUSH UYaPLNILLL

4,4, A4, A, winnuiGiphg jnupwpwlbgnipp hwdwpyned b wwwgnig-
Jwé, tipk

w) A -p G20wphw t

p) k21 wwpdwGho pwyjwpwpnn gwiywgwé pGwlywh pyh hwdwp gnyg t
wpynud, np 4, wlndwh Saunnipynilhg hwbinud & A4, ,, wGndwi Saunnpynp:

CunnGywd Gwlwynudbbp GG

0!'=1, I'=1, n!'=1-2-3-...-n=(n-1)'n, ne N (n dwlunnphwy)

211=2,2n)!'=2-4-6-...-2n,ne N,n>1

M=1,2n-HN=1-3-5-...-.(2n-1),ne N} Yhuwpwywnphw)Glip

=1, C* n!

; ; =W’ nke N, k<n (qnignpnntpinil n-hg k -wlywa)
\n- .

orpLULLEP

w) VUwpbdwwpywlyws hGnmyghuyh GnwlGwlyny wwuwgnighy, np
gwllwgwé ne N pyh hwdwp 80wppn t hbwnlbyw) hwdwuwpmpymGp®

(1_1)(1_1)(,__1_) ..... (1_ 1 ) n+2 )
4 9 16 (n+1) 2n+2
3 3
A- n=1 nbwpntd (1)-p 6 2=
n=1 ntiwpnid (1)-p hzmt(4 4)

8nijg wnwlp, np wyl GGpwnpnipyniGhg, np (1)-p Shawn t nplt #21 hw-
dwp, htivnunud £, np wyG Shawn t hwenpn (7 +1) -h hwdwp, wjuhGpG

1 1 1 1 1 n+3
1--lf1-=l1=—1-.... - - =
( 4)( 9)(1 16) (1 (n+1)’)[1 (n+2>’) 2nvs




bpnp’

(l'i)(l'é)(l‘%) """ [1_(n+11)’)[1—(n:2)2)=

_ n+2 '(1_ 1 )_ n+2 n'+4n+3 _ (n+D)(n+3) _ n+3
“2n+2 0 (n+2)? ) 2(n+1) (n+2  2(n+1)(n+2) 2n+4

3Gwnbwpwnp (1)-p Ghawn | gwllwgws ne N pyh hwdwn: \Y%

p) Uywgnighy, np gwlywgwd ne N pyph hwdwp 5-2°"7 +3"" wp-
wnwhuwywnnpyniGp wnwGg dGwgnpnp pwdwGymd t 19-h:

A — n=1 nbwpnd wpunwwjnnipyntlp pwdwGynid £ 19-h

(5-2+3*=19:19)

BGpwnntiGp nplt #>1 pyh hwiwp (5-272 +3*"):19 (1)

8nuyg twGp, np (5-2°"*N72 4330y 119 (2)

hpnp’ 5.03(m+1)=2 L 33mel)-l _ g 53 43n-2 L 33 yn-l _g g5 -2 g 3¢l
+19-3 =8(5-2*2 +3"") +19.3*"

Lwhh np wye dwund tipynt gnudwptithGtpa tp pwdwbynud GG 19-h, (wnw-
ohlp’ puwnn LGpwnpnipjw(, tpypnpnp™ nGh 19 wpwnwnphsp), www wdpnng
gnudwpp Lu pwdwOynid t 19-h: UjGwtiu np (2)-p 620wphwn t: IGnblwpwp pun
dwpbdwuwnhywlwb hGnnlyghwih uyqpnibph wnpwéd wpunwhwjnnip)nilp
gwllywgwd ne N hwiwp pwdwGynd t 19-h: \Y

q) Uwywgnigby, np gwlwgwd n>1 plwlwi pyh hwdwp 8dwppun t
wihwywuwpnipyn Gp.

1 1

oot
n+l n+2 3n+1

A —uwnniqliGp (1)-h G20wpwnwghnipyntlp 7 =1-h hwdwp
1 1.1 6+4+3 13

>1 (1)

273732 12
Gapwnpbbp (1)-p Ghwn t nplt #>1 pGwlywG pyh hwdwp: Snyg wnwlp,
np w)G 8hawn t hwenpn™ (n+1) -h hwdwp:
NuGLGp
1 1 1 1 1 1

+ ST = + =
n+2 n+3 3n+1 3n+2 3n+3 3n+4

1 1 1 1 ) ( 1 1 1 1 )
= + + +.o 4 + + + -
n+l n+2 n+3 3n+1 3n+2 3n+3 3n+4 n+l
Lwlh np wnwehl thwlwaghép punn LGpwnpnipjwlb B6S t 1-g, www Gtiq
pwywlywa t gnyyg vwy, np guwilwgwd 721 pGwywb pyh hwdiwn Ghown t hk-
nbyw| wohwywuwpnipynilp
9



1 1 1 1
+ - >
3n+2 3n+3 3n+4 n+l

()

NuGLGp
1 1 1 1 1 1 2
+ + - = + - =
3n+2 3n+3 3n+4 n+l 3n+2 3n+4 3n+3
_9n2+21n+l2+9n2+15n+6-18n2—36n-16_ 2 >0
(Bn+2)(3n+3)(3n+4) (Brn+2)(3n+3)(3n+4)
3twnLwpwp (1)-p 6hown t guwlywgwé 7 =1 pGwyw pyh hwdwp: \Y%

n) Uwwgnigtby, np gwliwgwd ne N b guwlywgwdé x >-1 pyh hw-
dwp hawn t htwnlyw) wehwywuwpnipyniGp (PenGniy hp wGhwywuwpne-
psnih)

(+x)" 21+nx (1)

A—n=1-h hwiwp (1)-p Ghon t (1+x=1+x): GOpwnpklp, np (1)-p
Ghaw t nput ©21 plwlw6 L guwlywgwé x = -1 pytiph hwiwp, gnyyg nwip,
np w)jG Ghawn t Gwl 7»+1 pyh hwdwp

(I+x)™ 21+(n+1Dx )

Lwlh np (1)-p Shownn t x 2 -1, www Gpw Gpynt dwub b} pwqiwwwnyb-

(ny 1+ x 20 wpunwhwjnnipywdp, Yunwbwbp Shon wihwjwuwpnipyntl’
(I+x)™" 2 +nm)A+x)=1+nx+x+n’ =1+ (m+Dx+nx’ 21+ (n+1)x

pwGh np nx* >0:
Uuwhuny, Gpp x 2-1 (2)-p Ghawn t: IGnbwpwp (1)-p, pun dwpbdwunh-
YwywG hGnntyghwih uyqpnilph, Ghouwn L: \%
6) Uwywgngby, np gwliwgwé a U b pybph b gwlywgwé ne N
pYh hwiwp dhan t UymuunnGh Ephwlnwih pwGwdélp

n+l

(a+b)" =) Cia™™*b", (ne N) (1)

k=0
A - Oquytilip dwpbiwwnhywlwa hGnniyghwih uyqpmGphg” n=1 hw-
dwpn (1)-p Shaw £, npnyhbinnb Gpw we Swup hwywuwp t Cla+Clb=a+b:

Ghpwnnbbp (1)-p Ghaw t nplt #>1 pGwlwh pyh hwiwp, wwywgnighblp,
np wyl Ghawn t Gwb (n+1) -h hwdwp, wyh t

(a+b)n+l - ZC:+|a"+l-kbk (2)
k=0

A —(1)-h ipynt Swub t) pwqiwwwinybing (a+ b) -nyY Yunnwbwbp
(@+b)™'=4,+B,,
10



n+l
nnmhn A" =an+l - C:an-fl—kbk

k=1
B" = ZC:an—kbk-o-l = ZC:-Iam-I-kbk +bn+|
k=0 k=1
(B,-h wpnwhwjwnnipjwl dhp qmiwpdwl & hGnbkipup thnfuwphGtighGp

(k—-1)-ny L 4tipphb gnuiwpbithG k| wnwGabwgnpbighlp):
Ujuwhuny unhwguwbp’

(a +b)n+| = an+| + Z(C: +C'l't—] ) . an+|—kbk +bn+| (3)
k=1

Jbnlwpwp (1)-p wwywgnigwé YihGh, Gpl gnyg wnwbp, np gublwgwd
n21 pGwlwG pyh hwdwp Ghown t

G, +C'=C.,.  (k<n) @)
v n!
hpnp, oquytiiny C, _—k!(n—k)! pwlwdlhg, YnGLGwhp
n! n!
+ =
k\(n=-k)! (k=-D!(n-(k=-1))! v
_nl(n+l-k+k)  (n+D)!

K(n+l=k)!  kl(n+1-k)! ™

Sncdwpmd
Gpt a,,a,,---a, wpjwéd pytip GO, www Opwhg gnidwpp GawGwynud GG

Za,, updyniny, wybwbu np Za,, =a,+a,+a,+---+a,
k=1 k=1

k phy0 wGywGnuy GG qnudwpiwG hGntipu, Gywwnkbp, np gnuiwph pYw-
JhG dE6nLpynLlp Ywiunud sniGh GpwlGhg, pt hGs wweny GOp GowGwyb) gqne-
dwpdwh hGntpup: Anudwpdwh qnpénnnip)nilp odinywé t qéwyhG hwwnynt-
pjwip, w)b b’ gwlywgwd 4 L B pytiph hwiwp Ghawn t

i(A-a,, +B-b,()=A‘Zn:a,‘ +B~ibk
k=1 k=1 k=1

hwywuwpnipyniGp:

m+n

n
Z“km = Z a
k=1

k=m+1
pwlwdLi wijwbnud GG gnuiwpiwb hantipuh thnfuwphGiwb pwliwdl:
11



Ahgnip wpdwé t {a,} pdwyhG hwenpnwlwGnipynilp:
Npn2 ntiwpbpnud (Yuiudwés {a,} hwenpnwlwbnpjwh Ywrnigwéphg)

S, = Zak gnudwph hwidwp hGwpwynp b unwiw hwpdwp pwGwél:
k=1

orhpLULLEP

w) Y%gnp {b,} hwenpnwlwlnipniGG wyGwhuhG t, np JnLpwpWG-
ynip ke N pyh hwidwp a, =b,,,-b,, k=1,2;---: Mwhwbgynd t jnpw-
pwGynip ne N pyh hwdwp qunGti

S, = a, qnuiwph hwiwp hwpdwp pwGwdl:
k=1

A —NubkGp

S,=>.a,=Y (b, —b)=b,—b+b—b,+b,~b,+---+b, b, =

k=1 k=1

npintinhg YuunwOwbp

n

S, =Z(bk+l_bk)=bn+l -b, (1) \%

k=1
P) Mhgnip {a,,}-n pywpwlwlwb ypnopbupw t, nph pninp winwiGt-
pp b wwppbpnipyniGp” d -6 0-hg wwppbip 6G: GunGkGp S, qnudwpp pw-
GwdlLp, npinkn
S =Z ! , n=12;- @)

n
k=1 G Ay,

A-RwChnp a,,, —a,=d, ke N, wyuw

! _(L_;).l
a4, a, a.,)d

, ke N uunwlwGp

Uhpwnblp (1) pwGwdlp, npuintin b, =—d1
.ak

" Saca, <\a a,)d da d(a+nd)’

12



q) Ythgnip g, (x) =sinkx, k=1;2;---:

nGby S,(x) =) sinkr qnuiwpp hwzybint pwGwalp:
k=1

A-S,(x)= Zsinkx hwjwuwpnpjwl tpynt dwup pwqiwwwwnytlp

k=1
2sin % -ny L oquytiGp

2sini~sinkx=cos(k—l)x—cos(k+l)x, ke N
2 2 2

L (1) pwOwélLhg, npntin b, = —cos(k —%)x , urnwGwGp

2sin£-S"(x) =cos£—cos(n+l)x = 2sinn—+lx-sinﬁx
2 2 2 2 2

. n_ . n+l
" sin—x-sin——x
npnbinhg’ S,,(x)=Zsinlcx= 2 . 2 (3)
k=1 sini

(3) pwOwaélp Shawn L, Gpp sin%#O: Gpti sin—)2£=0, www hbGwnnpjwip
Ywpth t hwinqyti, np quwliwgwé ne N L gwlywgwsd xe R hwiwp
S,(x)=0: \Y

n) GGy S, =1"+22+3%+--+n’ =) k’ qnuiwpp hwaybin pwlw-

k=1

dup:
A — Oquytilip htitnlywy GnyGnipynibhg” (x +1)° —x* =3x> +3x +1 (4)
(4)-h dtip wnbnwnpbin hwenpnwpwn x=1;2;---n L gqnuiwpbny uwnwg-
Jwé hwyjwuwpnipyntGGtpp YurnwGwGp

S[k+1 =k ]=3Y K +3) k+n (5)
k=1 k=1 k=1
Oqutiiny (1) pwGwélhg, npnbin b, = kK, k=1;2;--- YuunwGwGp, np
(5)-h dwfu dwup hwywuwp t (7+1)° =1: Lwwnh nGEGwyny, np

Zk=fw
k=1 2

13



(npwytiu pYwpwlwywh wpngpbiuhwyh wewehG 7 wanwdbbph qnudwn), Ytipg-
Gwywlwwbu Yunwbwbp

3S, =(n+l)3—(n+1)-%n(n+l)=(n+l)(n2 +2n+1—1—-“;in)=

_ntl oy ¥ D@nt])
2 2
puntinhg 5 _nnsD@ns o

6
LijwwntiGp, np (6) pwlwdélp Ywpbih t unnwlGwy Yhpwebiingd dwpbtidwunh-
Ywywh hGnnyghwh dtpnnp:

3. PJIUSPL PULUNIFE3UL G2NGIL

X ={x} pdwjhG pwqintpynlp Yngymd t dtipkhg (Gtpplhg) uwhdw-
Gwihwly, tpt qnynup)nih nLGh M (m) phy wjlGwhuhG, np X pwquinipjwl gui-
Jwgwd x vwpph hwiwp wnbinh nlbh x<M (x 2 m) wGhwjwuwpnipynilp:
M(m) phdp Yngynd t X pwqinpjwl ytiphG (uwnphG) Lqp: Gpt X pwgq-
dnupjnilp niGh qnOb d6Y M (m) JtphG (unnnphG) Gqp, www wyb nbh wiGphy
Pwqdntpjwip YphG (unnph) bqptip: Apwbu winwhuhG Yownuih M -hg (m -
hg) dt6 (thnpn) gullwgwé hpwywh phy:

dbtplhg (GppLhg) vwhiwbwhwy ng nwnnwply X pwqinipjwl pnpnp yb-
phG (unnphb) Gqpiphg wibkGwghnppp (wikGwdtép) qgnynipynil nuGh L Ynsgynid
t wyn pwqinipjwl G2qnphwn YtphG (uinnphG) Gqp: LawGwyynud £

M, =sup(x}, (m0 = Eg{x}) :

Uwpnwgynd £ uniwypbdnud (h6phdnud):

M, -G (m,-G) Gaaphwn YbiphG (S2qnphwn unnphG) Gap t X pwquntpjwG
hwdwp, tpt pwjwpwpywdéd 66 hbunbyw] wyw)dwaGtpp.

w) Vxe X, x< M, (x2m,)

p) Ve>0,3x e X x.e My—€ (x. <my+€)

X pYwjhb pwqinipynilp Ynsynid t uwhdwGwihwy, tipt wyb uwhiwGw-
thwy t L ytiplhg L Gtpplhg: UjuhGphG qnynupynil nlGeG m L M pytip w)bugh-
uhl,np m<x< M, xe X : bpt puqinipjnilp uwhdwGwihwly st Yytiplhg (Gkp-

pLihg). wuyw wuySwGwynpunud bGp plinnilty sup{x} = +eo, (in)g{x} = —oo) :
x X xe

14



up), ytipg-

(6)
upbidwunh-

) uwhiw-
ajwl qul-
npnipynLhp:
i X pwgq-
.Oh wGphy
v -hg (m -

pninp Yb-
L Ynsynud

Jqinupjwl

iwhdwlw-
bp wylbwh-
nlhg (GGp-

-—);

62qnhwn YbiphG (uinnphG) Gopp Ywpnn b wwnywibp X pwqdnipjwGp,
Ywpnn t Owl swwunywab):

orpLULLEP

w) thgmp X ={x:0<x<2}:8nygwuwinpsupX =2:

A —gnug nwlp, np 2 phyp pwdwpwpnid t G2qphwin YEphG Gqph Gpynt
pGnipwqphs ww)dwGGEphG:

1) Vxe X, x<2

2) VO<e<2 npwbtu x* ytipgGhp x'=2-_€+2

phyp: U0 wwwnlw-
Grd £ X pwqinpjulp (06 t 2—¢ pdhg L thnpp L 2-hg: IGwnbwpwp
sup X =2, npG hptiG sh wwwnlwbney:

bpt npwbu X, pwqonpniG ytipglGhGp X U{3} pwquinipjnilp, www
wnnwnwghnptiG Gnyb duny YwwwgnigtiGp, np sup X, =3, npp wwwnlwbnud k
X, -hG: \%

pP) thgnip X cR b ~X ={x:—xe X}:

Uwwgmgby, np sup{—X}=—inf{X}:

A -GOpwnptilp, np X pwqinpynilp Gepplhg uwhdwGwthwy t: Un
nbwpmd -X -p YhGh ybplhg vwhdwbwhwly: IGwbwpwp sup{-X}-p L
inf{ X'} -p YhGLG Ytipgwynp pytip:

LowlwykGp sup{-X}=M,:

Cuwn G2qphwn YytiphG Gqph wrwehG pGnipwaphs hwuinynipywl, gublywgwd
x€ —X wnwpph hwiwp nbnh nGh

x<M, o -x2-M, (1)
Cuwn Gpypnpn pGnipwgnphs hwinynpjwG’ gwblwgwd € >0 pyh hwiwp
anjnipyntl nGh x’ € —X wjGwhuhb, np
X'>My—ee-x"'<-M,+¢€ )
Pw)g jntpwpuiGgnip x€ =X hwiwp —xe€ X : UjGwtu np (1)-hg L (2)-hg
yhtitnih, np gulywgwd xe X wnwpph hwdwp ntinh nbh
x2-M, 3)
L gwllwgwé € >0 puh hwiwp gnynipyntl niGh x"e X wjGwhuhG, np
¥ <-M,+e @)

15



(3)-hg (4)-hg Uhtinh, np inf{X} =—M, L htiinlwpwn

sup{—X} =—inf{ X} v
g)Mgnp XCcR,YCRUZ={z:z=x+y,xe X, ye )}
Uwwgmgti np sup Z =sup X +supY

A-GOpwnptGp X L Y pwqinpniGGbpp 4tplhg uwhdwGwithwy
pwquintpyntbbtip G0: LawGwytlGp M, -nd L M, -nd hwiwwwwwuluwGwpwn

X LY pwqunipjntGGtiph G2ghpwin YbiphG iqptipp” M, =sup X ; M, =supt
Cuwn G2qphwn ytiphh Ligph Gpyne pGnipwagphs hwuinynepynlGGtiph nuGtGp.
1) Vxe X, x<M,; VyeY, y<M,
Qnudwpbing Gnylwlwl wihwywuwpnipyntGGbpp” YniGEGwhp' Vxe X
L VyeY wbnh nGh x+y<M,+M, wGhwjwuwpnipjnilp, npntinhg hb-
wnbnd t, np Vze Z wbinh nGh z <M, + M, wihwjwuwpnipynilp: Ujniu
Unnudhg
2) Ve>0 I’ Ly x'e X; y' e Y wlwhuhl, np
’ £ ’ £
x>M,—-—, >M,——
175 Yy 275
Qnudwpbiiny Gney0wlwh wohwywuwpnepyntGlbpp” YunwbwGp
Ve>0, 3z=x"+y'e€ Z wlwhuhG, np z=x"+)'>M,+ M, -¢

1)-hg L 2-hg Yhtitnlh, np
supZ =sup X +supt \Y

4. UNPIULULNFB3UL UUIUULP UUIUULNUL,
GPUru22UOUYUL UGLULURULNHESNILL

Gpt JnLpwpwlynip 7 plwlwt pyhlt hwiwwwuwnwuluwGbgyws t npn-
2wyh x, phd, www YwubGp, np tipdwé t puwihG hwenpnwywbnipinth Yud

wwpquwuwbiu hwenpnwlywhnipynil: Iwenpnwlwbnipynilp G2whwlyned t {x,,}
Ywd wwpquwbiu x, uhdyniGhpny:

a phup Yngums t {x,} hwenpnwlywinipjwl uwhiwG, tpt Ve >0 pyh
hwiwp 3Jny(€) plwywhd phy w)Gwhuhl, np Vr2n, pdh hwiwp wbnh
x, —a| < € wihwywuwpnipyniGp
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Ve>0, In(e)e N, Vn,e N, n2ny(€) = |x,—al<e

Jwenpnwlwbnipywh pninp wlnwdbkpp Ywpbih t nhnwpyb) nputiu Y-
intiph pwqintpynil pywyhb nunnh dpw: Ghaw GnyG dlnd a phdp Ywpbih t nh-
wnwplyt| npwbiu pyw)hG ninnh Ytwn: Lwbh np (x, —a| < & wihwjwuwpnipynt-
Gp hwidwpdtip t a—-€<x, <a+¢ wlihwjwuwpnpjwlp, www uvwhiwbh
uwhdwGnuip Ywnpbith t dLwybpwbl wyuwbu® a Yenp Yngdnud t {x,} YbnwjhG
hweonpnwlywbnipjwl vwhdwG, tpt hGswhuhl £ |hGh a Ytwh (a—-€;a+¢€)
2ngwliwypp, qrynipynil niGh ny(€) pOwlwh phy wybwhuhG, np {x,} hwenp-
nwlywbnipywl wjb wlhnwibtpp, npnGg hwdwpGtpp (hGntpultipp) UGS GG Ywd
hwjwuwn n,(€)-hg (72 ny) qunGytit wyn 2powlw)pnd: Uy Yhipwy wuws™ a

phyp {x,,} hwynpnwywbmpjwlb uwhdwdb t, Gpb a Yhwnh qublywgwé pow-

Yw)phg nnipu upnn GG qunbGybi {x,,} hwenpnwywbnip)ntbhg wibkGwwwnp
ytpowynp pwlhwynipjwip wlnwadkp:
UwhiwGh uwhdwGnudhg hwnund £, np a phyp {x,,} hwonpnwywhnt-

pjwh uwhdwbp st, ipt qnynipynth nuGh gnGt dkYy g, >0 phy, np hGswhuhG £

thth m pGwywG phyp, YawnGdh »'>m pGwywG phy wjlwhuhG, np
|x, —a|2 €& Wy Ubipw wuws’ a Ybup {x,} UtwughG hwenpnwlwtnipjwl

uwhdwGp st, tpk qnynipynLh nGh a Ytinh qnlt dGY (a—¢€,;a+¢€,) 2npw-

Yw)p, nphg nnipu plYwé GO whytpe pwlwynipjwdp Ytwnbkp {x,,} hwenpnw-
YwGnupyniGhg:

orhpLULLEN

GGG ny hwenpnwlwlnipjwl vwhdwGh uwhdwbnudhg™ wwwgnighy,
nn
limx, =a:
2 —
w) x,,=2n2 1, a=2
n

x"—2|=;17, n=1;2;---: JipglikGp

A—ewlbh np x, =2--—]—, www
n
1
Ve >0 phyp: |x,, -2| < €& wihwywuwpnipynilp nbinh YnGblw, tpb — <€,
n

17



npp hwiwpdtip t n>1/ \/E wlhwywuwpnipywlp: Npwtiv () Ytipghtlp
yuwiwjwywl pGwywG phy, npp qbipwqubgnid L 1/ \/E pyhlG, ophGwly
n, (&) =[1/\/E:|+l, (npwtbin [x]-p x pyh wdpnng dwul t, wyuhlGpl w)b wik-
Gwité wdpnng phyp, npp sth qlipwqulgnud x pyhl): Un nbwpnud papnp
n 2 ny(€) phwlwh pytiph hwdwp wntinh YnOtGw

1 1 1
x"—2|=F37<8, (no>$)
0

wlhwywuwpnipynilp: Cuwn uwhdwbh uwhiwbdwb uw Gwawynd &, np
limx, =a v

n—reo

p) x"=%, a=0,npntin ce R, me N
n

A—-Rwbhnp |x,|= % , Wwujw l—j_l < £ wihwjwuwpnip)nibp hwiwpdtip
Un In

t n>(m) wlhwywuwnntpjwlp: ItGwnbwpwp, tpt npwtiu 7,(€) YtipgGtGp

£

ny(€) =|:(%) :|+1 phup, www pninp pOwywG pybiph hwiwp ntinh Ynubb-

Gw |x,, < & wihwywuwpnipyntbp: buly uw, punn uwhiwGdwG, GowGwynud t,

np limx, =0:
9) x, =q" (npntin |g|<1, a=0)
A-bpti ¢=0, wyw x, =0, n=1;2;--- L hitnbwpwp limx, =0: LGpw-

nnptiGp g #0: LywlGwykGp c=1/|q|: PwGh np |g|<1, wyw ¢ >1 L hbnbLw-

pwp c=1+a, npntin a>0: Oquytip RtnGnihh wGhwywuwpnipynibhg
(Yt 2-h n-G): Cuwn wyn whhwywuwpnipjwl’
1

lql"
dtipgGtiGp nplt £ >0 phy:

=c" =(1+a)" 21+na > na, htinnbwpwp |x,,| =

e
g Hgl'<—:
n-a

x,| < € wihwjwuwpnipjnilp nbinh YniGbGw
pninp wyb 7 pOwlwG pytiph hwiwp, npnGg hwiwnp Show t -—1—<£ whhw-
n-a

18



Jwuwpnipynilp Ywd np GnuyGG t, npnlp pwywpwpnud GG n >L wGhwyw-
a-€
uwpnLpjwlp:

Npwtu  ny(€) JtipghGp ny (€)= l:;lg—] +1= [/[I p Il—l )e] +1 phyp:

1
Lwlh np ny(€) >—£, www panp 72 n,(€) pytiph hwdwp wbnh YnGkGw
a.

gr<——<
n-a ny(€)-a

x,[=|q" < & wihwywuwpnipynilp: buly vw Gwlw-
yni t, np limx, =0: v
Uju ophGwyp |nétiGp vk w)| GnuGwyny:

A-Ruwth np |x,|=|g"

=q|", wyw quGbint hwiwp wyG pGwlwh »
pytipp, npnlGg hwdwp Ghawn t | g|'< € wihwywuwpnipyniGp, wyn wGhwyw-
uwpntpjwl tipynt Swutiph (nquphpdtiGp puwn 10 hhdph: UnLGEGwGp
n-lglglklge
PwGh np Ig|q <0, (0</¢q|<1), wyw Ytipp gpwé whhwywuwpnipynilp

hwdiwpdtip t n>llg£
g

wlhwywuwpnipjwlp: Npwtiu  n,(€) YtipgltGp

lge <0:
lglq|

n0=[ g ]+1 phup, tpt 25 >0 L n, =1, tipb
Iglq| Iglq]

n) x,,=<’fl;,(nnmbr| b>1,a=1)

A-Rwbh np b>1, wyw i’/l;>1, n=1;2;---: 3tnnLwpwp’ Gawlwybny
Ub-1=a,, n=1;2; ynGbGwlp @, >0 (n=1;2;-) L b=(1+a,)": Cun
RtnGnihp wOhwywuwpnipjwl b>1+n-,, n=1;2;--- npntinhg YnGb-

<'/I_>—I|<£

wlhwywuwpnipyntbp hwiwndtip t || <€ wihwwuwpnipjwlp: @, <€
wihwywuwpnipywp Ypwywpwpbl pnpnp wyb pGwlwh 7 pytpp, npnGg hw-

Gwlp’ O<a, <ﬂ, (n=1;2;---): dtpgltGp nplt £>0 phu:
n

Guwp Ghaun t b—_l < £ wihwyjwuwpnipynilp:
n

19



buy ytipp qpwé wGhwjwuwpnipjwlp Ghaw t painp 72 ny(€) phwywl

pytiph hwdiwnp, npuintin ny(€) = [%] +1:

tinbwpwp punn uwhiwGh uwhdwGiwh hmi'/l_J =1: \Y%
k) x, = in, a=1

A—RPwlh np (’/;>l, (n=12;--), wwyw Guwlwykiny {/;=1+a,,,
(n=1;2;---), ymObOwhp &, >0 L n=(1+¢,)", n=1;2;---

Oquybny UjnunnGh Gplwinwih pwlwdlhg (ntu Yk 2-h G)-G) ynbb-
fwbp’

n=l+n-a,+ al+---+

n(n-1)
2

Pwlh np BGwgwé pninp gnudwpbhGipp npwlwb GG, www ybpp gpywé

n(n-1)

hwywuwpnipjntbhg yhbinbh 7> af wOhwywuwpnipynibp: Lwbh np

n-1 >%, n=23;4;--- L Gjwwh nGEGwny, np yLippwynp pwhwynipjwdp wi-

nwiGbp nbG GGk nig hwenpnwywinipjwl uwhdwGp sh thnfuyh, Yhipebwlyw-
Gwwbu YnGLOwGp

n(n—l)az >"_2 2

n> - a,, n=3;4;--
2 4
wihwywuwnnipynilp: Npntinhg (hwayh weGking @, > 0) Yhtwnlh
2
O<a,<—
Jn

wlhwywuwpnpynGp: Uydd YLpglGp nput £ >0 phy:

2n —1| < & wlhwyw-

uwpnipyntip hwdwpdtip t Ia,,|=a,, <& wihwjwuwpnpywlp: buy o, <€
wihwywuwpnipjwlp YpwdwpwpbG pninp wyb 7 pGwlwh pytipp, npnGg hw-

2
dwp Shawin t T < & wihwywuwpnipyntGp Ywd np dhubGneyh t, npnGg hwdwp
n

4
Ghawn t n>€—2 wihwywuwnpnipynilp: IGwnbwpwp, tpt npwtiu n, () yYbpg-
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GhGp ny(€)= [: ]+4 www gwlywgwé n 2 n, li<e

wohwywuwpnipynilp: buy uw Gawbwynid t, np limi’/; =1: \Y%

Q) x"=log,,n' b>1,a=0
n

A —JdtipgGkGp nput £€>0 phy: RwGh np 5>1, wwyw b° >1: LawlGw-
ytGp b° =140, npinbin 6 >0:

NLGkGp li_’rgi'/;z':l: 3twnbwpwp Ybpp Gaqwé 6 >0 pyh hwidwp gqnjni-
pintG niGh n;(6) phwywG phy wylwhuhG, np pninp 7 > n(8”) phwlwG pyt-

ph hwdwp wbnh nbh 1< Yn<1+8=b° wlhwywuwpnipyniGp:
Lnquphpdbiny puwn b >1 hhdph ybipp qpwé wGhwywuwpnipynibp YniGh-

GwGp 0<l g, " <&, htiGg np n 2 n; () =n,(b* —1) = n,(€): bul uw Grwlw-
n
ynud t, np 11ml B 7 . \%
n—oo n

Uwwgnigby, np Gdwé a phdp wpdwé {x,} hwenppwlwGnipwG
uwhdwGp st:
b x"=3n-l' a=i
4n+1 5

A-8nyg wwip, np gnnpintG nGh €,>0 phd wyGwhuhG, np

X, —% 2 g, wihwywuwpnipyniGp Shawn t wOytipe pwlwynipjwip 7 plw-
Ywa pytiph hwiwp: nLGbﬁp
4| _|3n-1_4| |15n=5-16n-4|_ n+9
x,——|= n=1;2;--.
S| |4n+1 5| | S@n+1) | 5(4n+l)

QunGkGp dh nput €>0 phy, nph hwdwp

nt 2 £ wlhwyjwuwpnt-
5(4n+1)
+
pJnLGG nLGh wlphy pwqdnupjwip nudnmiGbip: —n—g—Ze wohwywuwpnt-
5(4n+1)
pintbp hwiwndtip t (1-20€)n 2 5¢ —9 whhwywuwnnipjwip:
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Npwtiuqh Ybpp qpywé wihwjwuwpnipjwlp pwywpwpbt wiytpe pw-
Gwynipjwip n pOwlwi pytip, pwdwywh b wwhwbgky, np n-h qnpéwlyhgp’
(1-20¢) -p thGh npwlywG’ 1-20£ >0 , npintinhg htitninud &, np 0 < £ <1/20:

Wuwhuny, tipti npwtiu £, >0 phy UtipglkGp 1/20 -hg thnpp gwllwgwsé npw-

Ywh phyd, www YnGbGwhp, np

X, —% 2 €, wihwjwuwpnipyniGp Ghawn t

wiphy pwquinpjwip 7 pGwlwG pytiph hwiwp: Ianbwpwp 4/5-p sh Ywpnn
3n-1

X, —4—1, n=1;2;--- hwonpnwlwlnipjwl uvwhdwbp (hGti;: Lwwnbtbp, np
n+
1/20 phyp 3/4 L 4/5 LLwnbiph Ghol bnwé htinwynpnipynGa t: v
5n* +20n+3 6
n) X, =——, a=—

6n’ +1 7

A = 3nipwpwlbsynip 7 powywh pyh hwiwp YuquikGp
N _a|_|5n2+20n+3_§_ _ |35 +140n+21-36n* 6| _
" | en*+1 7| | 7(6n* +1) |

—n* +140n+15| _n*—140n-15
76n+1) | 7(6n* +1)
Ywwwpbiny Yynwnpwybbph unynpwywlb pwdwbnld, YunwlwGp

14On+2
6

,  bpp n2141

n’ —140n-15 _ 1
7(6n*+1) 42 42’ +7

91

140n+=" 140n+20n 4

4 1
L pwGh n < =—, wwuw btpk ophlwly — <—, www
BN T < aom W Bt onhliuwly < 27wy

X, ——=>—=-—

"7 278 8

6| 1 1 1
UuhlGpG n>336 nbwpend {x,} hwonpnulywGnipywlb winwiGbpp

6 1 6
quGyntd kG 5 puh &, =2 2newlwyphg nnupu: Ntuwnh 5 phup {x,} hwgnp-

nwlwGnLpjwl uwhdwap st: \Y
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5. ULUGIrR UGS UNPIULULNFE3NL

{x,} hwonpnwywGnipjnilp Ynsunuis t whytipg SES hwenpnwlwhnipniG
Ywd whytipe dko, tpti Ywiwywywh E >0 pyh hwiwp gnjnipyniG nibh n,
pOwywl phy w)Gwhupl, np |x,,| >E pninp n pGwlwG pytiph hwdwp, npnGp
pwdwpwpntd GG 7 2 ny whhwyjwuwpnipjwGp:

VE>0,3ne N,Vne N,n2n,=

Uju thwuwnh uhdynihy qpbiwdéla t lLrEx" =oco:

>E

x”

Gpti {x,,} hwonpnwywbnipnitGp whybtipe vké t L ujuwdé hGs np hwidwphg
hwenpnwlwnipjwl wlnwilGbpp wwhwwind GG npnawyh Gowl (+ Ywd
-), www GwGhl hwiwwwwwutuwG wunid GG, np {x,} hwenpnwlywGni-
pINLGG nbh +oo Ywld —eo uwhidwlp L gpnud 60 wjuwbiu® limx, = +eo Ywd

limx, =—oo:

n—yo0

orkLULLEPR

Uwwgnigtiy, np x, hwenpnwlwbnip)niGp whytpp dté hwenpnwjyw-
Gripyne k:

w) x, =4n—7s/;, n=12;.-.

A -NubbLGp =|4n—7\/;| =4n-7n, tpp n=>4: dbtpgGtGp, nplt

E>0 phd L gnyg wnwaGp, np gnynipyntl niGh ny(E) pGwywG phy w)Guh-
uhG, np pninp n2n,(E) pybiph hwiwp Shawn t |x,|> E wGhwwuwnpnt-
p)nL0p:

Lwbh np 7\/;<3n,bnp n26,wyw |x |>4n-3n=n, n26:

Npwbu 7, (E) pGwlywa phy YtpgGklp n,(E) = max[6;[E]+1]: Un nbiw-
pnud pninp n2n,(E) pGwlwh pytiph hwiwp Ghaw t |x,, > F wihwjwuw-

xn

xﬂ

pnepynilp: LawGwynd t x, hwenpnwlwinipyniGo whybpg dt6 hwonpnwlyw-
GnipyniG t: \Y

o) x _4"+3
n 3;,

, n=1;2;"°
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A —NMuGkGp x,,=(§) +1 n=12;--- pun RLnGnhh wihwywuwnpnt-

pjwb (%) =(1+%) >§: dbtipglGhlp nput £ >0 phy L (notGp §->E wa-

hwywuwpnipjnilp: et npwtiu 7,(E) phy UtipgGtip n,(E)=[3E]+1 phup,
www pnnp 72 pGwlwG pytiph hwéwp, npnGp pwdwpwpnid GG 72y (E) w-
hwywuwpnipjwlp, wntinh nGh

|xn|=(i) +1>(i) >£2'1°(E)>§£=E
3 3 3

wOhwywuwpnipynilp: Lpwlwynd t x, hwenpnwywlnipynibp whybpg dLé

hwonpnuywbnipyniG L: \%

6. ULYGNR ONLN IUMNNILULNFRINIL

{x,} hwenpnwlwbnipnilp Ynsynud t whyting thnpp hwenpwywlnipyniG
Ywd wwpquwbu waybpe thnpp, tipt Gpw uwhiwbp hwdwuwn t 0-h: Npwtiugh
{x,} hwenpnwlwGnipjnilp nGbGw a Ytpgwynp uwhdwbp, wihpwdbaw t L

pwywpwp, np {x,, —a} hwonpnwywGnipjntGp thGh whytpg thnpp hwenpnwljw-
GnupyniG:
tpb {x,,} hwonpnwlwGnipyntbp whdbipg thnpp t L x, 20 (n=1;2;--),

1
wiwjw {—} hwonpnwywbnipyntlp whybpg 666 L:
X

n

tpb {x,,} hwenpnwywhnipyntlbp waytipg 666 £, www uhuws hGs-np n, hw-

1
dwphg hdwuwn nbh {x_} hwenpnwywbnepynibp, npp YihGh wGybpe thnpp

hwenpnwywGnipntG:

dbpowynp pyny whytipe thnpp hwenpnwlwGnipynilGGtiph hwGpwhwyw-
Yw@ qnudwpp whytpe thnpp hwenpnwywbnipynib t:

uGytipe thnpp hwenpnwywbnipjwl L uwhiwbwhwy hwenpnwlwinupywa
wpuwnpjwp waytpe thnpp hwonpnwlywbnepynih t:

dtpowinp pyny whytipe thnpp hwonpnwywbnipntGlGbph wpunwnpywip wi-
ytipe thnpp hwenpnwywbnipyniG t:
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7. UU3UuuLUoUuy 64 N2 vu3vULUDUY
UKANCIULULNFPINILLEN

{x,,} hwenpnwlywlmpntbp Ynsynud £ ytiplhg (Ghpplhg) uwhiwbwihwy,
tpt qnyupymG nGh M phy (m phd) wjlwhuhG, np x, <M; n=12;--
(x,2m,n=1,2;--+):

{x,,} hwonpnwlwbntpnilp Ynsynid £ uwhdwlwihwy, tpt w)l uwhiwbw-
thwy £ L dtiplhg, U Ghpplhg, wyuhGplG' qnynipyntl nGhG m L M pybip w)Guh-
uhG, np m<x, <M, n=1;2;---, Ywd np GnjG t, tpk qnynLpynth ntbh 4 >0
phy wjGwhuhG, np |x,,| <A, n=12;-

UwhdwGnishg htwbnwd £, np {x,} hwenpnwywGnipyniGp YhGh Ytinlhg
(Gtpplhg) ng uwhiwbwihwy, tpt gwiywgws E >0 pyh hwiwp qnynipynth ni-
Gh qnlib dbY 7, pGwlwG phy wyGwhuht, np x, > E (x, <-E):

Swonpnwlywbnip)ntlp Ynsyntd t ny uwhdwbwihwy, tpb wyl Ywd ytiplhg,
Ywad Gepplhg, Ywd shwdwdwbwy U Ytpluhg, L Gepplhg uwhiwbwhwy sk:

Swdwnpbipny waytipe dké hwenpnwlywbnipyjwl L ng uwhdwbwthwly hwenp-
nwlywbnipjwl uwhdwbnibGtpp” Yuunwlwhp

bpti {x,} hwenpnwlwlnipnilp whyting 066 t, www wG ns uwhiwbw-

thw| t: Iwywnwyp pnhwipwwbu wuwd Ghown st:
Jweonpnwywbnipjwl winwdGtph wpdtipltphg Ywqidwd pywjhb pwqdnt-
pjwl ytphG L unnphG 62qphwn Ligpbipp Ynsynud GG wyn hwenpnwywbnipjwh yb-

nhG L unnphG Sqnhwn bigpbip L GawGwyumd sup{x,} b inf{x,} uhdynGtipny:
orbLULLEP

6166 nY uwhdwGh vwhiwbGndhg' wwwgnighi, np {x,,} hwonpnwlw-
GrpyniGp whybpg thnpp hwenpnwlwGnipym t:

w) x, = 5-‘/; , n=12;--
n
A - Oquytiny dnnniih hwmhmpjmﬁhg uumwﬂwﬁp
| n | | J’ I J’ “Jn

JdtipgGkGp nput £ >0 phy L |nuotilp (6/ \/;) < £ wihwywuwpnipynilp’
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i <eESVn> E eon> ég: Npwtu ytipgltiGp n,(¢) Ytpgltlp
£

Jn £

no(£)=[z—?]+1: Uuwhuny 72 n,(€) wwydwlhg Yhtwbh |x, —0|=|x,| <€
wihwywuwpnipyntlp: LawGwynid t li_r)gxn =0: \Y%
0 x"=4sin3n+p5¢0s7n2 | (=12, p>0)
A —-NGkGp "
. 2 . 2
xn_0|=i4sm3n-;p50087n 0 S4|s::,1,3n|+5|c<:1sp7n |S:—,,

(pwGh np Vne N |sin3n|<1 L |cos7n2|s1):

dbpghtibp nplt £ >0 phy L |nL6tGp (9/ nf) < £ wihwywuwpnipymbp’
1

9 .9 (9);
—<eon>on>| =
n? £ £

1
Npwbu  n,(¢) Ybpglblp™  ny (€)= (%),, +1  phdp:  n2n,(€)

wwjydwGhg YhGwnlh |x, —0|<£ wehwjwuwpnepyntlp:  LwlGwymd

limx,=0: V

a) x,,=“—', n=1,2;-, |al>1, ae R
n

A - Lwlwykbp m - nd wyb wikGwihnpp pGwlywh phyp, npp qtipwqwi-

gnudt |a|-ht L g-ng’ g=—21

phyp: QGwhwuwnbkGp
m+1

x,|-0, ipp n>m

o<l <|@]-lal lel _lal lal _jal laF" (lal " _eneir
n! 1 2 m m+l n m! \m+1 m!
n>m, pwlh np m-p $hpuwé t, huy 0<g<1, wyw Ve>0 pyh hwiwp
annipynilniGh n;(€) hwidwp wjGuhuhG, np (lt'q—q" <€, n2ny(e):
m!
bnkwpwn 0<|x,| <&, n>max{m;n;(€)} =n,(e):
hul uw GawGwymd t, np limx, =0: \Y
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ytpgltiGp

| =|x.|<€

\%

wpynLbp’

n2ny(€)

Jwynud L

qtipwqul-
m
m+1)"

m!
yh hwdwp

n2ny(€):

k
n x, ='2'—", n=12;---, ke N

A — Oquytiiny LynuinnGh tpYwGnwih pwlwdlhg Ywpnn GGp qpti.
"=(1+1y=>.C,
i=0

npunbinhg Uhtinkh 2" >C*' (n>k+1) wlhwjwuwpnipynlp: Ujdd gnug
wnwip, np guwlywgwé ke N pyh hwiwn, gnynipynil niGh 7, (k) pGwywG phy
L B(k)>0 phy wylwhuhG, np C¥*' > B(k)-n**', n2ny(k): bpnp’
n(n—l)(n—2)--~(n—k)> n*

CIH-I — n
" (k+1)! 2% (k+1)!

Pninp wyl n-Gph hwdwp, npnGp pwywpwpnd 66 n—k >g Ywd np
GnyGh t n>2k  wlGhwywuwpnipjwilp:  LawGwytind  ny(k)=2k L

B(k) = yniGGwGp C:*' > B(k)-n**', n=n,(k) wwhwGeybihp

1
2° - (k+1)!
wihwywuwpnipynilp: Oquiybiiny wju wihwywuwpnipyniGhg, YntGEGwGp
n n n* 1 1
O0< << r7o i T
2" C, B(k)-n B(k) n

n2n,(k)

Nhgnip €>0 nput phy Lt LmébGp n-h Glwwndwdp 11
B(k) n

}H phyp:

whhwywuwpnipynilp: Npwbtiv n(€) JtipgltiGp n (€)=
B(k)-€

n* 1 1
n2max{n,(k),n(€); =N, dwahg Yht 0<—<—— —< ¢ wlhw-
{mo(k),m,(€)} = Ny wunduling Uhtunth 0< = By <& Wi

JwuwnnipyntGp: bul uw Gawbwynid t, np limx, =0: \%

OphGwlGbp vwhdwGwhwl U n§ vwhdwGuwhwly
hwpnppwlwlmpymGGph JEpwpbpjuy

G166 Ny hwonpnuwlwGnipjwl vwhiwGwhwynipjwld vwhdwbGniihg
wwwgnighy {x,} hwenpnwlwnipjws uwhiwGwihwynipjniGp:

Ujuwhuh puGnhpGbp (nuékilhu LipptidG YoqundtiGp htinbyw) thwuwnhg' %

Ynuinpwlp, npintbin a-G L & -G npwlwa pytip kG, YokdwGw (Yhnppwlw), tipk
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w) a-0 vkowghOtGp (thnppwgllGp)’ b -G pnnltiny whthnihnfu:

p) a-G pnnGLiny whhnihntu® b -G thnppwgltiGp (ULGwghtiGp):

q) Ghwdwiwlwy a-0 dtéwglklp (thnppwglklp), b-G thnppwgltilp
(JG6wqglkGp):

w) x, = 9-n'+5 n=1:2:..
" (3n =2n})8n’ =3n") T

A - ULjwuwnbGp, np pninp plwlwG pdtiph hwiwp x, >0: GGwhwnbOp

Jnupwpwlggnip 7-h hwdwp x, - p Ytipkhg: OquytiGp Ytipp G24wéd thwuwnh q)
nbwphg” wwhwwbiny »- h wiklwpwpdp wunhSwbGGtph Ywpqtipp:

9on+s . 9mt+s  _14dt 14

X, =723 2 5 Ay = a3 3 5 Sy 3 e.5 nxl
(Bn’-2n°)8n’ -3n") (@Bn -2n)8n’ -3n’) n 5w S

Unnwgylig® 0< x, s%, n=1;2;-

bul uw Gawlwynis t, np {x,} hwenpnwywnipniGp vwhdwGuwihwy hw-
onpnwlwhnipynib t: \Y%
p) x, =(s/n‘ +3n—n' —n)-n, n=12;-

A —-ULjwwntibp, np pninp x, -tipp npwlw GG (x,, >0): Snipwpwlbgynip n
pOwywh pyh hwiwp x,- p qOwhwintilp Ybiplhg: PwqiwwwwnykGp b pwdw-
GLGp hwlwqoéh kg nwéd wpuwhwjnnipywb (6npnny: Yunwlwhp

_(n*+3n-n*+n)n _ 4n’ an’

7 (\/n4+3n +\/n‘—n) B (\/n“ +3n +\/n‘—n) © Jn*

=4' n:l;z;...

bwnbwpwp 0<x, <4, n=1;2;-- {x,} hwenpnwlwinipnilp uwhsw-
Gwihwly t: \Y

5n+|+6n
Q) x, =W'

A-Lwh x, >0, n=1,2;---
Ujniu Ynnihg

n:];z;...

6™ +6" 7-6" 7
x'l< n+2 n+l = n =30
6" -6 5-6-6" 30
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7
3bwnbwpwp 0< x, s%. n=1;2;---: buly uw Guubwyns t, np {x,} hw-

onpnwlwantpjnibp uwhdwbwdhwy t: \Y

u 1
N % = ,,z,: (@k—3)(dk+1)
A—-Pwlhnp (4k+1)—-(4k-3)=4, k=1;2;---, wyw’

1 _1( 11 ) k=120
(4k=3)4k+1) 4\ 4k-3 4k+1)’ o

Oquytiiny Ytipp qpywé GneyGnipynilhg’ Yuunwbwhp

= 1 1 1 1 1 1
X = - — — —_— —
TS (4k-3)4k+1) 4 k=,(4k—3 4k+1) 4( 4n+1)

(Oquytighp 2 Ytwh hwiwwwwnwubuwG pwGwdlhg, npunbin

1
b=——, k=12;---):
Y 4k-3 )

Uunwgywé wpnwhwynnipynilhg hinbnud £, np 0< x, < % n=1;2;--:

{x,} hwenpnwlwGnipyniGp uwhswGwhuwy t: v
Uwwgnighy, np {x,} hwenpnwlwGnipjniGp uwhiwGwihwy sk, uw-
Yuw)0 wGytpp VLS st:
2
A —Luwtu gniyg nwlp, np hwenpnwlwbnipynilp Ybplhg uwhdwGuhwly st:
Ohgnip £ >0 gwlywgwéd npwywl phy t: », pOwywh phdp ytpgltiGp
1+(=D)™
2
uw Gwlwynud t, np {x,,}-n ytipthg uwhiwbwhwy st: Ujdd gniyg nnwlp, np

n=1;2;-

w)lpwh 066, np 2n, > E: Un nbiwypnid x,, = 2ny=2n,>E: buy

{x,,} - p whybpe uk6 sk: Ypw hwiwp pwywywa t gnyg wwy, np gnynepnth ne-
Gh E; >0 npwlwh phy wjlwhuhb, np hGswhuhG t thGh 7, pGwywG phyp,
Shaw Yunbith £ quGty 7’ pGwlwG phy wyGwhuhG, np n’>ny b |x)| < E,: Np-
wbu E, >0 phy ytipgGliGp £, =1 phup: thgnip 7, -0 juiwjwywl pGwywG phy
t Mpwtu »” pGuywG phy YbpgltGp ny- hG qbipwquignn Ywiwjwywl YtGun
pOwlwh phy (n” > n, L n' =2k -1), wyu nbwpnLd’
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,—

n

HED 0. =0<1

IGwnLwpwp {x,,} hwonpnwlwGnipjntlp whytipg GLo st: \Y%

B x, =02, n=l2e

A — 3wpnpnwlwbnipyntGp Ybpbhg uwhdwGwihwy st: bpnp, nhgnip E -G
nplt npwywG phy t: k& pOwywG phup YtipgGlilp wybpwh 066, np 4k +1> E: Upn
k -h hwiwp’ ymOtGwhp

sin£(4k+l)

X = @+ = @k +1)™? =4k +1> E

{x,} hwenpnwywGnipjnilp whyting Sk6 st:

Npwbiu E, >0 phy ytipgliGp E, =2 phup: hGswhuhG ty (hGh r, pGwywh
phup npwtiu #” YtinglGtiGp 7, -hG qlipwquiGgnn nplt 7’ =2k qnuq phu:

Wnwhuh #’-h hwiwp

sinZ2

¥ =207 = k)™ = (2k) =1<2 v
o) x = n+2

/4
-cos—n, n=12;---
4

A — 3wenpnwlywbnipynibp Ytplhg uwhdwGwihwy st:

Ppnp: Yhgnip E; >0 nplt npwlyw phy t: £ pGwlwG phyp plupblp w)G-
pwa uté, np 4k > E : Ujnwhuh & - h hwdwp'
(4k)’ +2 osZ 4kl = (4k)* +2 1

cos—4k =4k+—>4k>E
4k 4 4k 2k

|x4k| =

wenpnuwilywbnipyntlp waytipe oti6 st: Npwtu E, >0 phy YtipglliGp £, =1
phup: Un nbiwpnid hGswhuhG ty (hGh n, pGwywG phdp qnynipyntl niGh
n =8k +2 wbuph phwlwa phy, npp qtipwquilGgnid t r,-hG L
(8k+2)*+2 .
8k

|x8k+2

cos(Zﬂk+%)'=0<l \%

n) Yhgnip {x, }-p vwhiwGwihwy hwenprulywnipynid t, huy {y,}-p
whybpp dtd: 8niyg wwy, np {x,, + y"} hwonpnuwlwGnipinid waytpp dtd
hwonpnwlwbnpyniG t:
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A—2wGh np {x,}- p uwhdwGuihwl t, www gqnyntpyntG nGh ¢ >0 phy

wjGwhuhG, np <c,n=12; -

Jdbipgltlp nplt £ >0 phy: E+c pyh hwiwn gnnupymil niGh ny(E) pGw-
bwG phy w)GwhuhG, nn |y,

Oquybiny |a+b| 2|a| —|b| , (a,be R) wlhwywuwpnipyniGhg qlwhuw-
wnbGp {y" +xn}-n:

nuakap’
A +x,,| 2

x"

>E+c, n>ny:

2lyl=c2FE+c—-c=E

Yol =%,

Vn
3twnlwpwp {y,, +x,,}-n whOytipg dt& hwonpnwywbnipynih t:

8. UGrAUYNN UUIUULP 9N3NHA3UL IUSSULPTLEP

w) bpt x, <y, <z, ne N Ltpt {x,} n {z,} hwenpnwywanLpjn.GGt-

pp nGG0 GhlGnylG @ uwhdwGp, www {y,,} hwonpnwlwbnipyniGp YnGEGw
uwhiwb L wyn vwhiwlp hwywuwp YhGh a-hG (Gpkip hweonpnwlwGnipniG-
Gtph Ytpwpbinjw) pinpbidp):

p) {x,,} hwonpnwlwbnipyntlGp Ynsynid t wénn (sGdwqnn, Gduwgnn,
swénn), bGpt x, <x,<--<x,<--, ne N L (hwiwywunwuuwlwpwn
X SX, S SX, Seee, Xy DX, D> DX, D, X 2X, 202X, 2000 )

26ywqnn Ywd swénn hwenpnwlwbnipyntbGtiphG whjwnid GG GnGnunG
hwonpnwywbnipyniGGlp: tpb hwenpnwywbnipynilp sGwqnn hwd swénn
hwenpnwlwGnpyniG £ hGs np 1y (n=n, >1) hwdwphg ujuwd, wwyw wyn-

whuh hwenpnwlwbnipjwlp waywhnud GG h ytipen sGdwann, h 4tipgn swénn
hwonpnwlwbnipynih: Ljwwnbkbp, np gwGywgwd GnGnuinG hwenpnwlwbnt-
pinth Gkl Ynnihg uwhdwbunhwy t: Gpb hwenpnwlwbnpynibp sGdwagnn t,
www wjb GGpplhg uwhiwbwihwy bt wewehl wlnwiny x, <x,, n=1;2;---:
Epbi hwonpnwlwGnipyniGp swdnn t, www w)b Yyiplhg uwhiwbwdgwy t wew-
ohl whnwdny x, 2 x,, n=1;2;--:

UnGnuinG L uwhdwGwihwy hwenpnwlwbnipyniGa mGh Jbppwynp uwh-
dwa: CGn npnud, bpt {x,} hwenpnwlwGnipynilp sGdwqnn t L Ybipkhg uwh-

dwlwihwy, www Gpw uwhiwlp hwjwuwp t {x,} hwenpnwywGnip)wG
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62qnhwn UtiphG biqphG: LnyG dund, tipt {x,} hwenpnwlwGnipyntlp swenn t L

Gbpplhg uwhiwGwihwy, www Gpw vwhiwlp hwdwuwp t {x,} hwenpnw-

YwGnupjwh 62qphwn unnphb gphG:
bpti hwonpnwywbnip)nibp sGwqnn (swénn) t L Yyiplhg (Ghipplhg) uwh-
dwlwigwy st, wwyw w)l dquinud £ +oo-h (—co -h):

orrLULLEP

w) Yhgnp x, 2-1, n=1;,2;--- b limx, =0:

Uwwgnighi, np gwllwgwé £ pGwlwh pyh hwiwp lim 4‘/1 +x, =1:
A - Ghpwnpblp £ -G nplt pGwlwa phy t: Lwhu wwwgneghlp, np’

1-|x,| <4f1+x, <14]x, |, n=12;- (1)
bPpnp, tipti x, 20, www

x’l

1syfTvx, <(4fivx,) stex, =1+

huy bpt —1<x, <0, www 0<1+x, <1 L hwnLkwpwp

x'l

k
1241+x, 2(41+x,) =1+x, =1-|x,|

UjGwbu np (1)-p Ghow t gwlilwgwé n pGwlwh pyh hwdwp: Oquybiiny
Gptip hwenpnwwbnipyniGGtph Ytpwpbpjwy ptinptidhg L hwyyh webbind,
nn lim(1—|x,,|) =lim(1+ x,,|) =1, hunwlwlp lim 41+|x,| =1: \

) Uywgnighy, np

x = 1 + ! +-4 1

oI+l Jnr+2 Jntn
hwonpnwlwbGnpynitip qniquidbn k b qunGh| Gpw uwhdwGp:

A — Pwh np gnuiwpbithGepp Gwqnid GG

n n Lo n
- < - ;ISj<Sn | wyw <X, <—F7——
\/n +j  n+i n’+n n* +1

Ywd np GnuyGa L, ——1——<x < !

1 n 1 , n=1;2;"'
,/1+— 1+—
n n

(x,,-ﬁ wpnwhwjinnipjwG dke pninp qnudwnbithGpp  thnfuwphGbghGp
wibkOwhnppny L wikGwikény):
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Oquytiiny OGwfunpn fuGnphg L Gptip hwenpnwywGnip)ntGGeph Ybpwptbp-
jwi ptinptidhg, Yuunwlwbp, np {x,,} hwonpnwlwbnipyntlp qniquiibnn £ L
Gpw uwhdwGp 1 phyG t: !1_1"2 x, =1 \Y%

q) Oquytinyd dnGnuinG hwenpnwlwlnipjwG qniquihnnipjub yt-
pwptpjwy ptinpbdhg wwwgnigky {x,} hwenpnwlwbnipjwb qniquish-
wnnLp)niGp.

w) x, = 4n-5 '

6n-17
A-CGnhwlpwwbu nplt {x,} hwenpnwlwlnipjwG dnGninGnipjwG

n:];z;...

pOnypp wwpqbiint hwiwp nhunnwpynud GG Ywd hwenpn L Gwiunpn wlnwdGb-
ph* x ., —x,, n=1;2;--- nnwppbipnipjnilp Yuwd, tiph OGwhuiwwbu hwpinGh £, np

x, >0, n=1;2;--- hwenpn L Gwhunpn wlnwdGtph LI n=1,2;--- hwpw-
x

n

pbpnipynilp: Gpb x,,,—x, >0, n=2n, wyw {x,,} hwonpnwlwbnipjnitGp h
ytipgn wann t 1, hwiwphg uluwé, tipt x,,, —x, <0, n2n, , wyw {x,} hw-
onpnwywGnip)ntbp h Jtipgn Gdwqnn t n, hwiwphg uyuwéo:

bpb Xl 51, p >n,, wwyw {x,} hwenpnwywbnipjniGp h ytipgn wsnn t
x

n

uyuwd n, hwiwnphg, tipt ﬂ<l, n2n,, wwyw {x,,} hwonpnwlwbnipyntlp
h ytipgn Gwqnn t uuwd n, hwiwphg:
Lnu6tiGp wytith pGnhwGnep fuGnhp:
_an+b

Spwéd t x, = L n=1;2;--- hwonpnwywbnipjnilp: Uwwgnigbi, np
cn+

tpb

w) ad —bc >0 www {x,} hwonpnwlwanipyntlp h Ytipen wenn t ujuws
hGs-np n, hwiwphg:

p) ad-bc<0 www {xn} hwonpnwlywGnipjnitbp h Ytipen Gwaqnn t
ujuwé n, hwiwphg:

A - Y%huwwpytiGp x,,, —x,, n=1;2;--- nwpptipnipjnibp:
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. _(an+b)+a an+b _ ad—-bc _ ad -bc
(cn+d)+c cn+d ((cn+d)+c)cen+d) cz(n-l-ﬂ)(rﬂg)
c c

n+l

LwhGh np hwjnnwpwpp #-h Guwdwdp pwerwyniuh Grwlnwd t, nph
wywg whnwsh qnpéwlhgp’ ¢* >0, www 066 wpdwwnhg GG paynp 7 plw-
Ywa pytiph hwdwp hwyrwpwpp npwywa t: IGnbwpwp Ynunnpwlyp npwlywb
YihGh, tpb tnbnh nLbGh w)-G L YhGh pwgwuwlw, tipt wtnh nuGh p)-G: Npwtiu
n, hwiwp Ywpnn GGp Ytpgllip 6té wpdwwnhl qtipwqubgnn wrwhl phw-
Yuwa phyp:

dbpwnwnGuwiny dtp uyqpOwywi ophGwyhG’ nGkGp a=4, b=-5, ¢ =6,
d=-7, ad-bc=-28+30=2>0: 3twbwpwp obp hwonpnuwlwbnipinilp
wann t ujuwé r, =2 hwiwphg' ((6(n+1)—7)(6n—7) tinwlnuwih dté wpdwwnp
7/6 phyGt):

x,<x,,, n=2;3;---:Upnwu Ynndhg x, >0, n=1;2;--- L

=—, 0<x <g—, n=2;3;.-

Swonpnwlwbnepynibp h ytipen wénn t L ytiplhg uwhdwbwihwly: IGnbw-
pwp pun UnGnunh hwonpnwlwbnipjwl qniquihunnipjwl Ytipwptipjwy pbin-

pbuh w)b YhGh qniquidbn: \%
p) x, = LR O n=1,2;
"6+ 67420 643 6 +n* 7
A—-MOkGp x,,, =x, ! =1;2;--

t
6™ +(n+1)’

Lwlh np >0, n=12;--, wwyw x,-p wénn t: Uynwu Ynndhg

1
6™ +(n+1)

"6 6 6 6" 1_1 5 6"

6

twbwpwn x,-p Ytipthg uwhdwGwhwy t, pun nGnuinG hwenpnwlw-
Gnipjwl qniquidhwnupywl Ybpwpbipjwy pinpbish x,-p qniquitnn hwenpnw-
YwhnipyniG t: \Y

1
Q) x"=l+?+3l2+---+%, n=12;-

l(l_L)
bd <l+-1_+i+...+i=£—6_=l(l_i)<%' n:l;z;...
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A—-MmOtbp x,,, =x, +;2, n=1;2;...
(n+1)

1
Pwbh np —— ” ——>0, n=12;---, wyw x, hwenpnwlwbnip)nilp wenn

+1)?
t: 8niyg twlp, np {x,,}-n ytipuhg uwhdwGwihwl t:
1 1 1
Oquytilp —=——=< , n=2;3;---  wlihwjwuwpnipyniGhg’
n° nn (n-Dn
qOwhwuwnbGp
X, <]+L+ 1 + 4 1 =]+(1_l)+(l_l)+...+ 1 _l =
1.2 2.3 (n=1n 2 2 3 (n-1) n
=2—l<2. n=1;2;..
n
Unnwgytig {x,}-p wsnn L Ytiplhg uwhiwlwihwly hwenprwlwinupndG t,
hGwnLwpwp w)b gniquidtiun t: \Y%
n) x =L+_1_+...+l' n=1;2;...
n+l n+2 2n
A —MwpqtiGp {xn} hwonpnwlwbnupjwl dnGnuinnGnipywG plnypp’
X,0—X, = I + ! - I = 1 - 1 >0, n=12;---

2n+1 2n+2 n+l 2n+l1 2n+2
{x,,}-n wdnn t: Uynwu Ynndhg pwih np x, -h wpinnwhwjnnipjwb dkig qni-

dwnbhGtpp Gywqnn 60, www x, < % <1, n=12;---
n

Jtntuwpwn {x, } -p qniquistivn hwonpwlwGnipynt( t: v
b) x"'—- 8 , n= ;2;.
(2n+1)!
A- ﬂlﬁhﬁp X,, 8 X, 4 X, =1;2;---
(2n +2)(2n+ 3) (n +1)(2n+3)
4
L >0, :1,2,' G "’]= <l' n=1,2,
g " nunknhg - (n+D)(2n+3)

{x,,}-n Guwqnn L GEpplhg uwhiwlGwthwly hwenpnwlwGnipyniG t, hinb-
wpwn wjG gniquibun t: b Shohwjng wyu ophGwlnid Ywpnn tLhp quibk w)h
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phyp, nphG qniqudhwnind t {x,,}-n: bppnp Gpwlwykbp limx, =a L thnpdtilp

4
———————————————— x
(n+1)(2n+3)
oqunytiiny hwiwwwwnwutuwh pinptidGhphg: UniGtiGwhp

waglbbp uwhiwGh x,,, = wOnpwnwpé  pwlwdlniy’

limx,,, =lim

——limx,
noe T e (R 1)(2n 4 3) o
Npuntinhg Yhtitnbh a=0-a =0, htivbwpwp limx, =0: \Y

9. Uuuuvuykr vu3UUL

Ohgnip wnpdwé L {x,,} hwonpnwiwbnipynp L pOwlwh pybphg
Ywqijwd {k,,} woénn hwenpnwlywbnipyncbp: {xkn} hwenpnwlywbnipynilp
Ynsynud t {x,,} hwonpnwlywbnipjwl GGpwhwenpnwlwGnipyniG:

a phup Yngdmis t {x,} hwenpnwiwinipjwl Gwubwyh uwhiwG, bpb
gnynipynti nGh wyn  hwenpnwywinipyjwl {xk"} GGpwhwenpnwlywbnipynih,
npp qniqudihuninid £ a-hG: +oo-p (—eo)-p Yngyned k {xn} hwonpnwlwbnipjwh
dwulwyh uwhiwh, Gpti qnynipyntl nLbh {x,,} hwonpnwlwbnipyjwb {xk"}
GOpwhwenpnwywbnepyntl, npl nibh +eo (—o0) uwhdw:

w) Pnjgwln—dwybpynpwuup pbinptidp
Swiywgwd uwhdiwlGwihwy hwenpnwlywbnipyntlh nubh qnGt dbY Jwubw-
yh uwhdwb, pGn npnud, bpt dwulGwyh vwhdwlp Ghwyo t, www wyb YhGh

{x,} hwonpnwlwGnipjws uwhiwe:
p) Swilwgwé ng uwhiwbwdwy hwonpnwywbnipyntGhg Yupbih t wa-
owuwnkii npnawlh Gawlnyd wGybpy Gt {x,,n} Gopwhwenpnwlwhnipynth:

q) Npwtiugh {x,,} hwonpnwlywbnipynibp nuGtiGw Ybpowynp uwhdwa,

wlhpwdtin t L pwywpwp, np Gpw gwllywgwd LGpwhwonpnwywlnipyntl
nLGtiGw Ytppwynp uwhdwG:

n) UGYtpe k¢ hwenpnwlhwinipjwl guwiywgws tGpwhwonpnuwlwbne-
pJnth Lu whybipg 6t hwenpnwywbnipynia t:
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orkpLULLEP

w) Uwywgniglii hbwnljw) wyGnnudp.

Npwtuqh a phyp hwinhuwGw {x,,} hwonpnwywbntpjwl Swubwyh
uwhiwb, wGhpwdtwn t L pwjwpwp, np a-h juwiwjwlws ppwlwyp
wwpniGwyh {x,,} hwonpnwlywGnipjwl waybtpe pynd whnwdGbp:

A — UGhpwdtiannpynid — UGhpwdbtinnipynilp whdhowwbu hGinbinud t
Swubwyh uwhiwbh uwhiwGnidhg L uwhdwGh Gpypwswihwyws SEYGWpwWGNL-
pintlhg:

bpnp’ LGpwnpbtip a-G {x,,}-h dwulwyh uwhdwhG t: Cun uwhdwGh Gpy-
pwswihwywl deYowpwlnpjwl a-h Ywiwjwywl (a—¢&,a+€) powlwyp

wwpniGwynud k {x,,"} hwonpnwywbnipjwb pninp winwdGtpp ufuwé hGs-np

n, hwiwphg: Uwlw)G {xkn} hwenpnwywGnipjwlG painp winwdGtpp {x, }
hwonpnwywbOnipjwlb  wlnwdbtp 6G:  Upuwhund a-h  uiwjwyw
(a—&;a+€) powluwyp wwpniGwynud t {x,} hwenpnuwlywGnipjws whytng
puny whnwadatp:

Pwywpwpnepyntl — ytipgltiGp a-h’ (a—¢€,;a+¢€,) nowhw)ptiph hw-
onpnwlwGnipynth  wybGwhuhG, np ’l'i_rgs" =0, (a—¢g;a+¢) npwlwpnid
Ywh x, -hg waytipe pyny wlnwuibkp: dtpgGtiGp Gpwlghg nplhgt dGyp L Gow-
Gwytlp wyb x, -nd: (a—&,;a+¢€,) pgwlwpp pun wwjiwbh wwpnibwynid
t whybpg puny whnwiGtp x,-hg: IGwnbwpwp wyn 2pewlwipnid qnjnipyntl
YniGbGw {x,} hwenpnwywGnipjniGhg wnGwql oY whnwd, nph hGnbpup
066 t & -hg: LawlGwlbklp wyG x, -nyY (k,>k,)): 6pt k,k,,---,k, , hGntipu-
GG wpnbG pGupywé b6, www hwenpn &, hGnbtipup pGupkiine hwdwp Ytipg-
GtGp a-h (a—¢,;a+¢,) npwlwipp: Ujn 2ngwlwpp putn wwjdwlh wwpne-
Guynd t x,-hg whytipg pyny whnwiGbp: GnLwpwp win 2pewlw)pnid gn-
jnupynth YniGbGw {x,} hwenpnwlwinipynilhg wnGywql 6l wlnwd, nph
hGntipup 66 t &, -hg: Lawbwytlp wyG x, -ny (k, > k,,):

by wjuwbu wpniGwy: Mpngbup 2wpnibwybind wiytipg wpnyntGpnid
YuunwGwip {x,} hwenpnwywanipjwG {x,n} tGpwhwynpnwlwanipyntG, npp

Pwjwpwpnui t a—¢, <x, <a+g,, n=1;2; - ww)dwohG:
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Pwlh np lim(a-¢,) =lim(a+¢€,)=a, wwyw puwn tiptip hwenpnwywhnt-
pyniGhbph Ytpwpbipjwy pinptidh limx, =a: \%

p) Uwwgnigby, np bpt {x,} hwenpnwywanipjwt {x,_,} u {x,} bo-
pwhwonpnuwlwGnipynGGEpp qniqudhnnud BG dhlbnyG a pyhl, wuwyw
{x,}-n aniquihinud b a-hG:

A —3wpnpnwwbnipjwl uwhiwlh vwhiwGiwb hwiwdw)l guwbywgwo
£ >0 pyh hwiwp gnynipynil YniGbGwa k,(€) L k,(€) pOwlwh pytip w)luh-
uhl, np

|x2,,_, —a| <&, (k>k) L lxu —al <&, (k>k,)

k, (€) -ny GawlGwlkGp' k,(€) = max{k,(€);k,(€)} : Wn nbwpnts gullw-

guwé k >k, puh hwiwn wkinh nLGhG |x,,_, —a| <& U |x, —a| <& wihwywuw-

pnipjnLGGtipp:
dbipglGbkiGp Ywiwjywywh n 2 2k, pGwlwh phy: Ujh Ywd YEGwn t Ywd qniyq:

bpb n=2k-1 pyhl, wyw 2k-1-p b6 Ywd hwdwuwp YihGh 2k, qnuyq
pdhG hwgnpnnn 2k, +1 pdhg L htwnlawpwp k> k,, npibinhg Yhtwnlh, np
x”—a|=|x2k_,—a|<£: bt n=2k, www Gnphg k>k, L hbGwlwpwp
|x,, —a|=|x2k—a|<£: Wuwhuny gqullwgws n=>2k, pyh hwdwp nlGbip

Ix,, —a| < £ wihwywuwpnipynilp, npinbinhg Yhtinnbh, np limx, =a:

Uyu fubGnhpp Yuntih £ (mét oqunybiiny uwhdwbh Gpypwswhwyw stYow-
pwlnipjnilhg: dtipglkGp a Ytwh npuk (a—¢€;a+¢€) 2powluwyp: LwGh np a-G

{xu_l} hwonpnwywbnipjwl uwhdwl b, wwyw wyn 2ppwlwphg nnipu pi-
Ywd Y hGea {xzk_,} hwonpnwlwbnipynibhg wibkbwwwp Ytppwynp pwlw-
Ynipjwip whnwdGlp: LnyG duny pwbGh np GnylG a -6 uwhdiwGa t, {ka}-h,
www (a-€;a+¢€) ppwlw)phg nnipu plGlwé Y hGka {xu} hweonpnwlywlnt-
pjntihg wibklwwwp ybippwynp pwlwlynipjwip wlnwdbbp, djnwu Ynndhg
{xy} u{xy} hwonpnwywlnipyniGhtiph whnwiGtiph Shwynpnidp {x,} hw-

onpnwywanipnilb t: Unwgybig, np a Ybwnh yuwiwjwlwa (a—€;a+€) 2now-
Yuwyphg nntpu pGlhwé GG wikGwwwnp Yepowdnp pwlwlynipjwdp whnwdGbp
{x,,} hwonpnwlwbnipynilhg: bul uw Gwlwymi t, np limx, =a:
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q) Uwwgnigy, np bpb {x,} hwenpruwywmpuwt {x, .}, {x,} u
{x)} BGpwhwenpRwlwGnpynGGtipp qniquittn bG, www {x,} hwenp-
nwiwbnipyniGp Lu qniquiibun t:

A-Spjwd t limxz,,_, =a, !imxz,( =b L ,l‘imxm, =c: Lwlu gniyg twip,
np a=c L b=c, npntinhg Yhtitnbh a =5 L fulinhpp pbipynid t Gwhunpn nbiw-

ph:
hpnp, pwlh np 7k +1 phup YtGwn & -tiph hwiwp qnuyq phy t, qnuyq k -tph

hwdwp Y&Gw, www {x,,,.s} hwenpnwlwtnipintp b {x,,,,} U {x,,} hwenp-
nwywOnipyntblGiph hwiwp Gopwhwenpnwlywbnipynil t: IGnluupwp

limx,,, ,=limx, =b L limx,, ,=limx,,,, =c
k —oo k —>o0

npunkinhg Yhtinbh b =c¢ hwywuwpnipynilip: Lnyt duny {x,,,..,} hwenpnwlw-

Gnipynibp GOpwhwenpnwlwlnipynth t L {x,,m} L {xz,,_,} hweonpnwywbnt-
p)nthbtiph hwdwp: Npuntinhg Yhtinnbh a =c¢ hwywuwpnipyniGp:

a=c, b=c hwjwuwpnipjnilGtiphg Yyhtwkh a =b hwywuwpnipymlp L
tuGnhpp ptipyntd & Gwiunpn ntiwphG: v

n) Uywgnigty, np bpk {x,} hwenpnwywGnipyniGp Ybiplhg uwhiw-
Gwihwly st, wyw Gpwbhg Yuptih £t wGpwink) +oo -h dquinn GGpwhwenp-
nwlywbnip)niG:

A —Ljwwnbilp, np tptk Ytiplhg ns uwhdwlwhwy hwenpnwlwanipyniihg
ntiG Gbwnbtibp qulywgwsé Ytpewynp pwlwlynipjwip wnwehl wlnwdlbpp,
www wjnwhuh Gawnnudhg htinn JGwgwé hwenpnwlwbnipynilGp Gnphg YihGh
ytipkhg ns uwhdwbwihwy: bpnp, hwhwnwy GGpwnpnipjwlb nbwpnid Yuwnwg-
dtip, np uyqpbwlwh hweonpnuywbnupynilp ytipkhg uwhdwbwihwy t:

Oquybiiny ytiplhg ny uwhiwGwihwy (hGtiint uwhdwbnidhg, wewehl puwy-

intd qunGGp {x,,} hwonpnwlwanLpjw x, wiOnwoip wyGwhuh, np X, >1: Nh-
wwpyGp  dbp hwenpnwywGnipyntlp n+1  hwiwphg  uluwd’
Xa13 X 425" 5 Xy s Un hwonpnwlwbnipyntbp puwn uygpned wpdwéd nh-

nnnnipjwl Ybplhg uwhdwGwdwy st: 2 pyh hwiwp qulkGp wyn hwenpnw-
Ywlnipjwlp wwuinlwlnn X, wonwd wyGwhuhb, np x, >2 b n,>n: 6G-

pwnptip n,n,,---,n,_, hontipGtpp wpnbl Ywenigwé GG: n, hGnbpup Yw-
nnigkilip htitnbyw| nunnnnupyntGGbphg GLGGnY: ME0 GhwntiGp {x,,} hwenpnw-
YwGnipyniGhg wnwohb X5 Xg5 o5 X, wlnwaiatpp: UlGiwgwé
hwonpnwywbnipyntbp YihGh Ytiplhg ng uwhdwbwdwy

xn,,_,+l ’ xn,,_,+2 LR X"H +m
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L htwnbwpwp & pyh hwiwp plwnptiGp wyn hwenpnwlwbnipynilhg x, wa-
nwdp wylwhuhh, np x, >k, n,>n,_,: 64 wuwbu wpnibwy: Mpngbiup Yuw-
wwntiiny jnipwpwlynip k& pGwlwG pdh hwiwp {x,} hwenpnwlwGnipjntlhg
YuwlGowwntiGp {x,,k} (n,>n,_, k=2;3;---) Ghpwhwenpnwywlnipjnih wjbuh-
uhG, np x, >k, k=1;2;---: Bwlh nn lewk=+w, www ll‘i_rgxnk =400 \Y%

&) Uywgnigtl, np Ept UnGnuinG hwenpnwlywGnipjwb nput Ghpwhw-
enppuwlwinipjuwl qniquitun t, www hGpp’ hwenpnwlwbnip)niGp qniqu-
dbuwn L:

A - Uwwgnghilp {x,} sGywaqnn hwenpnwlwbnipjwl hwiwn: Lwlh np
{xk"} hwonpnwlwlnpyniGp L sGjwgnn t L ll(im x, =a, wwyw Ve>0
3k, € N wjGwhuh, np &k 2k, wuwjdwGhg Yhtnnkh a-€<x, <a wihwjw-
uwpnipyntlp: UwubGwynpwwtiu

a-£<x, <a

{x,} hwenpnulwlnpjwt sGwaqnn (hGbing Yhbwnlh™ bpp n2n,
X, Zx% >a-¢: Unw Ynndhg gwlhwgws n2n,  puh hwiwp gnjnipynil
nih n, wylGwhuhG, np n, >n: Gnbwpwp x, < x, <a:Upynilpntd unwg-
ytig, np gulywgwsé € >0 pyh hwiwp gqnjnipynth niGh n, € N phd wjlGuwh-
uhl, np quibywgwd n > n, puh hwdwp wtnh nbh
a-€<x,<a<a+e:
Lwlh np £ >0 phyp YwidwjywywG tp, www 'l'l_t)l;ln X,=a:

q) Ywnnigl hwenpnwlwGnipyniG, nph hwdwp wpdwé {a,} hwenp-

nuwywinpjwl jnpwpwbynip wlnwd |hGh JwuGwyh uwhdwG: Niphy
h°Gs dwubwlh vwhdwGGEp b Wwpunwynp nGEGw) Yuwenigwé hwenpnw-

YuwhnipyniGp, tpb a, -Gpp hpwphg nwppkp GG:

A-Spywo {a,} hwenpnulywlnipjwh b)tdkGnGtphg LwaqokGp wnthtp
htwnlyw) dlund. wrwehG wintthp pnn Ywqiywé (hGh g, -hg, tintpnpnp g;;a,,
Gppnpnp’ g;a,5a; Lwyll, n-pnp’ ag;5a,;a, -+ a, L wjuwtu wpniGwl: UjGniht-
b unwgywé nnuhbipp hwenpnwpwn hpwp hbn YgugpkiGp: bYunwgyh htinb-
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juy inbiuph hwenpnwywlnipinlG’ a;a,;a,;a,5a,5a,; -+ a,30,30,5+++3a,3;8)5
3t £ inbuGbl, np Ywenigywéd hwonpnwywbnipjwb hwdwp jnipwpwbsjnip
a -0 dwulbwygnid * i;-pn L GpwhG hwenpnnn pngnp winthbipnud, huly wnuwhbph
pwlwlp waytipg t: Ywenigdwé hwonpnwlywbnipjwb hwdwp a, phup npwtiu
wlnwd wOdbpe pund wbintipnud dwulwlygnd b IGwnluupwp a -0 pun w)

fuGnph YthGh Ywnenigdwé hwenpnwlywinipjwl Swubwyh uwhdwh, tph wyb
qnynipyntG nbh: Ywenigwé hwenpnwlywbnipjwl hwiwp dwulGwyh uwhiwb

yhwlnhuwGw {a,} hwenpnwlywbnipjwh Jnpwpwhsnip Swulwlh uwhswdp:
bpnp, tGpwnptiGp a-0 {a,} hwenpnuywlnipjwl SwuGwlh uwhdwGh t:
dbpglliGp a Ytwnh nput (a—¢€;a+¢€) ppwlwyp: Ujn 2powlwypnid pOlwdé GG
{a,,}-hg wlytipe pwlwynipjwip wlnwdGp npnGghg jnLpwpwGnipp
hwGnhuwlnid £ Ywenigwéd hwenpnwlwlnipjwl wlnwd: Unwgykg, np a-h
Yudwjwlwb (a—¢&;a+¢€) ppwhwyp wwpnibwynd b Ywenigwd hwonpnwlw-
Gnipjwl wlGybpe pYnd wlnwibtp: Cuwn w) hulnph a-G Yhwlnhuwbw
Ywenigwd hwonpnwywlnipjwl dwulwyh uwhdwb: BEpb g = +ee(—e), www
qnjnipyntl niGh {x,,} hwonpnwlwnipjwl {xkn} GGpwhwenpnwywbnupyntG

w)Gwhuh(, np
limx, =-+oo

Lwbh np {x,,} hwonpnwywlnipyjwl jnupwpwbgnip iGpwhwynpnwlw-
Grpynth Yhwbnhuwlw Gwl Ywenigwé hwenpnwlwbnipjwlb Ghpwhwenpnuw-
YwhnipyniG, www dwulGwynpwwtiu {x,("} hwonpnwywbnup)nilp npwtiv Yw-

nnigwdéd hwonpnwlwbnpyjwl GGpwhwenpnwlywbnpintl Ydgunh +eo-h: buly
nw Gawlwynid £, np +eo -p Yunnigwsd hwonpnwywGnipjwl Swulwyh uwh-

Owa t: \Y
4" +(—4)"

t) Uywgnigly, np x, =__(,._)—v n=12;--- hwgnpnwlywbnLpjnGp
uwhdwG smGh, huy y, =f+—(n_4)—, n=1;2;--- hwonpnwwbnipntGG ntGh
uwhdwG:

QGunGbp wyn uwhdwGp.

A-NbkGp x, =1+(=1)", n=1;2;---
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Rwih np limx, =2 L lim x,, =0 L www {x,} hwenpnwywantpjnilp

uwhiwb niGkGwy sh Ywpnn: Ppnp hwiwewy nbwpntd b {x,,} b {x,,} hw-
pnpnwlwanupyntGatipp whinnp t dqunkhG GnuyG uwhdwGhG:

Yn =(%) a+-=n", n=12;--

2k
Lwlh np }i_r)gyu = 2}1_::10(-‘51) =0 L li_rf.y"-’ =Il‘i_r£O=0 www puw p)

tunph {x, } hwenpnuwlwGnipyntGa nuGh uwhiwG L wyl hwdwuwn t 0-h: \Y

10. PJUPULULUL NNPSNINFR3NILLEN 2NFIUULS
ULLPILULNHBSNFLLENP I6S

Gpt limx, =a L limy, =b www

n—oo n—

w) lim(x, ty,)=limx, tlimy, =atb
p) limx, -y, =limx,-limy, =a-b

lim x,
Q) limZ2=22=""_2 gk h20
==y, limy,

OphGwlGEp hwenpnwlwlmpywl uwhdwlp quGbnt
ybpwptipjuwy.

3wyt hwonpnwlwinipjwh uwhdwGp.
8n’ —Sn* +3n-17
III) xn = 2 3
4n° -6n" +5
A —LljwuwnkGp, np U hwidwphsnud, W hwjnwpwpnud 72 -h wikGwpwpdp wu-
wnhGwlp 7°-G t: Iwdwphsp b hwnwpwpp pwdwbing 7°-h yrw L oquytiiny

hwonpnwywbnup)niGlGtiph qnudwph, pwbnpnh uwhiwGh YyGpwpbpjw, ptinptid-
Gtphg, YnLOLGwbp

,n=12;..-

3 2 8—§+—3-——7—
limx, =lim 22" 23127 _jip  nn
nom " mom At —6n’+5 = 4 S
n n
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lim8—lim§+lim%—lim—7; 4
_ n—oo n—yoo n n—eo n n—oo n =7 V
lim 2 1im 6 + lim > 3

n—oe n n—oo n—eo n3

_ Nn’+8-n
n? +7 =\n? +3
A - 64 hwiwphgntd b hwynwpwpnud nullilp oo —eco wnbuph winpn2nip)niG:

Jwdwphsh m hwpnwpwpp pwqiwwwwnyting b pwdwlbiny hptiGg (6npnGtph
Upw Yuinwlwhp'

_ (n2 +8_n2)(\/n2 +7+\/n2 +3) 5. \/n2 +7 +\/n2 +3
(n2+7—n2—3)(\/n2+8+n) It +8+n

Jwdwphsp L hwjinwpwnp pwdwGbing 7-h Yypw L ogquindtiinyd 10-pn Ykwnh
w) huGnphg, YnLGLOwhGp’

7 3
2 P \/1+—2—+\/1+'—2
1imxn=2.1im‘/" +70n 43 b N "

n—eo n—oo JnZ +8 +n n—eo \/{ 8

+— +1
nz

B) x,

n =

=2 \Y

N 5n+1 +6n+2
T3.67+2.5

A —3wdwphsb nu hwyinwpwpp 67 -h Ywpgh wGybkpe dtétp GG: (6" waytipe
dtiép wybih pwpép Ywpgh whybipe 0k6 t, pwh 5" waytipg vkop™

. 6" .. (6Y
lim—=1lim| = | =4
n— 5" noe\ §
PwdwGbiny hwiwphsG nt hwynwpwpp 6" -h Ypw b wGghtipny uwhdwah,
5-(5/6)" +36 36
pp 7 — oo, YunwlwGp lim x, = lim M——" =—=
e "= 3+2.(5/6) 3
3+7+11+---+(4n-1) 6n+5
n) x,= -
n+3 3
A = Lywinh nGbGuwiny, np wnwehG gnuiwpbithh hwiwphsp pYwpwlwlywG
wpngpbiupw t g, =3 L d=4 wnwpptipnipjwip (hwdwphgnud gpyws t w)G

wnwohG 7 pGwlwG pytiph gnudwpp, npnlp 4—h Ypw pwdwliihu wnwihu b
tptip 8Gwgnpn) dLwihnfutiGp x, -p:

q) x, yn=12;-

12: \%

, n=1;2;--
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_n(3+4n-1)/2 6n+5 n(2n+1) 6n+5 _

n =

n+3 3 n+3 3
6n +3n-6n’-18n-5n-15 -20n 15
3(n+3) 3(n+3)

-20n-15 1 . 20n+15 1 . 20+15/n 20
limx, =lim—————=-=lim —lim——=
oo no= 3(n+3) 3"-"-’ 3(n+3) 3"-'" 1+3/n 3

4sinSn+5cos6n  4n* —Sn+1
G) x, = + >
Jn+2 3n—2n
A —Rwlh np 4sinSn+5cos6bn, n=1;2;--- hwenpnwlwlnpynilp uwh-
Gwlwthwly hwenpnwywbnepnil t

|4sin5n+5cos6n| S4|sin5n|+5|cos6n| <9, n=12;---,

y h=1;2;-

huy vn+2, n=12;-- hwonpnwlwlnupynilOp whybipe 06s, www wnwehl

gnuiwpbho waytipe thnpp hwonpnwlywbnipynilp £ (npwtiu, wGytipe thnpp L
uwhiwbwwy hwonpnwlwanipyntGlGiph wpwnwnpywy): PGs GGnud t Gpypnpn
gnuiwpbhhl, www Gpw uwhdwbp htunnepjwdp hwyynud t°

JtippGwywlwwbu YnGLGwGp
4sinSn+S5cos6n  4n* -5n+1
+ =
Jn+2 3n-2n’

. 2 _
=lim4sm5n+SCOS6n+lim4n 5":'1=0_2=_2 v
n—oo \/n+2 noe 3pn—2n
Q) {a,} hwenppwlwGnipynilp pwpwiwlws wpngpbuhw t, nph pn-

Lrp winwdbtpp npwywi 6 b wwpptpmp)nibGp hwywuwp st 0-h:
QunGb”

limx, =lim

n-—joo n—oo

lim—

"*“f[f Ja: | J_+J_ J_+Ja“.J

A-NGbGp a,-a, ,=d, n=2;3;--- ba,,, =a,+nd, n=1;2;---
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Oqutiiny \/._

YRyl g NS EAR——

dlwihniuliGp npdwé hwenpnwlywhnipynbp’

I(J_+J_J_+J_ J_+J_]

+

+I

5 TV )+ (V& a4 (o )=
O (R

Gwbwpwn lim x, =-—llm["d+ \/7) \%

t) *hgnip {a,} hwenpnwlwGnipyniGp pYwpwlwyws wpnapbuhw t,

npp papnp winwdGkpp b nwwpptpnipyniGp hwywuwp 366G 0-h: GGy’
1 1 1

X, = + +-o 4 . n:],z,
a-a, a,aq a,-a,,
hwonpnwwbnipjwl uwhdwGp:
1 1{1 1
A - QuuithntutiGp {x,}-n" oqutiiny = —(— - ) Ck=12;-
a4-a, d\a a
GneyGrupynilhg:
{1 1 1 1 1 1 1({1 1
x"=— —_——_— | ——_-— || — = = —=— =
di\a a, a, a, a, a,, d\a a+nd
= 1 - 1 . n= 1, 2; eee
a-d (a +nd)d
3twnbkwpwp limx, =lim ! ! ! \Y
- noe\ @ -d (a, +nd)d al d

+x, 4+
p) Uywgnighiy, np tpk llmx =0, wyw lim HT X0

n—eco n

A - JtipgGhGp nplt € >0 phy: LwGh np x,-p dqunid t 0-h, YaunGyh wiyl-
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X, +X,+ X,

Lwlwykbp y, = y n=12;---
n
|xl+x2+...+xn|_|x,+x2+---+le+xN|+,+---+x,,|<|x,+x2+---+x~l .
Yal= n n - n
x +|x +o+|x |x +x +---+xN| e (n-N
Nl | TR =M sy,
n n 2 n

Lwlh np N,-p dhpuwd b, www N, -p pGunptiGp wyGpwh GLG, np pnrnp
n 2 N, pytph hwdwn wntinh nlGGGw’

P
[x.+, "‘|<f, n>N )
2 2

n
LawlwyGp N, =max{N;;N,} L wwhwlgklp n2=N,-hg: Unwhuh
n-tiph hwdwp wntnh YnGtibGw (1)-p L (2)-p shwdwiwbwy: IGnlwpwp’

v, ELEnmm ELE ., n>N,
n 2 2

Lawlwynud t limy, =0: v

11. dGPPL G4 USNPPL UUIUULLER

Swilwgwo {x,} hwenpnwywanipjnil niGh gnGt Bkl Swulwlh uwhsws
(Ytpguidnp, +oo G —oo):
bpti {x,} hwenpnwlwinipynilp uwhiwGwthwy t, www wwpqynwd t, np

Gpw dwuGwyh vwhiwGbphg Ywqidws pdwihG pwqdnipynibp Lu uwhdwGw-
thwy t, pGn npnud wyG nGh wokGwihnpp L wikGwdké wnwppbpp, npnGp hw-

dwwwuinwuuwbwpwp GawGwynid 66 limx, L Ex,, uhdynGtpny nt Ynsynid

GG {x,,} hwenpnwlwlnipyjwl unnphG YtiphG L uwhdwhGtip:
Epti hwonpnwlwGnipyniGp Ytiplhg (Gtipplhg) uwhiwbwhwy st, wuw
Gpw hwiwp +oo Y (—ee) uhiynip Swubwyh uwhiwa t L wyn nbwpntd wuw)-

Swlwynpynid GG pGnnilly Ex,, = +o0 (h_m X, = —eo):

Npwbugh {x,,} uwhiwbwhwy hwenpnwlwlnipyntlp nGhGw Ytipowynp

uwhiwG, wGhpwdtizn t L pwdwpwp, np limx, = Ex,, :

n—e n—yeo
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orhLuuLEr

Qb limx,pl ﬁ—m-x"-n

n—yoo

w) x

"=7n+4

A -ULwhu qultiGp {x,} hwenpnwywGnipywt pninp Swulwlh uwhowGGt-

.
‘sin—n, n=1;2;---
2

5n-3
pp: LywuntiGp, np {7n+4} hwenpnwywbnipynilp qniquiitivn t L Gpw uwhdw-
n

Gp 5/7-Gt:
twbwpwp Gpw gwilwgws LGpwhwenpnwlwlnipnth Lu qniqudtin t

L qniquihwund t 5/7-hG: y,,=sin§n, n=1;2;--- hwonpnwywbnipjnilp

uwhiwlwthwy L nwpwitin hwenpnwywbnup)niG £, pGn npned { y,,} hwenp-
nwiwlnpjwl winwiGtpp 4 pyhG hwjwuwp wwppbpnupjwdp YpyGynid GG:
Qw hhdp t wwihu nhnwpytine {y,} hwenpnulywGnippwG {y,}, {Va.}.

{Vers2} U {Vusss} GGpwhwonpnwlwlnipniGGtipp:

Ve =sin§-4k=sin2zzk=0, k=124 limy, =0
. . V4 .

Varn =sm5(4k+l)=sm(2ﬂk+—2-)=l. k=12;-- }1_{2)’4“1 =1

Vewes =sin%(4k+2)=sin(27rk+7t)=0. k=12 limy,,, =0

ym,=sin%(4k+3)=sin(27z‘k+—i—7r)=—l. k=1;2;--- 1i_{{1°y4k+3=—1

Ibwnbwpwnp -1-p, 0-G L 1-p YhwlnhuwlwG {y,} hwenpnwlwinipjwG
Gwulwyh uwhiwGGbpp:

Uy, SwuGwyh uwhwGGEp sniGh, npnyhtink {y,} hwenpnwlwinipjwG
gwlywgwd w), tGpwhwenpnwlwbnipynth YihGh Ywid nhvwplhywé Ghpwhw-
pnpnwlwhnipyniGGtph  GGpwhwenpnwywlnipynil (hGs np wbinhg uluwd),
Ywd YywpniGwyh nhvwpyywé GGpwhwenpnwywinipynitblbbphg wnlywql
bpynuhg whytipg pyny winwiltp: pypnpn whwh GhGpwhwenpnwlwin-
p)nLGGLpp Y hGEG nwpwdbin:

47



3GwnLwpwnp.

. 5 .. . 5 .. 5
P_{Exu =7‘l‘_ﬂ)’4k =0 P_{Exuﬂ =7‘}‘_{2y4k+1 =+T7'
. 5 .. . 5 .. 5
,l“_r)E Xaks2 = 7 ,1‘1_{2 Yars2 =0 P_{E Xak+3 =7'l‘_{2)’4t-3 =77

{x,,} hwonpnwlwnipyntGp wy Swubwlh uwhdwG gnilh: IGnbwpwn.

limx"=—£, limx"=§: v

n—seo 7 n—eo

n(n+l)

p) x, ==2+(=)"™"3-(-1) 2 -4, n=12;-

A —Rwbh np (n+1)-p qniyq n-Gph hwowp YaGwn t, YeGn 7 -Gph hwdwp’
qnuq, huy n(n+1)/2-p qnuq t (Yt t) hGswtiuv YeGwn, wylwbu kL qouyg 7-tiph
hwdwp, wwyw wyG hhdp t vwhu nhunwpytipnt {x,,} hwenpnwywbnipjwl’

X4p_3>X4p-2Xas1> X GOPWhwenpnuwlinipyntGGLpp.

(4k=3)4k=2)
x4k-3="2+("1)“-2'3—(—1) 2 4=3, k=1;2;---
(4k=208k=1)
Xy ==24(-D*73=(-1) 4=, k=125
4k(4k=1)
x4k-|=—2+(_1)“'3‘(_1) 2 4=-3, k=1,2;---
4k(4k+1)
Xy ==2+(-D""3-(-1) * -4=-9, k=12
lim Xp3 =95, lllim Xy =—1
/l.im Xgpy ==3, }im Xy =9
wnbwpwn’ limx, =-9, limx, =5: \

QunGby inf{x,}-p b sup{x, }-p.

COnhwlnip ntiwpnd wjuwhuh fuGnhpGtipp ndwp (netith GG: UwlywyG
npn2 ntiwyptipnud hbunnepjwdp Ywpnn LGp qunGti hwonpnwywlnipjwl uwnn-
phG L ytiphG G2qphw tigptipp: OphGwy, tpb Gwhuwwbu hwynGh t, np hwenp-
nwlwbnipyntGp GnGnuinG £, Ywd h ytipgn dnGnunG t, www wynwhuh hwenp-
nwlwbnipjwl hwiwp inf -p L sup-p qunllip hptiGhg ng Sh ndywpnipynih sh
GtpYuwywglnud: Uudwép hhiGwynptlp ophGwyGbpny.

w) X, = _ , n=L2;-.-
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Lwfu ywpqbiGp hwenprwlwbnipjwb dnGnunGnupyjwh pGnepp.
v —x = 2n-5 2n-7 _ 6n* —16n-15n+40-6n* +10n+21n-35 _
T 3p-5 3n-8 (3n-5)(3n-8)

= > >0, n=3
(3n-5)(3n-8)
ItwnbLwpwp {x,,} hwonpnwywGnipynilGp h Ytpen weénn b ujuwd Gppnpn

wlnwdhg: buly wénn hwenpnwlwbnipywl hwiwp wowohG wlnwdp YihGh
wikiGwdnppp L hitnbwpwp inf -p, huly sup -p wyn hwenpnwlywGnipjwh uwh-
GwGa t : Whwtu np.

2-3-7 2n-7 2
inf =x,= =-1, supi{x t=Ilimx =lim ==
nfix}=xn =335 uplx,}=lim, =lim 27— =3
3wpykiGp x,-p b x,-p L wyn pytipp pwnnwunbiGp -1 L 2/3 pytiph htw.

2-3-7 2n-7 3

xl = :1' xz = = —

3-3-8 3n-8 2

tnbwpwp inf {x,}=-1-p L sup{x,}=3/2

n

X, = , n=12;--
P X% = o)
A —MwpqtiGp {x,,} hweonpnwywbnipjwl dnGnunnGywhb plnyypp
n+l 1
0 < Lo _4 (n+2)!_ 4 <1, tppn22

x, 4 -(n+3)! n+3

tnbLwpwp {x,} hwenpnuwlwanipynilp h Ytipgn Glwqnn t Bplpnpn wo-
nwihg ujuwd: Lawhwlynud k

i:g{xn} =limx,, s':?{x,,} = n'glzx{x,,} =x,=2/3

2wth np {x,}-p h ytipgn Gwqnn t L GhippLhg uwhdwGuhwy’ x, >0,
n=2;3;--- www wjb ntbh yeppwynp uwhiwa:
LawlwybGp limx, =a L thnpdkiGp w)b qunlbi:

4
OquytiGp x,,, =m~x,,. n=2;3;--- pwlwdlhg:

UGgGbiny wyn pwhwdlkntd uwhswGh, ipp 7 — o Yuunwlwbp®
limx,, = lim—4— -lim x, Ywd np ShuGnyyGGt a=0-a=0

n—eo noe 43 noee
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4 2
wpybp x,-p L wl pwnnuwbkGp 0 L 2/3 pytph =373

htinbwpwp inf{x,}=0-p L sup{x,}=2/3: v

12. DNFLIUUGLSUL ULNPIULULNHB3NIL,
unchr 2NFUUPSNFR3UL UY2PNILRL
{x,,} hwenpnwlwGnipyntlp Yngdnid t dnilnwitiGnw, tiph gulywgowé
£>0 pyh hwiwp gnynipynil nibh ny(€) pGwlywG phy wyGwhuhl, np guiyw-
gwéd n2ny(€) L guwlywgws m 2 ny(e) phwywhd pytiph hwiwn wbnh nGh

X, —xml <& wihwjwuwpnipynbp Ywd np GnyGG t Ve>0, 3n,(e),
Vn2ny(€), L Vpe N pGulwG pytiph hwiwp wtnh nGh

hwywuwpnipynih:
Npwtugh {x,} hwenpnulwbnipyntlp niGbGw Jepguwynp uwhiwd, we-
hpwdtiwn t L pwywpwp, np w)b thGh $nLbGnwidblnwy:

x,,+p—x"|<£ wi-

orrLuULLEP

Oquidbiny Unzhh qniquihwinipywl uyqpniGphg” wuwwgnigby {x,}
hwonpnwjwbGnipjwb qniquihwninipyniip.
Ein_l_! sin 2! ot sinn! ’
4.9 9.14 (5n—1)(5n+4)

w) x, = n=1;2; -

A —dtingGkGp Ve >0 npwywl phy L qhwhwinklbp (x,, —x, wpunw-
hwjunnip)nilp.

1] _sin+D!  sin(n+2)! s sin(n + p)! <

n+p n =

(Gn+4)(5n+9) (5n+9)5n+18)  (5(n+ p)=1)5(n+ p)+4)
< I + 1 oot 1 =
(5n+4)(5n+9) (5n+9)(5n+14) (n+ p)=1)(5(n+ p)+4)

1] 1 1 1 1 1 1
= - + - ot - =
5[5n+4 5n+9 5n+9 5n+14 S5n+5p-1 5n+5p+4]

1] 1
=— - ! <l‘ ! ' Vn L Vpe N
5[5n+4 5n+Sp+4| S Sn+4
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1 1
LndtiGp —- <& wlhwjwuwpnipynp. n>— —i : Npwbu
5 5n+4 £

ny(€) Utingltlp ny(€) = [glg —5] +2 phyp:

5
Ujn ntiwpnd gwllywgwé n>n, L Vpe N pGwlywG pytiph hwdwp wnbnh
ynibbw x,,  —x,| <€ wlhwdwuwpnipjnibp: {x,,}-n dnilnwikGwnw) hw-
onpnwlwhnipynth t: Iwnbwpwp punn Unahh qniquidhinnupyjw ulyqpnilph w)l
yhGh qniquidititn: \Y
3 n
X, =—+—+—+--- , =1;2;.-
TR TR TR "
A -QGwhwwntibp [x,,, —x,| wpnwhwnnigynilp, ogquytiiny —1-' < % ,
n!
n 23 wohwjwuwpnipyntlltiphg:
| n+1 . n+2 n+p | 1 1 1
X,,, =X, + +eee < + + -+ <
d (n+2)! (n+3)! (n+p+1)!| (n+1)! (n+2)! (n+ p)!

1 1 1 1 1-1/27 1 1 1 n=23-
P et ey V- R = | Y ANPY=1

2" 2 2m 2t 1-12 2 27 ) 2 p=12;---
dtipgGtiGp nput € >0 phy (0<e<1) Lnpwbu ny(€) phwywh phy YtipgGhbp.

n,(€)= [log2 —:;+1j|+3 phyp:

Vn2n, L Vpe N wbinh niGh

hwonpnwlywGnipynilp $nGnwitiGnwy t L hinbwywpwp qniquidtivn: \Y
_sinl!  sin2! sinn! A
q) x"-1—2+—?—+---+ et n=1;2;---

X,,, —X,| <& wihwwuwpnipymap: {x, }

k=2;3;-- L

A - QGwhwwntiGp

x’l+p - x”

1 1
-p, oquyki —< ,
p, oquytiiny <Dk

|sink!|$1, k =1;2;--- wohwywuwpnipjnGatiphg:
. . | . |
=|sm(n+1)! sm(n+22). m+sm(n+1;).|s 1 - 1 4
| (n+1?  (n+2) (n+p) |~ (n+1 (n+2)
1 1 1 1 1 1
...+ 2< + +...+ = ——
(n+p)* nn+1) (n+1)(n+2) (n+p-DH(n+p) n n+l
1 1 1 1 1 1 <l n=2,3;---

—_— -_— = —-

n+l n+2 n+p-1 n+p n n+p n’ p=12;---

X, =X

n+p n
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dbtipgtiGp nplt £>0 phy L npwbtu n,(e) pGwlywG phy YtpghtiGp.

no(e)=[% +1 phip:

J
Ujn nbwpnd gwiywgwé n2n, L gwihwgwé p plwywh pyh hwiwp

< € wihwyjwuwpnipynilp: {x,,} hwonpnwlwbnip)ntlp

intinh nubh |x,, , —x,
$nLlinwibkGuwy b L hinbwpwp qniquidtivn:
UwubiGp, np {x,} hwenpnwywanipjnilp niGh Ytpgwynp thnthnfunipyntl,

tpt qn)nipyntl nLGh ¢ > 0 phy wjuwhuh, np

n-1
|x2 —x,|+|x3 -x2|+---+|x,, -Xx,,|= Z|x,,+, —xk| <c, n=23;--
k=1
n) Uwywgnigti, np gwlywgwd ybppwynp thnithnfunipynta nilGkignn
hwonpnwlwbnipjntli qniquidbun t:
Lwnnigb] hwonpnwlwbnipynil, npp LhGh qniqudtn, uwlw)a jniGk-
Ow Ytppwynp thnthnjunipyniG.
A - Gpwnntilp {x,}-G nGh Ytpgwynp thnthntunipyntG: Mw GawGwlnud t,
np qnjnipyntl nLbh ¢ > 0 phy wyuwhuhl, np
|, = x| +]x, = x|+ +

x,—x,,|<c, n=2;3;---

bZI.Uﬂlul]bﬁp Y =|x2 -x||+|x3 _x2|+...+

x,,+,—x,,|. n=1;2;--- hwegnpnuw-
YwhGnepynilp:
{».}-0 UthGh sGywann L puwn wuwydwih, Ytiplhg uwhiwbwihwly: Itwnkw-
pwn wyG YuhGh qniquistitn, npuntinhg by Yhtinh, np {y, } -p $nilnwiskGunw t:
Ve>0, 3n,(€), Vn2ny(€), L Vpe N

+

X

n+2

+ot

X,

+p+1 - n+p

yn+p-yn <€

A — QhwhwuwntiGp
pOwlwb pytiph hwdwp.

xn+l =X

n

xn+l xn

xw,—x,,' wpnwhwynnipnilp Va2n,, L Vpe N

x"

= |(xn+l _xn)+(xn+2 —xn+l ) +(xn+3 _xn+2 ) +-- +(xn+p _xn+p—l )| p

+x,., =

n+l

+p—xn

<

+

xn+l - xn

xn+3—'xn+2 +-et

yn+p-l _yn—l <&

xn+p - xn+p—l| =

tnbwpwn {x,} hwonpnwlwGnipynilp PnLlnuwikGuwy t L puwn Unzhh

ulqpniGph Y hGh qniquidtiwn:
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A - Lwiu wwwgnigliGp, np gwllywgwé 7 phwlwh pyh hwdwp wnbnh ni-

1 1 1
Gh ——< ln(l +—) <— whhwywuwpnipyntGp:
n+l n) n

1 n 1 n+l
bPpnp, pwlh np x, = 1+;) Ly, =(1+—) hwyonpnwlwGnipyntGGb-
n
pp hwiwwwwnwuhuwbwpwp wekiny L Gjwqbiny dquinid 6G e pyha, wwjw
n n+l
(l+l <e<(1+1] n=1;2;-.-
n n

Lnquphpibiny wju whhwywuwpnipynilp, YuinwGwip'

n-]n(l+l)<lne=l<(n+1)-ln(l+lJ
n n
npwnbinhg ty Yhbuwnbh

L<ln(l+l)<l, ne N
n+l1 n n

wohwydwuwpnpyntGp:

{x,,} hwonpnwywGnipynilp sh nGkGw Jpowynp thnthntunipnil, tipk
gwljwgwé ¢ >0 pyh hwdwp gnynipynil niGh 7,(c) pGwlwG phy wjGwhuhG,
np wntinh mGh

|y =3[ +]oy = x|+ -+|Jc,,I —x,,l_ll > ¢, wGhwywuwpnip)niGp:

NhuwpyliGp htnbyw) hwonpnwlwinip)niGp.

. - 1-(-n™ 1 1 1 1

n ’ n=l;2;"' 07—90,—,0,_,'”’0’_'“
2n 2 4 6 2n

UyGhwyin t, np lim x, = 0: Uwyw)G

[y = x|+, =0, |+, =5+ + o = x |=l+l+l+l+-~+i+i=
2 1 3 2 4 3 2n+l 2n 2 2 4 4 2n 2n

=l+l+---+l>ln(l+l)+ln 1+l +---+ln(l+l)=1n2+ln§+lni+
2 n 2 n 2 3

rotin P e
n

dbipgGtiGp nput ¢ >0 phy L notiGp In(n+1)>c¢ wGhwywuwnnipyniGp:
Npwbu n, phy Ywpnn GGp Ytipglty 7> e —1 pyhg 0tié gullwgwé plwlwh
phu: 3twnbwpwn {x,} hwenpnwlwGnipynilp sniGh Ypgwynp thnthnfuncpyniG: V
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Oquytiiny Unzhh qniquihunnipjwb uyqpnilGphg’ wwwgnighy x, hw-
enpnwiwinipjwl tnwpwdhwnnpynap:

{x,,} hwonpnwywGnipniGp puwn Unzhh uyqpnilph YihGh nwpwitivn, tpb
qnynupynilG niGh qnGt dkY &, >0 phd wylwhuhG, np gwllwgwé & plhwlwa
puUh hwdwn YqunbykG n, 2k L p, pGwywh pytin wybwhuh, np

-x |2
|x,,0+p0 xnol_eo

w)x,,=1+l+l+--~+ ! . n=12;-
3 5 2n-1

A - Ywiwjwywb 7 L Ywiwjwywb p plwywt pytiph hwiwp qlhwhw-

wnblp |x,,  —x, wpuwhwjwnnp)nilGp Gepplhg
1 1 1 p
X, —X,|= + +-t >
d 2n+1 2n+3 2n+2p-1 2n+2p-1

dwulGwynpwwbu ytpp qpwé wihwldwuwpnipyniGnud gbipgbbing p=n-h,

n >i=l, Vne N
4n-1 4n 4
twnkwpwn, npwtiu £ >0 phy Yuwpbith t Junglby £ =1/4 (Ywd 1/4-hg
thnpp guiywgwd npwywa phd): FGswhuh by (hGh & pGwlywG phup, npwbu »,
Ywpbih t ytipglly & -hG qbipwquignn gwiywguwé phwywh phy, huly npybu
P, UbingltiL p, =n, Un nbwpntd

YuunwlbwGp >

X,, =X,

n

1
|x2,,0 —x"0|>z.

{x,,} hwonpnwywbnepynilp twpwdtbin t: \Y

1 1 1
= + 4.+ , =1;3;---
) %, In2 In3 Inn "

Lnuyb duny, hGswbu ytipp pipdwé fuGnpnud

1 1 1 p p
X,,,—X,|= + +ot > > , n,pe N
d In(n+1) In(n+2) In(n+p) In(n+p) n+p mPE
dwubwynpwwbu, ipk p=n, wyuw |x,, -x, >2i =%
n
{x,} hwenpnwywanipjnLbp wpwikin t: \
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q) x,,=——=—cosn7r-i, n=12;...
n

Swlywgwd n plwywl pyh hwiwp qGwhwunkGp

xn+l _xnl-n
+>
2(n+1) 2n

X

n+l

x"

1
= 5 (cos(n+1)w—cosnm)—

1
2—|cos(n+1)ir—cosn7t|—;>l, Vne N
2 2n(n+1) 2

pw0h np |cos(n +1)7r —cos n7t| =2 gwlywgwdé n pGwlwh pyh hwiwp:

Npwtu €, >0 YtipgltiGp &, =%: Swiywgwd k£ pGwlwh pyh hwiowp np-
whu 72>k phy Ywpnn Lhp Ytpglt) & -hG qtipwquignn qullwgwé » pGw-
YwG phy, huy p, =1: Ujn nbiwpnid |xn°+1 -xn,,l > %2

{x,} hwonpnwlwGnipnilp wpwitin t: \%

13. @4USPL TUrR: PYUSPL TUrer 2NFUUPSNFR3NIL,
usunrE3NFLLGNe

Spwé t {a,,}, n=1;2;--- hwonpnwlwbnip)nLlp

a,+a2+~-+a"+-~=2a,, (1)

n=l
uhdynip Ynsynid t pyuyhb pwpp: UnwGdhG qnudwpbiihGlipp’ a, -tipp Yngynid
6G (1) 2wpph wlnwdGtp: Cwpph wewehG 7 winwdGtph qnudwpp Yuwbyw-
GLGp 2wpph 7 -pn SwuGwyh gnudwp L YowGwykbp S, -nyY

S =a+a,+--+a,= Zak
k=1
UwuGwyh qnuswnGtiph {S,} hwenpnwlwtnipjwl S uwhdwGp (Ybpgw-
dnp, +oo Y —oo ) YulywatiGp (1) 2wpph gnidwp L Yanklp

Za,, =S
n=1
bpti pwpph gqnuiwpp Ytpewynp b, www 2wppp Ynsynid t qriquidtin:
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bpb 2wpph qnudwpp wybipe t, Ywd qnynupynth snibh, www wppp Yng-
ynud £ vnnwpwdbn:
Eeti (1) 2wppp qniquibin £, wwyw li_t)n a,=0

Uu wywydwbp pwywpuwp st: Swpph hwdwp Yupnn t ’l’i_’rga,, =0, uwlwya
2wppp thGh wwpwibin:

tpt Za" L Zb,, wnpbipp qriquibn 66, www gwliiwgws a L S
n=l1

n=1

pytiph hwiwp qniquiibitn t Z(aa,, + fb,) 2wnpp, pln npnLy’

n=|

S (aa, +88,) =0 a,+f35,.

n=l n=1

Swubwynpwwbiu, tpt @20, =0 www dtipth hwwuwpnipjnibhg Yhb-
wnbh Za-a,, =a'Za,,
n=l| n=1

Gpb (1) 2wpphg htnwglklGp wnwohG m winwibbtpp, Wwyw unwg-

Jwd
2 4,
n=m+]
2wnpp Ynsynid t (1) 2wpph m -pn Ghwgnpnw)hl 2wpp:
Epti (1) wppp gniquidtinn £, www gniquitivn t wyn wpph gwilwgwd
dGwgnpnwjhG 2wnp:
Gpb qniquitin t (1) 2wpph nput’ m -pn dGwgnpnwyhG wpp, www qnt-
quwubiwin t (1) 2wppp:

Thgnip wpywé t (1) 2wppp b plwlwG pytiph npbt {#,} wsnn hwenpnw-
YwGnipyniG:
2.b,
=1
2wnpp, npinbin b, =g, +a, +---+a, , b, =a,,+a,,++a,,
b=a, .,+a, ,+--+a,, j=52- Unginud t (1) 2wpph tudpunnpyws
2wnp:

Gpb (1) 2wppp qniquiititn b, www qniquiitinn £ wyn wpph gwGywgws
fudpwynpdwé wpp, pGn npnud fudpwynpywé wpph gnuiwpp hwywuwp t
2wpph gnudwphG: Gpti 2wpph nplt fudpwynpywé wpp qniquidtun t, wwjw
wjnuntinhg nbin sh htitnlinLd wpph qniquihwnnupynip:
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6pb a, 20, (n=1;2;---) www wppp Ynsynid t ppuwlwG:

Apwlywl wpptiph qniquiihnnipjwl hwiwp wihpwdtn t L pwywpuwp
Gpw dwulwyh gnudwpbtph hwenpnwywlnipjwh uwhdwbwhwynepyniGp:

14. PULUL CUPRG P PUTMUSUUL IUSSULPTLED

Yhgnip Y a, (1)L Db, (2) 2wnptinp npwlwG bG:
n=l| n=l

w) bpti a,<b,, (n=n,), n,-0 nplt pGwlwh phy t, www

(2) 2wpph qniquidhwnnipynilbhg htivnunud t (1) 2wpph qniquidhunnepyniGp,
Ywd np GnuyGG E (1) 2wpph wvwpwdhnnegnbhg hbinbnud £ (2) 2wpph
wwpwdidhwnnepynibp:

b
p)bpti a,>0, b, >0, 0gZm Sl';—*' (n2n,), wwyw (2) wpph qniquish-

wnipynilihg htinlnud t (1) 2wpph qnuquihwnnpynilp, Ywd np GnyGao £ (1)
2wpph nwpwdhwnnepyntlbhg htivnbnid t (2) 2wpph wpwdhwnepnGp:

q) bpt lim%=c, 0<c<oo,

www (1) L (2) 2wpptpp Jhwdwidwlwl gniquibn 66 Ywd dhwdwdiwbwy
nwpwibn:

n) bpt limn’a, =c, wwyw Za,,

n=1
wppp qniquitinn b, Gpt p>1 L 0<c <+eo, nwpwibtn t, p p<1 L
0<c< 4o
&) YUywdpbph huywnwbhzp

bpt a,>0, n=1;2;--- L limZm = 1 | wuyw Za,, 2wppp qniquidbiun t,
n=1

n—yoo an
tpt L <1, vnwpwibwn t, tpt L >1
q) Unzhp hwpnwihzp
Gpt a,20, n=1;2;--- L lim('/a—,,=L, www Za,, wppp qniquibinn t,
n—yoe o

tpt L <1, nwpwdbwn t, ipt L>1:
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orrvLuULLEP

Jwadty 2wn9h qnuiwnp

)Z(Sn 1)(5n+4)
A - GwlwytiGp 2wpph dwulwyh gnidwnlGtiph hwenpnwywbnipynilp’

1 1 1 1
. =1:2:--- L t =z - '
S,-nd, n=12; oquytiiny (5k-1)(5k+4) S(Sk 1 5k+4)

k =1;2;--- GnyGnpyniGhg hwaytiGp S, -p jnipwpwlyniph ne N hwdwn:

TP S 5 — )_1(1_ 1 ) pti2e
" S (GSk-DGk+4) 55\S5k-1 Sk+4) 5\4 Sn+4 7

lim S, —hml(l 1 ) L

e " =5\ 4 Sp+4) 20

- L
20

2 ;36n +24n 5

A - GyunbGp, np 36n° +24n-5 =36(n—%)(n+%)=(6n-1)(6n+5).

n=12;---: IEwnbwpwp a, =— ! = L , o n=12;-:
36n +24n—5 (6n-1)(6n+5)
N c 1 11 1
Ubwtunp S, =) a, = =—|—-
JHLEE AR S, ;" & (6n=1)(6n+5) 6[5 6n+5)
limS, --hml(1 ! ) L; S=—l— \
noye e 6\5 6n+5) 30 30

n=]

1 (_l)n—l

)Z( Sn—l )
A - "Yhuw (="
nubﬁp Z Z Sn—l

2wnptipp: Lawlwyblp hwiwwwunwuluwlwpwp 4, -nd L B, -ny wyn 2wppti-
ph n-pn dwulGwyh qnidwpGbpp.
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Gy 4,-p L B,-p hwinhuwGnud GG hwiwwwnwuluwGwpwp q, =% L

1
q,= 3 hwjnwpwpGtip nlGtignn Gywqnn Gpypwswihwyws wpngptuhwbph
wewohl 7 wanwdiGtiph gnuiwp:

k=l3k 1_1 2 3"
3
(=3)
w k-1 === n
p=3(-1 -2l ()) e
=\ s 14l 6 5
5

llmA"—llml(l—i)=l, lim B, -llm5 1- (—l) =-5-
n—ee n—e ) 3" 2 n—ow= 6 5 6

Lwih np npywéd 2wppp hptiGhg GEplywjwglned £ nhurnwpydwé gniquidtivn
2wppbiph nwppbpnpyntl 2wpp, www wjyG Lbu qniquibnn t L Gpw S gnudwpp
hwjwuwnp t.

S=o-2=mee. \"

n) Uwwgnighi, np Z T wppp nwpwdbn t:

1
A -Lwlwyklp a, =—, n=1;2;.-
2wlwybGp T Z. i
2wh np {a,} hwgnnnwuwﬁmpjmﬂn Gywgnn &, www
1 1
==t =n, n=1;2;.
V2 J— J_

Npwntinhg htitnlnud £, np lim S, = +eo 2wppp twpwdbin L
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LywuwnbGp, np llma =lim— ! =0:

n—ee n

UjGwbiu, np 2wpph plnhwGnip wlnwdh 0-h dquntinig sh htwlinud wpph
qniqudihwnip)nibp: \%

t) Uwwgnigtig, np Zsin na, a#xm, me Z wnppp thwpwibun t:

n=1
A —8nyg wnwlp, np fuwfuinynid t wpph qniquidhuninepjwlb wGhpwdtian
wwyowhp, wyh t gnyyg tnwbp, np limsinna #0 :

Ghpwnpblp hwywnwyp limsinna=0:
Ujn nbwpnid sin(z+1)a Lu Ydqunh 0-h Gpp n —

limsin(n +1)a = lim(sinna-cosa+cosna-sina) =0
n—oec n—oo

. sin(n+1)a—sinna-cosa
Pwlh np sina #0, www cosna = (n+D) - , n=12;,
sina

npuntinhg bty Yhtiwbh, np limcosna=0:
GYwhp hwhwunipjwh, npnyhbunk guGywgwé » phwlwh pyh hwdwp
sin? na +cos’ na =1, n=1;2;---

UGgGti|ny uwhiwGh, YnlGbGwGp 0+0=1:
twbwpwp limsinrna # 0 : vwhunynud t wpph qniquishunnipywl w-

hpwdtizuin wwydwhp: Cwppp wwpwdbn t: L{wwnblp, np a=1 nkiwpnid Yni-
GtOwGp a, =sinn, limsinn#0: \Y

Q3 )
n=|

A —Twppp twpwibn t: bpnp a, =(=1)""', lim(=1)"" #0: wfunynd

t 2wnph qniquihuinipjwl wihpwdt i wwjswap:
Thuwnpytibp wyu wpph plwlywl n, =2k, k=1;2;--- pytiphl hwiwuww-
unwufuwlnn Zb, fudpwynpywé wppp.
J=1

b=a+a,=1-1=0, b,=a,+a,=1-1=0, b =a, +a, =1-1=0

UGuytiu np Zb 20 0:
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Spywé wpph n, =2k, k=1;2;--- tudpwynpywé wppp qniquibin t,
uwlw)G hGpp' 2wppp nwpwdibn t: \Y
w) Uywgngky, np tpk a,20, a,,<a,, (ne N) www ia,, T}

n=1

oo

22" -a, wppbpp Yqniquihnkt Yuwd YurnwpwihnbG ShwdwdwGwy.

k=0

A —Lwhu wwywgnighGp htnbyw) whnnudp.
bpt D a, 2wnpp npwlwG t (a,20), n=1,2;--, www wyn swnph qnt-

n=1
qwihwnpntlp Ywd wwpwdhunipntlp hwdwpdtip t hp nplt fudpwynpywé
2wpph qniquihwninipjwlp, Ywd tnwpwdhwnnpywip:

bpnp, tGpwnpblp {n,}, k=1;2;-- pGwlwh pytph nplt fuhuin wenn
hweonpnwlywbnipyniG k:

Wuwnltlp Y a, 2unph Y b, fulpwinnyws awnpp, npunbin
n=| k=1

b, =4, . +a"k-.+2 teoeta,, (7, =0, k=12;--)

Epb wju 2wpph m -pn dwubwyh qnudwpp GawlwykGp B, -nd, wuw
B, =Zb,‘ =Zmak =S, .m=12;
k=1 k=1

npbn’ {S,}-p Za,, 2wpph Swulwyh qrudwnpGtiph hwenpnwlwGnupntGa t:

n=l
Uunwgytig, np fudpwynpywé wpph dwulwlyh gnudwplGtph hwenpnwlyw-
Gnipynilp hwGnhuwGnud b uyqplwywi pwpph dwubwyh gnidwnpbbph hwenp-

nwiwinpjwl GGpwhwonpnwlwbnipynil: Lwlh np {S,,} hwonpnwlwbnt-

pnLOp sGwqnn t, www Gpw gniqudhwnnepyntOp Ywd nnwpwdhunnepynibp hw-
dwpdtp t hp nplt GGpwhwenpnwlwinipjwl qniquidhwninipjwl Yuwd nwpw-

Ghwinipyjwl, dwulwynpwwbu’ {S,,_.} GOpwhwenpnwywlnipjwa: MGnnudp
wwwgnigybg: Uydd whgGkGp fubnph nuédwhp:

Whunwnlte Y a, 2wnph Y b, fudpwinpiws 2wnpp, npubn
n=1 k=1

b =(ay +ay, +a,,, +ootag,,), k=12
ewth np {a,}-p Gwqnn t, wwyw qlwhwwbing b, -6 (k=0;1;2;--)

Gtipplhg L Ytiplhg, Yuunwlwip
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%-2**'-%, <bh <2 -a,, k=0;1;2; ™

(pwGh np b, -h gnuiwnbithGliph pwGwyp 247 —2* =2* t):
Uju whhwywuwpnipyniGGliphg htinbknid £ wliniwb §20wpwnwghnipynip:

bPpnp LGpwnpblp 22" -a, wnpp qniquitin t: Un nbiwpntd puwnn (1)-h we
k=0
dwuh wihwywuwpnipjwl L puwn pwnnwwniwl wewehl hwjwnwbhzh Yhtinbh

Zb,( fudpwynpywé 2wpph qniquihwnnigynilp L hbnbwpwp Za,, wpph
k=0 n=|

qniquihwnnipjwip: Gpb 22" -a,, wnpp twpwibin b, www nwpwidtin t
k=0

2 BN | RSP
ZEZI‘ l‘azk»l =Ekz=;2k l'azm

k=0
2wppp, npp hwuwnwwnntd npwlw qnpéwygny L dbY wlnwdny t wnwppbip-

ynid ndwé 2wpphg:
Cuwn (1)-h dwiu Swuh wihwjwuwpnipjwl L pwnnwwndwa wrwehl hw)-

wnwbhzh nwpwibn YihGh Zb,r fudpwynpywé wppp L hnbwpwp punn Gw-

k=0

funpn, fuGnnh wwpwitn YihGh D" a, 2wnep: v

n=l

= 1
p) Gnwqnunt; Zn—P 2wpph qniquihnnipyniip ywhijwd p ww-
n=1

pwdbunphg:

A-Bpb p<0, wyw wppp whGhwjinnpbl nwpwidbn t a, =—l— (np-

nP
nbn p<0 0-h sh dqunud): huwhunynid t wpph qniquihwnnipjwl wGhpw-
dtiaun wwydwhp:

1
YhuwpytiGp p >0 nbwpep: Rwlh np a, =—, hwenpnwlwanip)niGp
n
Oqwqnn t, www Yupnn GGp oquyki Gwiunpn uGnphg:
Yhunwnlble Y 2" - a, swnpp.
k=0
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bpt p—-1>0, wyw (1) 2wppp qniquikn t, npwkiu g =% hwynwpw-

pny waytipe Guqnn Gpypwswihwywb wpngptiuhwih gnudwp: Bpe p—1<0

www 2wppp nwpwdbun t, npnghbnb fuwhwnyti b 2wpph qiquishuninepjwG wa-
hpwdtizun wwjdwap:

Ujuwhuny’ Z— 2wnpp qniquitinn £, Gpt p>1 L wwpwdbun t, Lipb
n=1 N

oo

1
p <1: Uwubwynpwwbu, tipp p=1, Z— 2wnpp, np0 wlywanud GG hwpdnGhly
n

n=l]

2wnp nwpwdbin E: \Y

Mupgty S ———
q) nq1nz=:,na_lnpn

yuwhwé o b f wwpwitnphg:
A -Lwlwytlp a, =

(@>0,6>0) wpph qniquihwnnipjnilp

ﬁ , = 2;3; ..
n“-In” n

bpt @ >1, www guwlywgwé S >0 pyh hwiwn wnppp qniquidkin k punn
p) uGnph L punnwndwh wewehl hwjinwbhzh

1 1
—_— <, n=2;3;...
n*-Infn n®
GGpwnptip 0<a <1 L >0
UWn nbwpnd a,-p Gdwgnn t L hbwnbwpwp Yuwpnn GGp Yhpweby w)

fuGnph wpmyntGpp: thinwnplklp’

o0 oo 21-a 1
2*a, =) 2" ( 1
Z;. 2 § 2t kﬂlnﬂz kz;' ‘nf2 M
(1)-p vwpwibwn t, tpti 1-a >0 L A-0 YuwiwjwywG npwlwG phy t:
l-a n
Npnyhbinnl }im (2kﬂ) =+oo (nlLGp, tpk a>1, www h_r’n = 400,

me N), ipb 1—a >0 www (1) 2wppp gniquidtin t, ipt S >1 L nwpwitin,
= 1

tpt B <1: Ujuughuny puwn w) fulnph Z_aﬁ" wppp qniquitin k o >1,
= h mn

£ >0 Yuiwjwywh
- wvuwpwitnt 0<a <1, >0 Yuwiwjwlwa
- qmquwitnt a=1, f>1
- wwpwitint @=1, 0< <1 v
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n) Uwywgnigti, np Gpk a, 20, (ne N) L Za,, 2wppp qniqudtun t,
n=l|

www qniquidtn t Gwl Z a,f 2wppp: 6h°2n t wpnynp hwwnwly wWenmap.
n=|

A - Cuuwn wnph qniquihnntpjwl wihpwdtn wwjdwGh lima, =0: 36-

wnbwpwn gnynipynth niGh n, hwiwp wyGwhuhG, np a, <1 (n2n,) npwntinhg

YhbwLh a’ <a,, n=n,+1;n,+2;--- wGhwwuwpnipjnilp: Cun pwnnwn-

0wl wnwehlG hwytnwbhzh’™ qniqudtitn Y hGh Zaf 2wpph 1, -pn BGwgnpnw-

n=|

JhG 2wppp L hbwnbwpwp, pun GGwgnpnwihG 2wpph qniquidhwnnepjwh Ybipw-

ptipjw ptinptidh, qniquidtitn YihGh Zaf 2wnpp:

n=|

Swlywnwyp Ghow st:
JdtipgltGp a, =—1-, n=12;--
n

Za’f = Z% <+oo, (p=2>1): Uwluyl > a, = Z% hwpdnGhy wp-
n=1 n=1 n=1 n=|
pp wpwikin t: v

&) Uwywgnigtiy, np ipt a, 20, (ne N) L {n'a,,} hwonpnwlwbnipjnt-
Gp Yybplhg uwhdwGwihwy b, www Zaf 2wppp qniquibun t: \
n=|

A —A8njnpynth ntGh M >0 phy wjbwhuhG, np
na <M, n=12.-

2

M
Nunbinhg UhtinLh @, < -, 1 =1;2;--- L htanbuwpun a, <22 p=1;2;...:
n n

Cuwn pwnnuiniwb wrwehG hwjinwGhoh Zaf wppp qniquitnt:  V

n=1
q) Uwwgnghy, np bpt a, 20, (reN) L qnmpjnG niGh
limn-a,=a, a#0 yuppuynp Ywd whdtng vwhiwlp, wyw Y a, Jwp-

n—eo
n=l|

pp wwpwdbuwn t: \V
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GhpwnptiGp a-0 ytppwynp t: Lwlh np a0, wyw a>0: £>0 phyp
pGuptiGp w)GwhuhG, np a—-€>0.
A-Qnnpynih nbh ny(e) plwywG phy wjGwhuhG, np n-a,>a-¢,

n2n,: Ywd np GnyyGa t a,,>a——£, nzn,:
n

Ujuintinhg, punn pwnnuwndwl wewehl hwjunwbhoh, Yhtinbh, np Zan

n=1

— a—&
2wnph 7-pn SGwgnpnwihG wnpp wwpwdbn t () —, 2Wnen wupw-

n=ny,,

dbwn ) L hbinbwpwp tnwpwdbn t Zan wnpn:

n=|

Gpt a =+oo, www oqunytiiny whytipg dtidh uwhdwbnidhg, qunGkbp 7,
piwlwh phyG wybwhuhG, np n-a,>1, n2n, Ywd np GnyGtG t a, >1/n,
n2n,.

CwpniGwynipyniGp Gnyl duny hGswbiu Ytplh nbwph hwiwnp: \Y

t) Uygwgnigtiy, np tpb Za,f T Zb,f wppbpp qniqudtn 6G g, 20,
n=|1 n=1
b, 20, wyw Y ab,. Za—", > (a,+,) qwnpbipp qniquitin bG: \%
n=1 n=1 n=l

a’ +b’

2
n=1,2;--- wGhwjwuwpnipjnibhg, qniquikGun pywjhlG wpptiph hwiwww-
nwuhuwb hwwnynpyntGltiphg L pwnnuwwndwb wewehl hwjwnwGhhg:

A- Za,,b,, 2wpph qniquihwinipynilp hbwnbnud £ 0<aq, -b, <
n=1

za—" 2wpph qniquihwnipyniGp htinnbinid t Gwiunpnhg, npwtiu b, Ytipg-

n=l|

Gty b, =l, n=1;2;--- hwenpnwywbnipjnibp:
n

ib:=i—]7<+00,(p=2>l)
n

n=l n=l1

Bwhnp Y al, 2-) ab, b Y b awnpbipp qniquitin GG, wuw puwn
n=1 n=1 n=1

qniquibn Jwpptph  hwiwwwwnwuluwG  hwnynipjwl, qniquitin YhGh
GpwGg qnudwp 2wppp’
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i(a"+b,,)2—2a +2- Z "+ib3 v
n=1 n=|

n=|

ooy ww Y, gup-

n=l1

p) Uywgnigl, nppt g, >0 L a,,,<a,, n=1;2

ph aniquihwnnipyniGhg hbwlnd t limr-a, =0: Ghawn t wpnynp hwlw-

nwl wyGnnudp: \%

A-Lwlwlblp' S, =) a,, n=12;---
k=1
NuGkGp lim S, =S, npuintinhg YhtinLh lim (S,, =S, ) =0 Y, np GnuyGa &

2n

lim " a, =0
"% k=n+1
2n
wlh np Zaan'a2n>0
k=n+1

pwGh np gnidwpbihGeph phdp » t L npwlghg wikGwihnppp a,,-p), wwyw
limn-a,, =0: Npuntinhg Yhtinbh hm2n a,, =0: Ujntu Ynnihg’

n—oo

0<(2n+1a,,,, < (2n +1a,, =2n-a,, +a,, 50

tipp n-p dquinid £ +oo : Uinwigylig® {n'a,,} hwenpnwlwbnipywh qniyq L YtbGunn
hwiwnGbpny tGpwhwenpnwlwnipynLbGGtpp qnuquidhuinnud GG 0-h:
twnbwpwn® limn-a,=0:

1

Jwhwewyp Shawn st. ophlwly™ a, = o n=2;3---,a,>0, a,,, <a,,
n-Inn

n=2;3;--- L limn-a, -llmlnL 0, uwyw)G Z—ll— wnpp tnwpwdbin t:
n—yoo n .

Oquytiiny Z— (¢>0) 2wpphg L wpptiph pwnnwndiwh hwnwGh;-
n=l

Gtiphg, hnnwqnunb| hbunbyw) awppbiph qnuquidhunnepynllp:

9n+1-+4n-1
)Z\/ n \/ n—
n=| \/n +3
A - Lywlwykap
Jon+1-an-1
a,= —];2;...
{‘/n3+3




4 J9n+1—J4n1 5n+2
g Yn® +3 \[n +3(J9n+1+J4n 1)

n=1;2;--.

1

3t b inbkiulGby, np {n“ a,,} hwenpnwywbnupyniGG nGh Ytpowdnp 0-hg

wwppbip uwhdwG: bpnp
I
s
l
llmn“ -a, =lim

gIzizam)

5+Z

=lim
n—yee 1 (3+2)
l+—[\[ +—+ \/ -—)

PwbGh np p= _Z <1, wyw puwn ybipp qpwéd wwydwbh 2wppp twpwibin

k: ItrhwgnuntiGp GnyyG wpph nwpwdhunnepynip oquytiiny pwnnwwndwh w)
hwjinwGhzhg

_ Sn+2 n=l2n.
{‘/n3+3(\/9n+1+\/4n—1)’ T
QGwhwuntilp a, -p GtppLhg
_ Sn+2 > Sn _
Y +3(Von+1+an=1)  Yr’ +150° (Von+Tn +/4n)
= 5n =.§_. 1 n=12-

2n* (4 +24n) 12 "

Lwbh np b, = 1—-%-@ pGnhwGnip wlnwd nGtgnn 2wppp tnwpwdtin t,

www punn pwnnwundwi wawghG hwjunwbhzh tnwpwidtn Z a, juppp: V

n=1

)z\/n +5n? —\/n +4n’
=l \/n +1:lnn
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Jn +5n% —n +4n

A-Lwlwykbp a, = , n=23;--- L wo
Jr+1-Inn
qhwlwhwuwnbiGp GLpplhg
Nr+50 =’ +an* n’ S
" J +1-Inn x/n3+l-lnn(\/n3+5n2+\/n3+4n2)
n’ n’ 1 1

> - ———
Inn-an® +5n° (\/n3+8n3+\/n3+8n3) 3Wr' -6Jn’ -Inn 18 nlnn
n=2,3;---

Lwlh np ZT 2wppp puwn 19-h q) Ytivnh nwpwdtin t, www npwéd

n=2 N

2wppp puwn pwnnwniwl wrwohl hwjnwbh2h Lu nwpwdbn t: \%

\/n +5n —\/n +4n°

>Z

\/4n +1- \/ln n+l
Jn +5n% =Jn +4n?
Jard +1-yIn* n+1

NP +5nt = +an’ n’

Van® +1-VIn’ n+1 \/47r13+l-\/ln3n+1(\/n3+5n2 +\/n3+4n2)

A - LwlGwytGp a, = n=12;--

1
3tz2w t GYunty, np {a,;p b b, =——, (n=2;3;:-) hwenpnwlw-
ta.) nvin® n

GnepyniGObGpp OpLGnyG Ywpgh whdtpe thnpp hwenpnwywbnipyniGGbip GG:
Gnumt {e,} u {B,} whtpg thnpptinp Ynsdnus 6G ShubnyG Gupgh whlting

thnpp, tipti Gpwlg hwpwpbpnipjwh uwhdwGp 0-hg wppbip ytpowdnp phy t):
bpnp’

‘%— P

wGh np Z 3/2 2wppp puwn 19-h q) Ykwh qniquistin t (=1,
n=2 N

3
p= 3 >1), www wpywé Jwppp puwn 20-h q) Ybwnh Lu qniquistin t: \Y
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n
Cos “n

3
" gds 4n’ -3

cos3£"
A -LawlwykGp an=\/—_—, n=1;2;-
Jan’ -3

QGwhwwnbtiGp a,-p Gtpplhg: RwGh np cosx  dnlyghwl Gwaqnn t

[O;%] -nud, wwjw

Cos£2cos£=l, n:l’z’
3" 3

>l__l =_l_l n:l,z,

a,> .
" 23Yan’+280° 4 m

1 1
LwGh np ZZ_ wppp nwpwdtn b (p=1), wwyw wpywé wppp putn
n=1 n
pwnnwwndwa | hwynwGhzh tnwpwdbn t: v
Oquytiny YUwiptph hwjpnwbhzhg, 2uppp hEnmwqnink, qniquidh-
wnnLpjwlh mbuwltnhg

= n!(3n)!
u) ,,z:,‘ (4n)!
3 _n'Gm!
A -Lwlwytbp a, = an! n=1;2;
a,, (m+D!'Bn+1)+-@n)!  (n+1)(3n+1)(3n+2)(3n+3) _
a, - (4(n+1))!'n'(3n)! B 4n+1)(4n+2)(4n+3)(4n+4)

o

(332542 -
T ) )o)

eI

n
3+1)(3+3)(3+§)
a1 n n n)_ 27
hm-= =2 . 2Y(. 3) 256
a4 "*(3+—)(3+—)(3+—)
n n n
wnpp qniquitin t: \Y%
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=147 ----(3n=2)
P) ; 2" - (n+1)!
A-VpwGubtp a =24 72Gn=2D) o
2" (n+1)!
a, 147---(3Bn-2)3n+1)-2"-(n+1)! _(3n+1) _3+1n

ntl _

a 2 (n+2)41-4-7--3n=2)  2An+2) 2+4/n

. a . 3+l/n 3

lim—2 = lim ==>1 2wppp wwpwdkwn t: \Y

no= g no=244/n 2 2iinep tnwn

Oquytiny Unzhh hwjunwGhzhg, 2wppp hGnwqnunt; qniquidhune-
pjwl wmbuwybuwnhg

o 4n+1

4n
A - Upwwlyblp a,,=3"-( dn ) L n=12;
4n+1

(’/a—"=3n'( 4n )4"2 =3". 1 = 3

4n+1 4n+1)“" (1+1/4n)"
4n

wGh np (1+1/4n)4" hwenpnwlwanipynilp (1+1/n)" hwenpwlwGn-

pjwl bLGpwhwonpnwlywbnipyns £, www 1im(1+1/4n)4"=e: tinbLwpwp

}"E" a, =,1.i2m=2>1 wppp nwpwdbn t: \%
=~ 4n o
6"
p)g (4n+1)
On
A - LwlwykGp a,,=6"-( 4n ) , n=12;---
4n+1
4n \" 6 6
d?‘—,,-=6' 4 +1 = 9n= an?
n (4n+1) [(1+1/4n) ]
4n
PEdZ:g_,m.[(—;)MT:e%(l’ wnpp qniquidtiun L: \%
1+1/4n
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bppwnbiny Jwpbdwwnphywlwl hGnmlyghwip uyqpenilpp’ wwwgni-

gti, np gwGywgwé ne N pdh hwdwp 80wppn 56 hbinlyjuwy hwyjwuw-
ppyntGGEpp

1.

2.

3.

10.

11.

12.

13.

14.

18.

16.

1+2+3+---+n=n(n+1)

14+3+5+--+Q2n-1)=n’
2 _n(n+1)(2n+1)
e
_n 2(n+1)?

P+2243% 4. +n

P+2°+3+-+n

n(4n -1
3

P+3+5+--+Q2n-10 =n’(2n* -1)
n(n+1)(n+2)

3
1-242-5+3-8+--+n(3n-1)=n*(n+1)
2:2°+3.2' 442+ 4 (n+1)- 2" =n- 2"
n(n+1)(n+2)(3n+1)
12
n(n+1)(n+2)(n+3)

4

P+3 45+ +Q2n-1)’"=

1:2+42-3+43-44+---+n(n+)=

1.2 4233 +3-4 +--+n(n+1)’ =

1.2.342:3-443:4.5+---+n(n+1)(n+2) =

1 1 1 _n

—_ 4.4 =
1. 35 5- 2n-H(12n+1) 2n+1

1 1 _n

et =
11 11-16 (5n-4)(5n+1) 5Sn+1
l)(l-i) ..... oL |on+2
9 16 (n+1)* ) 2n+2
4 4 4 1+2n
1——ll1=—----- 1- > [=
9 25 (2n-1) 1-2n
1 2 3 n 1
— t— 4 — et -
141 (n+1)! (n+1)!
3
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

72

1 3 5 2n-1 2n+3

—t Sttt ——=3-—
2 22 2 2
1 + 2 + 3 st n _ n(n+1)
1-3-5 3.5.7 5.7-9 2n-1)2n+1)(2n+3) 2(12n+1)(2n+3)
/4 27 KY 4 nmw nw (n+)rm
sin— +sin— + sin—+-- -+ sin— = 2 - sin— - sin
3 3 3 3 6 6
. nx . n+l
sin—-sin——x
sinx +sin2x+sin3x+---+sinnx = . 2
sin—
2
nx n+l
sin—- cos—x
cosx+cos2x+cos3x+---+cosnx = 2
sing

\/2+\/2+---+\/—2_ = 2-cos% (dwfu dwuntd 7 hwwn wpdwwn)

Uunnigbip, np gublywgwé m,ne N (m < n) pybtiph hwiwp
w)yCr=C"; pCr =Cr+Cr

Uwwgnighby| UyntinnGh Gplwbnwdh pwlwdlp
(a+b)" =) Cta"™* b (neN)

k=0
Oqunytiiny LjnuinnGh Gpywbnwdh pwlwdbhg” wuwwgnighiy
w) > .Cr=2"; P Y (-1 -Cr=0;
k=0 k=0
Q) (d+x) > n(n—l)(n—2;c-'----(n—k+l) 2 (x20);
n) 4’/; <1 +i:
Jn
Uhpwnbiny dwpbdwwnhbwlwb hGnniyghwyh uyqpnilpp’ wwwgnighif, np

gwllywgwd ne N pyh hwiwp

w) 7’ +5n-p wnwlg SGwgnpnh pwdwGyncd t 6-h;

p) n’ —n-p wnwig SGwgnpnh pwdwGynid t 30-h;

q) 12" +10-p wnwGg 0Gwgnpnh pwdwGynid t 11-h;
n) 5*"*' +4™? -p wnwlg dGwgnpnh pwdwGynid t 21-h;



b) 6> + 5™ -p wnwGg dGwgnpnh pwdwGynd t 31-h;

q) 4" +3™? -p wnwig dGwgnpnh pwdwGyntd t 13-h;

t) 2°"* —7n+ 41 -p wnwig dGwgnpnh pwdwGynid t 49-h;

p) 10" —=9n —1-p wnwig dGwgnpnh pwdwGynid t 31-h;

p) n(2n* =3n+1)-p wnwig SGwgnpnh pwdwhyncd t 6-h;

d) (6*"2 +3™" +3"") -p wnwlg BGwgnpnh pwdwhyntd t 11-h;
h) (5-2°"% +3"")-p wnwlg dGwgnpnh pwdwhyntd t 19-h;

D (11" +122") .p wnwhg 8Gwgnpnh pwdwGyncd t 133-h;

i) 3*™' +40n-67) -p wnwig SGwgnpnh pwdwaynid t 64-h;

) (n3 +(n+1)>’ +(n+2)° )-n wnwGg GGwgnpnh pwdwGyntd t 9-h;

Uwwgnigby, np Gqwé pGwlwl pybph hwdwp 8dwppwn t wGhwyw-

uwpmpynlp
-
28. (2n 1)"< ! ; n>1
2m!!  J3n+1
29. ;+ ! +--- L>E; n>1
n+l n+2 2n 24
30. ! + ! +oo 4 1 >1; n>1
n+l n+2 3n+1
31.£<1+l+l+---+ <n; n>l1
2 2 3 2" -1
32 \/;<1+L+L+---+—l—' n>1
NPIINE] Jn’
33. 2" >2n+1; n>?2
n(n-1)
34.2 2 >n!; nx3
35. "' >(n+1)"; n2>3
36. n!<(£) ;n26
2
37. & +b 2(a+b) ; (a;b>0)
2 2
38. |sin(x,+x2+~-+x,,)|$sinxl+sinx2+---+sinx,,; 0<x,<nm),

k=12;...,n
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39. |sinnx|<n|sinx|; n21
40. Uwwgnigti| PEnGnLihh wihwywuwpnipynilGGtipp
w) guwllwgwd x > -1 pyh L gwiywgwé n phwlywb pyh hwiwp

(1+x)"21+nx

Uwnnigtig, np tipp 7>1, hwywuwpnepynibp wnbinh nuGh ShwyG x =0 nbw-

pnud:

p) bipk x,,x,, -+ x, pytipp ShlGnt)G GawGh b0 L 566 GG (-1) -hg, wuwyw
A+x)(d+x,)---- A+x)21+x +x,+-+x,

41. Oquytiind PLnGnihph wGhwywuwpnipynbhg’ wwwgnigti, np gqulyw-
gwd n>1 plwywh pyh hwiwp

(n+l)"

— | >n!

2

42. Spwé LG x;,x,,---x, npuywh pYtipp: Uwpbdwwnhywlwh hGnniyghwyh

tnwlwyny wwwgnighky, np
w) bpli x, - x,, 0 x, =1, www x; +x, +---+x, 2n;

X, X. X, X
p) _|+_l+...+”_‘l+_"2n;

X X X, X
X, +x,+:-+x
1 2 .
q) xl.xz ..... L S n ;
n
-1
1 1 1
— e —
X, X. X,
1 2 ’ .
n) " n Snxl.xz ..... X, ;

b) Gwiunpn Ytivbiphg jntpwpwbgnipnd hwydwuwpnipyniGp wntinh nuGh
Opwyl wyl nbiwypnd, Gipp x, =x, =---=x,:

43-45 [ulnphpGEpmd GGpwnpdmd t nhunwplyynn pwqdnipyniGGlph
vwhdwGwihwly (pGEIp

43. Yhgnip X c R L - X ={x:—x € X}: Uywgnigbi, np
w) sup(—X)=-inf X ; p) inf(-X)=-sup X :

M. hgnip XcR, YcRLZ={z:z=x+y,xe X, yeY}:Uywgnighi, np
w) supZ =sup X +sup?;
p) inf Z =inf X +inf Y :
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45.

47.

48.

49.

50.

52.

54.

Ohgnip X < (0;4+0), Yc(0;+0) L Z={z:z=x-y,xe X, yel}:
Uwjwgnighil, np
w) supZ =sup X -supY ; p) inf Z =inf X -inf Y :

. Uwwgnighig, np X < R ng nwwnwply pwqinipynilp uwhdwlwdwy t wyb L

Ohwjl w)l nbiwpney, tpp qnynupym mGh 4 >0 phy wyGwhuhG, np qui-

Ywgwé x € X wnwpph hwiwp inbnh nibh | x |< 4 wGhwdwuwpnipyniGp:

Nhgnip 4 -0 uwhdwOwihwly pwqinepynil t: Uwwgnigtby, np

w) A4 -h gwlywgwsé tiGpwpwqintpyntl uwhdwGwihwy t;

p) Swlywgwé B pwqinipjwl hwiwp 4NB L A\ B pwquinpymGGtpp
uwhdwbwdwly GG:

q) bpti B -0 uwhdwGwihwy pwqinpna t, wyw AUB, 4+B L A-B
pwquintpyntlGGtphg jnLpwpwbsjnipp uwhdwGwihwy t:

Uwwgnigtiy, np
w) sup{fll-:neN}=l; p) inf{-ﬂ:neN}=0;
n n
Q) SUP{(_I) Z"GN}=1; n) inf{(_i:neN}=—l;
n 2 n
b) sup L-sinﬂ:neN}=£;
n+l 3 2

qQ) inf{L-sinm:ne N}=——\/—5 :
n+l 3 2
Uwwgnigtif, np gullwgwé X < R L Y < R ng nuunwpl pwqintp)nGGt-
ph hwdwp
w) sup(X UY)=max{sup X;supt};
p) inf(X UY) = min{inf X;inf Y}:

Uwwgmgty x, hwenpnwlwbnipjwl vwhdwlwhwlynipjniGp

0 51, x, = 1-n
KA " Jnt+1
=2si ! _1\
x, = 2sinn'+3cosn 5. x”=2n+( 1)
3n-5
2n’ -1 3n’ +4n+5
X, = 55. x, =~
" 2430 (2n+1)
10n-7 7. x Tn+8
X, = —— X, = ——
Y25n* -9 J157° -7
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5n° +6 __ 1M +9

58. x, = ——o 59. x, =— -
(" +1)(7* —5) G’ —2)(5-8n")
60. x = J5n® + 4 6L x = Yan® +3
T Jan+1(5n-2) " GBn=2)¥2n -1
62 _Un*+2n-n’ +2 6. x _2n° +6n -4’ +5n
o 3n-2n* o 2n-3n’
64 V' +5 65. x, =Vn’+n-n
(2n+3)( n+1)
66. x, =n(\/n4+n-—\/n‘-n) 67. x, =Y9n—n’ +on+n’
5
68. x, =~ 69. x, = —
3 nooogn
n+l n 2n+3 n
0. 5, =0 *3 7M. oz, = D
5n+ _3" ]_25"
2
7y 5 - 1E1N+10 7. x, = lgntlen+)
" 3lgtn+7 n +n-lg(n+3)

4. "=1g(\/;12_+1—n)—lgn 75. x Z

k(k +1)

"
76. x 77. =
E(zk 1)(2k+1) *n §k(k+z)
LN T G — 79. x, = 1
o 2k(Qk+1) 2(n+1) i (a+(k=1)d)(a+kd)
: k
X =

" 2k —1)(2k +1)(2Kk +3)

hGsyhuph® p,q, 0< g < p wpdbpGbph hwdwp hwenpnwlwbnipynilGp
YihGh uwhdwlbuwhwy

81. x, =n" +n +1=yn’ —n? +1
82. x,,=§/n”-n"+1—3/n”+l
83. x, =§‘/n”+an"+1—{‘/n”+bn"+1, (a#b)

84. x, =Vn’—n+l-p-n—q
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_3n*+5n-1
© 2n+l
86. Uwwgnighif, np Gpb x, L y, hwenpnwywbnipyntGbbpp uwhdwGwhwy
60, wyw vwhiwlwthwly GG Gwl htnbjw hwenpnwlwanipyntGhbpp’
w)a-x,+b-y,, (a,beR); p)x,-y,
87. Uwwgnigti, np tpt x, hwenpnwywlbnipyniGp uwhdwGwihwy t, huy y,
hwonpnwywlnipynibp pwdwpwpnd £ |y, |2C  wwydwGha (C >0),

85. x

n

_p.n—q

wuwjw n hwonpnwlwbnip)ntlp uwhdwbwihwy t:

n

Uwwgnigby, np x, hwenpnuwlwbmpyniGp uwhdwGwipwly st

88. x, =(-1)"Vn 89. x, =2n’—n+1
1-n 2-n
90. x, = —— 91. x, =
\/; vn+3
=pV cosZn
92. x,=n 93. x =(n+1)""2
sinZn _Aa(-h)"n
9. x, =(n+2) 2 95. x,=3
%. x, =22 97. x"=%
2"+5 n
4" -3" n-lgn+3
98. = 99. x" - —
KT 5+n-lgn’

100. x, =\/n' +7° +1-n* —=n’ +1
101. x, =31 +5n> +7 -Y2n* +5n* -9

"
102. x, _-_-ﬂ‘_‘_
n-n!

Uywgnigly, np x, hwenpnwlwlGmpyniGp dnGmnnG (h Ylipgn dnGn-
unG) t b wwpqb| dnGninnGmpywb plnypp

103, x =>n+4 104, x, =
T on+2 -1
2
105, x =—00" n+24

n 106. =
n* +16 KT



= —6n? 1-
107. x, =n" —6n 108. n

" Jn
3 2
109. x, =— 10. x, ==
n -3 n’ +32
111. x, =\/3n-2 112. x, =vn+2-vVn+1
113. x, =Yn’ -1-n 114. x, =\n’ +n-n
115. x, =2" -100n 116. x, =3"-2"
n+l n+l n
17, x, =2 118, x, ==
6" +5" n
119. x, =In(n+1)-Inn 120. x, =In(n* +9n)-2Inn

121. Uywgmgli, np bpt x, hwenpnulwlnipyniGp dnGnuinG £, www
y, =l(xl +x, +---+x,) hwenpnwlwGnipynibp GntjOwtiu GnGnunn t
n

122. Uwuwgnighi, np pt x>0, www x, =(1+x/n)" hwenpnwywiGnipnilp

wann t
123. Uwwgnigti, np

w) x, = (1+2L) hwenpnwlwbnipyntlGp wénn t
n

n+l
p) x, =(1 +—) hwonpnwlwGnipjniGp Gwqnn t
n
124. b°0s wnGsnipjwl whbwp t pwywpwnbl a,b,c,d pybipp, npwbiugh
b
w) x, =L:d hweonpnwywbnipynilp thGh h Ybpen wénn
cn

an+b
p) x, = P hwonpnwlwhnipynilp LhGh h Ytipgn Gwaqnn

Uwwgmgby, np x, hwenpnwlwbmpyniGp dnGninnG st

128. x, =(-1) 126. x, =n+(-1)"

127, x" =lsin£n 128. x" =Ssinn
n
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1
129. Ohgnip x, =a>0, y,=b>0, x,,+,=5(x"+y,,), y,,+,=1%(x3+y:),

ne N : Uywgnighy, np
w) y,2x,, n22;p) x, hwenpnwlwGnipjniGp wdnn t (n>2);
q) y, hwenpnwlwlbnipjniGp Guqnn t (n22);
|b-al.
4
130. Uywgnigli, nptipti x, =a>0, y,=b>0, x,, =\/JE ,

n

yn+l —xn+I| <

Vnnt =%(x,,+y"), ne N, wyw

w) x, hwenpnwlwbnipynitlp wénud t, huly y, hwenpnwlwnipinilp
Guwqnui t; p) x, L y, hwenprwywGnpynGGEpp uwhiwGwihwy GG;
<Jb-a|

2"

Q) yn+l - xn+l

G1G6ny hwgnpnwlwlnipjwl vwhdwGh vwhdwGndhg' wwwgnighi
hwwuwpmpyniGp

131, lim—2 -2 132, im3=3"_ 5
—e3n+4 3 o Gp —1 6
133, im0, 134, lim2nt D" _
ne 2n-35 e §5_3p
2 . _
135, lim "4 g 136. lim (Vi +2 -Jn+1)=0
e 42
3 4 2 _
137, fim < dn+¥n+1 1 138, lim 3+l _ 1
n—-o 2%/;;_'_3 2 nso 7 -2n-10n 2
C 3Wnr+1-1 3 140. limgq" =0, |g|<1
139. lim—mM8M8M8Mm—=— n—w
noo  Sp—2 5
141. ,1.1-2 log, ., 3=0 142. limlog; 2+l _ 2
n—w n
.sin(n! 2
143, lim 2S00+ R T N
nso 2p° +S5n+1 n-w 10n2+7n+1
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Uwuwgnighi, np G2dwd a phyp inpdwd hwenpnwlwbnipywl vwhdw-

Gp st
145. Jc,,=5n_1,a=E 146. _2n -3 a=2
4n+1 5 I
8n+5 9 1172 -4
147. x = ,a=— X = g=-—
" on_4 10 148. x, et a=-10
- 2
o, x =3 5.8 150 x, =20 23 42
3-Tn 9 " 5-3n’ 5
151, x, =20 g=_2 152, x, ==L 41
6n+2 8 Tn® +1 3
153, x —o8n+2 154 x =231 53
6lgn+7 " 443" 2
155. x, =Jn+3-vVn+5, a=-1 156. x Jn+ —n __l
. X, 2\/._ , 3
2 !
157. x,,=11—,a=1 158. xn=w, =
2" 5n° +3cosn!
Uwywgm gty hwywuwpnipyniGp
159. lim4—\/; =0 160. lim Sinn =0
n-w n n=op
"+ 4" 162. limlog, 4=0
161. lim>—% g rm Bn
nso  §"
. k
163. }'1_{22—=0 164. llm——O (@a>1,keN)
n—baoa
" .
165. limZ- =0 166. lim—2<" _ 0, (a>1)
nso pl noo  p
167. hm«/— 1, (a>1) 168. lim{/;=1
169. lim/lgn =1
now 170.
,._m‘/_
171. Pipt| Gpynt whGytipe thnpp x, L y, hwenpnulwbnip)niGGtiph ophGuly-
Gtp, npnGg hwiwp
w) limﬁ-=0, p) lim—=oo;
n—wo y” n—wo y”
X,

80

q) limx—"=a. (a=0);
n-noy

n

n) lim == -p qnjnpyntG sniGh:
n—»e0 y

n



Uwwgmgtby, np x, hwenpnwlwlnipniGp whybpy 6o t

172. x, =(=1)"n 173. x, =3n-2/n

2 — N
174, xn=n +3 175. x, =q" (|q|>1)

2n+1

176. x, = 21+ 1) 177, x, =242

2n+1 "2"45
178. x, =lg(n’ +n+1) 179. x, = n(N2n+3 —2n+1)
180. Ptpb| Gpynt whytipg 0ti6 x, L y, hwenpnwywhGnipynGGEiph ophGwyGtp,

181.

182.

183.

184.
18S.

186.

187.

npnlg hwdwp

w) lim—==0, p) lim=2 =0
n—w y” n—w y
. X . X
q) lim—*=aqa, (a#0); n) lim—-p qnjncpynih sniGh:
n—»w y" n—oo y”

Uwwgnigli|, np tipt x, #0 L limx, =0, wwuw L hwonpnwywGnipjnt-
n—»w x"

Gp wGybpg vkid t:
Uwwgmgti|, np Gpti x, hwenpnwlwbGnip)niGp whdtipy d6é t, www

ufuwd npn hwiwphg Ywpbh b uwhdwGb i hwonpnwlwbnupyniG,
xn

npp YthGh whytipg thnpp hwenpnwlwanipynib:

Uwwgnigliy, np Jbpgwynp pwlwynipjwip whytpg thnpp hwenpnwyw-

GnupyniGGlph qnudwpp, wpuwnpuip wGybpe thnpp hwenpnwywbne-

p)ntG t:

Uwuwgnighi|, np qniquidtivn hwenpnwywGnipynibp uwhdwbwihwy t:

Uwjwgnighi, np h ytpgn hwuwnwwnni b hwenpnwlwbnipynilp gniquidbn k:

Uwwgnigli, npwtiugh a phyp hwlnhuwlw x, hwenppwlwbnipjwh

uwhiwG, wehpwdtwnn £ L pwdwpwp, np x, —a hwenpnulwbnip)nibp

thGh waGytpg thnpn:
Uwwgmgtii, np tptk x, hwenpnwwGnpjwl tpynt LGpwhwenpnuwiw-

GnupyntGGEp dquinid GG wwppbip uwhdwGGtph, www x, hwenpnwyw-
GnipynLGp qniquudbin st:
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Uwywgmgby, np x, hwenpnwlwbnipyniGp vwhiwbuhwy t, puyg
gmquubuwn st:

1
2+—, tppn-p qnugq t
n

188. x = (-1)" 189.x, =1
3-—, bppn-p Yeluw t
n
— n n+ — n
190, x, = 17D 191, x =2+
4 5"
+1 . 1 n
192, x, = G 2 193. x, =4(1——)+(-1)
n n
194, x =nCoSm7 1 195, x =L4cos™®
2n n 2
n’ nz 2 r
196. x, =2 +———-cos— 197. x, ==1+———-sin—
n°+1 3 n°+2 2
198. x, =sinn 199. x, =cosn
200, x, =2 2 201, x, =3 2

Uwwgnigby, np x, hwenpnwlywlnipyniGp vwhdwGwhwly st, puyg
whybpg UGO st:

202. x, =n" 203. x, =n(1—(—l)")
204. = cosnn sinln
=0 205. x =n" 2
206. x, =n’ cos%n 207. x, =n’sin=n
n 2
+(- :

208. x, = FCV 209. x, =" LGin %,

2 n+l 2

Oqunybiny dnlnunnG hwgnpnuwlwGmpjwl qniquidhnnipyjwl Jbpw-
pbnywy pbnpbdhg’ wwwgnigly hwegnpnwwlGnipjwl qmiquidhunnipyniGp

210, x =1 211, x, ==
3n+7 5n+3

212, x, =1 213, x, = 2"
n°+7n+1 n°+3n+2
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214. x, =

216.

218. x

219. x

220.

221.

222.

223. x,

224. x

225.

226. x,

227.

228.

229.
230.

231.

X, =}/2+\/2+-~-+\/51

n hwan

1 1 1 1

-t
"T1.2 23 3.4 n(n+1)
11 1
=—t— ot
1-5 59 9.13 (4n-3)(4n+1)

Uwuwgnigti|, np tpb dnGnuinnG hwenpnwywGnipjnilp uwhdwGuwhwy st,
www whytipy dGs L:

Oquytiind GpwGhg, np x, =(1+1) hwonpnwywbnipyniGp GnGnunG
n

n+l
wdtiny, huy y, =(1+1) hwenpnwywGnipyniGp dnGnuinG Gwqbiiny
n
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dquinuld GG e pyhh, wwwgnighy _1+l- < ln(l +l) < 1 , ne N wGhwjw-
n n

n

uwpnipniGp, npuntin Gawlwyjws t Inx =log, x :

3wyt hwenpnwlwlnpjwl uwhdwp

I 3t +n-2

232. Iim

234.

236.

238.

240.

242.

244.

246.

247.

249.

251. 1

253.

84

ne 4n® +5n+1
(27 ~3n+4)
ne| 4—4n—5n

. (l+2+---+n n)
lim| —m8M8———
n—seo n+2 2

. 2n* +3n+7
lim——
n>o] 424 4n
1+43+5+---+(2n-1)

lim >
3n° +2

n-»w

P+22 4 +n?
n +1

lim
lim 1P +3%+.-.+(2n-1y
nso  2p’ +5n +3n-1

lim

li_r’g(\/n(n+4)—n)
hm(JnT «/_) N2n+1

vt +3-n
Ly e B

2n—+4n* -1

n+3-n

lim

n—>o

233.

235.

237.
239.

241.
243.

245. lim

g (ev3) e 2) o
—({a+=| +|a+=| +---+
"—)wn n n

. [(nP+1 3nP+1
lim -
nsol 2p+1  6n+1
4 4
fim (1D =(1=1)
" (2 +1) =(n 1) ](n+1)
1+4+7+---+(3n—2)_3n+5)
n+2 2
1-2+3—+(2n=1)-2n
Jnt +1
1-243—-+(2n-1)=2n
Y8n* +2n+3+3n
. [12+22+---+n n)
lim > -
n—»eo n 3

(n+3)° +7n"
e (4n” +7)(5n® +3) +n"

n-—l)z]
a+—
n

lim

n—wo

lim

n-—»w

lim

n—>wo

248. hﬂ(m -«/;)

250.

252. 1

254.

1imn2(,/4+%-2)
n—»o0 n
\/n +1-n? -1

""°°\/n+n n-1

lim \/n +2 - \/n -1
""”\/9n +6n+2-3n-1




25S.

257.

259.

) V' +4-n
lim

o fn2 15 _n? +1

3n—-\9n* -4

4n’ +2 -2n

lim Jn*+5-n

Vnt+9-n

lim

n—-w

261. lim

263.

265.

267.

269.

271. lim

273. lim

27S.

277. lim

fim —— Nn*+1-n
I Tt el
lim(\/3 5n* —n’ +n)

n—w

lim(x/3 n® +2n? —n)

n—w

lim(\/3 n-n +n)

n—Hwo

2n+l + 3n+2
+ 2n+2

n—e 3’”"

_4_5n+2
+16-5™"

5.2"
n-10-2"

142427+ 42"
noe | 4+54+5% 4. 45"

256. lim

258.

260.

262. lim

264.

266.

268. |

270.

272,

274.

276.

278. li

Jnt+3-Jn? -1

""‘”\/n +2n+3-n-1

fim Vnt +1+n
n—»wm Jn

lim(2n+3)(3 8+

321+1 _9
n+n

I 6cosn’ +3n _Eln2 +4n
2n-1 7-8n®

31_4n-—;3 —l)
S5-n

,a/ 2241 5743

4n° +5n

N —5m)1+6+11+---+(5n—4)
7 +4n’

n-—»o0

lim(5n-4)

n—w

lim(3-4n)

"—bﬁ)

lim

n—»w

(sin3n+cos3n _ 4n* +3n
V2n+l1 9-5n’

lim

n—»w

1 1 1
—_—_— e
1.2 2.3 n(n+1)

lim

n—»wo

_+L+...+ 1
1.5 5.9 (4n—3)(4n+1))

lim

n—wo

b1 )
(2n-1)(2n+))

lim ——-+L+---+ !
ol 1.4 4.7 (Bn-2)(3n+1)
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1 1 1 1
279, lim—e| — L oy
"*“J;(«/TNE J3+45 @z-1+J2n+1)
280 liml(—l—,u___l et 1 )
B B P N Y Y e Yo
281, lim| &+ 224 133 43 +"2
=10 100 1000 10
3n n
282. lim 1+Z) 283. lim 1_2)
n—»a0 n n—>co n
2n / n+l
284. lim 3"+5) 285. lim l—i)
nso\ 3p+2 ey n
n _ 2J;
286, lim| J1+ 21 287. lim 1+(Jn+1-JZ)]
n— Jn+2+ﬁ n—oo |

288. lim

nool  \n+1

a,-n"+a-n""'+..-+a, -n+a,

el =2 Sp+2

! (n*+1 an?
Jn+l+3 )7”2-7"“ 289. lim -

290. lim -
n>o by-n® +b-n"" +---+b _ -n+b,

291. limsin zvn? +1 292. limsinzVn? +n

n—wo n—»wo

293. limcos 7\ n® +1 294. limcoszVn® +n

n—wo

295. limsin 7361’ +2n 296. lim cos 79n? +2n
297. limtgn\an’ +n

n-»wo

(p,geN, a, %0, b, %0)

Oqujbiny Unzhh qmauwdphunmipyjuwl ulyqpmilphg, wwwgnigl; hw-
enpnwlwlmpjul qniquwihinmpiniGp
208, x"___2n+l 299, x"=n+smn
3n+2 n+7

300. x, =a+aq+aq’ +---+aq", (|¢I|<1)

301. x, _-I_+L Fooet 1
1.2 2.3 n(n+1)
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1 1 1 1
302. x, = + + oot
4-9 914 14-19 (Bn-1)(5n+4)

sinl sin2 sinn
= + 4.4

303. x, >
4 4 4"
' 1 1
304, xn=COS1' cos2.+m+ cosn!
1-4 4.7 (Bn-2)(3n+1)
i I
305, x = sinl! sin2! sinn!

n <+ 3 44 -
3-1 3°+2 3"+n
1 1 1
306. x,,=l+?+3—2+--.+7
n+l
307, x, =, 1 D
1.2 2.3 3.4 n(n+1)

Oquybiny unzhh qniquihwnnipjwi uyqpniGphg, wwwgnigh; hw-
gnpnwlwGmpywl inwpwdpunnipynilp

308. x, =(-1)"(1+1) 309. x =sin 22
n 4
1 1 1 1 1 1
310 x, =14+—+—+---+— L x, =—F=+—F+ ' +——=
8 2 3 n NS V2n+1
32, x, =n.cosmz'-l 3. x, =(_1) 4n+3
2n 2n

QunGity lim x, -p & limy, -p

2n+1 .
314. x, =1+——cosZn 315. x, =3- "7 sinZn
n+l 2 n+3 2

n(n-1)

316. x, =(-)™! ~7—sin%n 317. x, =1+2- (=)™ +3-(-1) ?

n(n+l1)

318. x, = (-1)"" .5+cosi2’_,, 319. x, =3 +4-(-1)"? =5-(-1) 2

2n-1 27n

Y .=
320. x = cos— —(_1\*! .
"3t 3 321. x, =(-1) (Hn) +sm2n
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322. x, =
6n+l1

324. x, = ntl sin—n
n+2

326. x, ="
2n+1
4-3n°

328. x =

TSP e2®

330. x

332. x

334. x

336. x

338. x,

340. x

342. x

344. x

346.

348. x

350. x

88

GGk inf x, -p b supx, -p

_ 3n-4
" 4n-13
_3n+5
" 2m-9
_13-3n
" 2n-15
_3-2n
" Sn-11
_4n+17
" Tn-12
_3n-10
" Sn-16
_4n-15
" 3n-10
_3n-13
" 4n-15
_3"

x o ——
" n!

— 5”

" (n+2)!
— 7"

" (n+3)!

5n+3 . ,7n

4n
323, x =(-1)™ -(1 +-l-) +cosZn
2 2

325. x, =142

n

Sn-3 =&

327. x, =

tg—n

3-2n "3

329. x, =(n)" 2"

331.

333.

33sS.

337.

339.

341.

343.

345.

347.

349. x

351. x

2n-17
" 3n-8
4n-10
" 2n-11
5-4n
" Tn-18
4-5n
" 8n-15
4n-9
" 4n+5
3-5n
" 2n-9
5-7n
" S5n-16
3n-5
" 4n-13
47
" )
6"
" (n+2)!
— 8"
" Q2n+1)!




352.

353.

354.

35S.

356.

357.

358.

359.

360.
361.

362.

363.

364.

365.

366.

Uwwgnighil, np tpk limx, =400, www hwenpnwlwbnipjwb wwppbkph

Gti9 Yw wikGwihnppp:

Uwuwgnigtif, np Gpt ’l'i_mx" =—0, www hwonpnwlwlnpjwb wwpptiph
ubo Yw wikOwikép:

Uwwgnighiy, np tipt dinGnuinG hwenpnwiwbnipjwlb nplt GGpwhwenpnuw-
Ywlnipjntl qniquidtinn £, www hwenpnwlywanipyniGp qniquidbiun t:
Uwwgnigti), np tipti dnGnuinG hwonpnwlwbnipyjwb nplt GGpwhwenpnw-
YwOnipyntlh pnibnwikiGunwi t, www hwenpnwlwbnipyniGp qniquidtiun
Uwuwgnigli, np tipk dnGnuinG hwonpnwlwbnipynilp uwhdwGwihwy t,
www hwenpnwywbnepynibp uwhiwlwihwy t:

Uwwgnigtil, np Gpti dnGnunnbG hwenpnwwbnipjw nplt GGpwhwenpnw-
Ywbnipynth $nibnwibkGunwy t, www hwenpnulwanipniip Lu $nilnu-
GtGwwy t:

Uwwgnmgtil, np guwalywgwé hwenpnwywlnipyntG nbh dnGnunG GGpw-
hwonpnwlwbnipyntG:

Uwwgnighi|, np tpk limx, =a, www lim|x, |= a|: 620wphwn t wpnynp
hwlywnwyp: PtpL; hwiwwwwnwuhuwG ophlwy:

Uwwgnigti, np tipk lim | x, |=0, www limx, =0:

PtiptL hwenpnwywbnipjwb ophGwl, nph dwubwyh uwhdwhGGtpp Owhuw-
wtiu npdwé a,,a,,---a, pytipl baG:

LUwnnigb| hwenpnwlwbnipynil, nph hwiwp npdwéd {a,} hwenpnwyw-

Gnupywb jnupwpwisynip wonwad (hGh dwubwyh uwhdwG: Nuph h°Gs dwu-
Gwyh vwhdwaGbp t wwpowynp nlbblw] Ywengwd hwenpnwywlne-

pjnibp, pb a, -tipp hpwphg wwnptip GG:

Uwwgnigti, np tipt {x,} hwenpnwywbnipyniGp nitbGh 0-hg inwpplip uwh-
dwa, huy {y,} hwenpnwywlnipjnilp nwpwibn t, www {x,y,} hwenp-
nwlwanipyntlp nwpwdtin t:

3wjwnbh t, np !’1_{2 x,=0, huy {y,} bwenpnuhwbnipjniGp nwpwdibiun t:
h°Gs upbih t wubg {x, - y,} hwenpnwlwinipjwl gniquidhunnipjwl dw-
uhG: PLpL hwiwwwwnwufuw ophGwyatip:

3wyinGh t, np {x,} hwenpnwlwibnipniGp qniquitin t, {y,} hwenpnw-
YwhnipyniGp’ wwpwitinn: P°Gs Ywpbith t wuby {x,y,} hwenpnwlwlnip-
Jwb gniquishunnepjwl dwuhG:

3wjnGh t, np {x,} L {y,} hwenpnwywlnipjntlGGpp twpwibn b6: h°Gy
Ywpbth t wuby {x,y,} hwenpnwlwinipjwh qniquihunnipjwl dwuhG:
PEpb hwiwwwuwnwuhuwb ophGwyGtip:
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367.

368.

369.

370.

371.

3.

373.

374.

375S.

37e6.

377.

Uwwgnmgti|, np tpt x, 20 n=12,--- L limx, =a (a#0), wyw

{1/x,} hwgnpnwlwGnipjnilp uwhdwGwihwl t:

Uwwgnigti, np tipk {x,} hwenpnwlywlnipjwl {x,, ,} L {x,,} GGpwhw-
onpnwlwinipyntGbpp gniquidhwinud GG shuGnyyb a pyhG, www {x,}-p
qniquihwnnid t a-hG:

Uwwgnigti, np tipt {x,} hwenpnwiywbnipjwb {x,,_,} L {x,, } Ghpwhuw-
onpnwlwlnupyntGGlpp qniqudihnimd G0 hwiwwwunwulpuwbwpwp a L
b pytiphl (a #b), wwyw {x,} -p hwenpnwlwlnipjnilp nwpwibn t:
Thgnip {x,} hwenpnwywlnipjwl hwiwp I!i_{gx3k+l =a, l!i_l;gxz,‘_, =b:

Uwwgnighiy, np a=b:
Ohgnip {x,} hwenpnulhwbnpjwl gwbhwgwé LGpwhwenpnwlwbni-
pJnLlG qniquidbun t:

Uwwgnigtif, np
w) pninp GGpwhwonpnwywlnepynitGblipp qniquihunnud GG ShubnyG

pyhG
p) x, hwenpnwywGnipyntGp qniquidtiunn t L qniquidhuntd t wyn pyhG:
Uwwgnigtiy, np npwtiugh a phup hwinhuwlw wpdwé hwenpnwywbnip-
Jwl dwubwyh uwhiwl, whpwdtizn £ L pwdwpwp, np a-h gublywgwéd
(a-¢g,a+¢) ppwlwpnid qunlytb wldtipe pyny wlnwdGtp x, hw-
onpnwywlnipynLlpg:
Uwwgnigtil, np tipt x, hwenpnwlwinipynilbp Ytipbhg uwhiwGuwihwy st,

www OpwGhg Ywptiih t wlowuwnbk) +oo dquinn LGpwhwenpnwlwdnt-
pjnih:

Uwwgnigli|, np tipti x, hwenpnwlwbnipjnilp Gtipplhg uwhdwGwihwy

st, www Gpwbhg Yuwpbith t wiowwnb) —o dquinn GGpwhwenpnwlywne-
pjntG:

Uwwgnigtip, np Gpt OnGnuinG hwenpnwlwbnipynilp uwhdwGwidhwly st,
www waybipe 0kLid t:

Thgnip x, hwonpnwlwbnipinilp wybwhuhG k&, np y, =x, +x, +--+x,,
n=1;2;--- hwenpnwiwinipyniGp qniquidhien t: Uywgnigty, np limx, =0:
Nhgnip a, hwenpnwywbnipniGp pwpwlwlwb wpngpbupw t, nph pn-
tnp wOnwdGkpp npwywb GG L vwpptpnpynilp hwywuwp st 0-h: GunGh

lim

1 1 1 1 ,



378.

379.
380.

381.

382.

383.

384.

385.

386.

387.

388.

389.

Thgnip a, hwenpnwlwlnip)nibp pywpwlwlwh wpngptivhw t, nph pn-
tnp winwdGtpp L nwpptpnepynuGp hwywuwp GG 0-h: QG

. 1 1 1
lim + +-e 4 :
eG4, aya a,-a,,

SwywinGh t, np li_rp X, Y, =0:3twnln"d t wpnynp limx, =limy, =0:

3wjwnGh k&, np li_rp x,*¥, =0:3twnln"0 t wpnynp, np x, L y, hwenpnw-

YuwhnipyntGGtiphg qnbb dtLp whybpe thnpp t:
Uwwgnigtif, np x, hwenpnwywbnipjwh pnilnwikbunwy (hGbint hwdwnp
whhpwdtiwn t L pwywpwp hGnbjw) wwydwbp®

Ve>03N(g), Vn>N(e)=x, —x, |<e:
Uwwgnigtif, np Gipyne $nibnwibGunw) hwenpnwywbnep)niGlbph qnudw-
np, wwpptipnipyntlp L wpunwnpjuip $ntbnwiblbnw] hwonpnwlywbnt-
pjnLGaGLp GG:

Xt tX, o

Uwwgnighil, np tipt limx, =0, www lim

n—w n
4" +(—4)"

Uwuwgnighi, np x, = 7 hwonpnwlwbnup)nibp uwhdwG sncGh,

huy yn=—4 +5(:4 )

uwhdw(p:
Thgnip x, hwenpnwlwbnipynilp uwhiwGwdwly t, huy y, hwenpnw-

hwonpnwlwbGnipyntGlG nbh uwhdwh: QnGbp w)n

YulnpyniOp” wGytipg Gt6: Uwwgnighy, np x, +y, hwenpnulwibne-

p)ntlGp wGybkipg uko t:
Uwuwgnigki, np qniqwdibn hwenpnwlwbnipyntGh nbh Ywd wibkbw-
thnpp, Yuwd wikGwité winwd, Ywd bpyniub k| ShwowdwGwy:

Uwwgmgtig, np tpt a-6 X ={x} ng nwuwpy pywjhG pwqinipjwl unn-
nhG G2qnhwn Gqpl t, www qnjnipynilh nGh wybwhuh x, hwenpnwywhne-

pintG, np x, € X, limx, =a:

Uwwgnighiy, np bpt 5-6 Y ={y} ns nwuwpy pdwjhG pwqinpjub yb-
nhG G2qphwn iqpG b, www gnynipynih niGh wyGwhuh y, hwenpnwlwbne-
pinG,np y, €Y, limy, =b:

Ahgnip x, 20 L limx, =a: Uwywgnighi, np 11_{2{/;" =4a, (ke N):
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390.

391.

392.

393.

394.

395.

396.

397.

398.

399.

92

Ohgnip x,; &, hwenpnwlwbnipynibbtpp L a phyp wybwhuhl LG, np

|x, —al<eg, ulime, =0: Uywgnighf, np limx, =a:

a wwpwibwph n°p wpdtipGph hwiwp x, =vn’ +n” —n hwenpnu-
Yuwlnipyntlp w) Yaqunh +oo, p) Ydqunh ytippwynp uwhdwbh: Gunbb| wyn
uwhdw@p:

Uwwgnigti, np x, =sinn, y, =cosn hwenpnuwlwlnipyntGGtpp tnwpw-
dtiuwn bG:

a2 -h dwuh(:
x’l

3wjwnbh t, np limx, =a: b*Gs Ywpbih t wubp lim
Nhgnip x, hwenpnwlwbnipjnilp uwhdwbwhwly t tpbhg L pwyjwpw-

pmd t x,,, —x, > ——1-—, ne N wwjdwbhG: Uwywgnighi|, np x,-p qniqu-
n

gk L
Thgnip x, hwenpnwywGnipjwl hwiwp lim(x

n+2

-x,)=0: Uywgnigti,

nn limX2 =0:

noo p
SwjinGh t, np {x,} hwenpnuwlwlnpjwl {x,,_,}. {x,,} L {x;,,,} GOpw-
hwenpnwlwbnipyntGGlipp qniquitin GG: Uwwgnighip, np {x,} hwenp-
nwywbntpynilp Lu qniquiibun t:
LYwubGp, np {x,} hwenpnwlwlnipjntGG nGh Yipgwdnp thnthnfunipyniG,
tpt qnjnLpnilG nuGh C > 0 phy wyGwhuhG, np

L, =x, | +]x, =%, |++]|x, —x,_, |<C, (n=2;3;--):
Uwuwgnighii, np wdikb dh ytpowdnp thnihnpunipyntl nlGignn hwenpnw-
Ywbnipyntl gniquidbinn t: Ywnniglp qniquidticn hwenpnwlwGnepjwb oph-
Guwy, npp snLGh ybpowynp thnthnfunip)niG:
Uwwgnigli, np ipt {x,} hwenpnwlwGnipjnilp dnGnunG t L limx, =0,

n—

www y, = Z(—l)"‘I x,, (n=1;2; ---) hwenpnwlwbnipjnilp qniquiitin t:
k=1
Jwzyby wpph qnudwpp

e (k) 400, ‘Z(iﬁi")
n=0 3 5

n=l



401.

403.

40S.

407.

409.

411.

413.

415.

416.

418.

420.

(1, D 402. w( > J
§[5"+ 6" ) z.: 10" 10"*' 10"+2
-] 1 -]
> 404. )"
ann+l) = (Bn- 2)(3n+1)
> 1 406. 21
“o (4n—-1)(4n+3) mn =1
2 1 2 1
_ 408 Yy ———
§4n2+4n-3 §I6n2-—8n—3
= 1 = ]
_ 410,y ————
;16n2—8n—15 ;25n2+5n—6
5 PP S N
“~36n° +12n 35 “~ 497’ +Tn-12
o0 1 ©
S S— 414. S (Vn+2-2Jn+1+
Z n(n+1)n+2) Z'( " n+1+n)
Z(J(n +1)(n+2) =2n(n+1) +Jn(n—1))
(n n-1 = 1
- _ 417.
,,Z:‘( " 2"") gn!(n+2)
> 1 3 = 1
in—-cos— 419. Y In|1-—
- Sin 2" COS 2" ; ( nz)

Uwwgnigl, np bipt Zan qwpph a, pOnhwlnip wlnwdG nGh
n=1

a,=b,,,—-b,, n=1;2;--- inbupp, npwntin li_»rgb,, =b (b-0 ytpowynp t),

wuwjw 2wppp qniquitin t L Gpw gnudwpp hwdwuwp t b -4 -h:

Uwnniqbig, np htwnlywy wppbpnid pugwluwymd t qniqudpnnipjwl

whhpwdbn wuwydwbp:
21. ) (1) 422. ) n"
n=1 n=1
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@© 2 ©
423. Z——-z"—ﬁ— a24. ) =

“~ 4n’ +5n+1 v N3 +4n’
4n+5 c 2n+1

425. 426.

Z on+7 gefsn3+5n2+2
427. Z sin % n 428. Z sinn

n=| n=1

=(n-1Y -
429, —_— - n’

5(=) 0. 51

n=l n=l ( ]. )”
n+—
n

Uwnnigbig, np 2wpph pGnhwGmp wGnwdp dgunmd t 0-h, pwyg 2wppp
wnwpwibi t:

= o 1
431. — 432. ln(l +—)
= n+3 ° n+2
433. 434. _—
o+ 4 S +3)-An
= Jn

436.

Z\/(3n 1)(3n+1) = Jn*+2
Gia6iny Unaph qniquidhwnnipywl ulqpnilGphg’ hbinwqnunky wpph
gniqudpunnpyniGp

a0 n

) '
$31. YL (a,I<10) a38. ) 220
n=1 10" n=1 N
= COS nx = 1
439, 440.
Z, " ,,Z:’ 4n-3)(4n+1)
= 1 =, sinn
441. Y — 442.
nz:' n ; 2"+n

GiaGind Unzhh qniqwdpwnnipjwl uyqpnilphg’ wuwgniglby 2wnph
wnwpwdhwmpyniGp

°° 1
43. » — 4. ) —————
nz:'n ;,/n(n+l)

< 1 - n+1

445. ;ln(l+ﬁ) 446. 2
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— n+l

0

1
447. —_— 448. Y — (0<p«l
;«/;(n{i) gnp O<p<h
Uhpwnbiny punnwwndwt hwpnwGhGEpp” hEnnwqmnby Jwpph qnt-
quihwnnipyniGp
o0 2 L
449. 450.
,,z=.:5n—2 §(5n+2)(n+3)
& sin’ n 2 2n+3
451. 452.
nz=l: nvn zl J4+3n"
> J4n? +3 —\dn? =3 20} +5n =2n° + n?
453. ) 454
= P +s = V57 +9n
L) 2 _ 2 @ 2 _ 2
455, Z\/2n +7n \/2n n 456 Z\/n +5n \/n +4n
n=1 \/3"2 +4 n=l 2/713 +7n
457 i\/ﬁ-\/ﬁ 458 ivm_m
= Ynt+2 = Un+3
2, 2-sinn & ( )
459. — 460. 1-cos—
w450 =2n ; n
/4 T
© COS;" 0 COS4_n
461. 462. ) ——
= (Tn-53/4n-3 ; Ysn* -3
© 1 -, h+2
. 1+— 464. ) ¢
463 ;ln( +n2/;) "z=|:gn2+3
© 5 . © 2 +3
465. Z”—(l}s‘m—‘/;) 466. 3-In”
n=1 n n=1
467. > ,ln(ng)-ln'”; o (1+sm )
n=l] h n+ 468.
,,z=.: n+In’n
Oqunybiny ¥ Upwdpbph hwypnwGhzhg’ httnwqminb| 2wpph qniqudp-
tmpynilGp:
@ nlO ) n!an
469. 470. a>0,a#e)
; (n+1)! ; n" (
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an. i4""! 47, i 2:5-8-(3n=1)

— “1.6-11-----(5n—4)
I ! ud -1!
473. Z"'(z")' 474 (f" 1)2'
w (3n)! w3 - (n!)
2 n!l(2n+1)! = (3n)!
475, ) ——— 476. ) ————
,.g‘ (3m)! Zl (nl)’ -4
3:6-9-----(3n) = (2n-1H!
477. 478.
,,Z," 2" -(n+1)! ; 3"-n!
479. 23'6'9”'“(3n)arcsini 480. Za(a+l)---(a+(n—1)) (a>0)
~ (n+D! 2" e 2n-n
o0 n a0 "
481. __.n_] 482. Z@—arctgin
~n2,7H" = n! 3

Oquybiny unzhp hwpnwiGhzhg’ 2wppp hbumwgnunb qniqudpwnni-
pjwl inbuwlbnhg:

00 1 %
483, © "

% (nny e, 3[Lnr2

n=1 ‘/; + 3

© n—1 n(n-1) © 2n 2n?
485. » 2" | — 486. S 2.

,,2;2‘ n ; 2n+ 1)
7. 3 [ L " 4s8. 33 [ -2 ’

n=1 n+l n=1 2n+1

n(n-1) 6n?

C n-1 2 3n
489. 4" [ — 490. 7"-

; n ,,Z:‘ \3n+1

© an® o 8n?
w1 38 (2 ) 2. 36 -

e 2n+1 o 4n+1)

0 2n? © n

n a-n

493. » 9".| — 494. ,a>0

S () )
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495.

497.

499.

500.

So01.

502.

503.

504.

50S.

® Ynt+3n+l Kl n
496. .
Z( n+1 ) Z 73

=2

© 2 n © 5

2(6”“)2{2)3 498. Y " —
n=1 5n-3 6 n=12 +3

Uwuwgnigtii, np ng pwgwuwlwh winwdGtpny 2wppp YhGh qniqudtivn
wjl L Shwjl wylb nbwpny, tpt Gpw dwulwlyh gnuiwpGtph hwenpnwlyw-
Gnipywl nplt GGpwhwenpnwywbnipynih Ytipbhg uwhdwbwihwy t:

Uwuwgnighig, np tipli g, 20, (ne N) L Za,, 2wppp gniquitin b, www
n=l|

qniquibin t Gwl Za,f 2wppp: 6h°2un £ wpnynp hwlwewy wanniip:

n=1

Uwwgnigli, np Gpt a,20, (neN) L n-a, hwenpnwlwhbnipjnilp

ybpLhg uwhiwbwihwy t, www Zaf 2wppp qniquiibun t:
n=1

Uwwgnigtiy, np tpt a, >0, a,,,<a, (neN) L Za 2Wppp qniLquw-

n=1

dbwn b, wyw limn-q, =0:

n—»w

Uwwgnighy, np tpt a,20, (ne N) L qnynipyniG nibh limn-a, =a,

(a#0) ytpowynp Ywd whytipg uwhdwlp, www Za,, 2Wnpp nwpw-

n=1

dtwn L

b’ wppbpp qniquibtn LG, a, >0,

n

Me

Uwwgnigly, np tpt Y a; L

n=l1 n

b, 20, wyw Za -b,, ia,,

n=| n=1 N n

(a,+b,)’ wpptipp qniquitin bG:

Ma

Uwwgmgti, np btpt a,20, a,,<a, (neN), wyw Za"

22" -ay, 2wppbipp Yqniquiihuinbl Ywd huwpwidhnb6 dhwdwdwlwly:
k=0
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506. h°03 Ywpbih t wub) Z(a" +b,) 2wpph qniquihuinipjwl SwuhG, bpl’

n=|

a, u Zb,, 2wppbipp qniquidtivn GG:

n=|

Me

w)

a, wppp qniquibn t, Zb,, 2wnpp’ nwpwibin:

1 n=|

Ms 3

P)

3
It

8

0

w) Za,, L Zb,, 2wpptipp Lwwpwidbin Ga:

n=1 n=1
PLpb| hwiwwwunwuhuwb ophGuwybtp
507. Uwwgnigh,

w) Z -1——lnn—+1 wppp qniquidtin t
n=t \ 1l n

p) unwlwy Z% =Inn+C+a, wuhiwywnnunhy pwlwdlp, npintin C-0
k=1

Ejph hwuwnwwniGG t, o, - 0, ipp n — o

508. Uwwgnigki, np Lipk Zjﬁ'_ (a,20) wppp qniqudbtwn t L a,,, <a,
n=1 n

(neN), wyw Za: 2wppp Lu qniquidtinn t:

n=l|

509. Uywgnigkiy, np tipb Za: , by LY c) npwlwG 2wnpbpp qniquitbin
n=l

n=1 n=l|

G0, www gniquidtiun £ Gwl Za,,b,,c,, wppp:
n=|]
510. Uwwgnigti,
w) np bpl @, 20, b, >0 pninp 172 n, hwdwp, Zb" 2wppp  qnLQu-

n=l

gt L lim:—" =0, www Za,, 2wppp Lu qniquidtin t:

n=1
p) np tipb Zb,, 2wppp wwpwdbn t L lim:—"=+oo , wwjw Za,, 2wp-

n=| n n=1

pp Lu vwpwibn t:
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QLNFl NI

@dU3hL dNFLUSHhU, UU3UUL,
dNFLUSPUSP ULLLAIUSNHO3NEL

1. @B4U3PL DNFLLUSPUSH QUAUDUNrD

Ohgnip X -p L Y -p pdwhG pwqimpyniblbp GG: Gpb X pwqinipywh jni-
pwpwlgnip x twpph hwiwwwunwuhuwbGbgynud £ Y pwqdnupywb by npnpw-
b y vwpp, www wund GG, npnpws t £ X > Y dnbyghw: x-p Ynsynid
t dnGyghwyh wpgnuibibn Ywd wGywhu thnhnfuwlwG, huy Gpwt hwiwww-
nwuluwbtigwé y -p° pniGyghwih wpdtp x Yhwnd, qpaud 66 y = f(x) (f
wtwnh tnfuwptb Yuptih t ogunnwgnpétip wyp wwnebip® ophbwy g,o,¥,u,v L
wyrh): X pwqinipyulbp wGywhnud GG nibyghwih npnadwl whpnyp: Cwn hw-
Swhu wyl Gowbwyn GG X = D(f)-ny, huy E(f)={f(x):xe X} Y puwq-
anupyntlp” nlyghwih wpdtipGliph pwqinpyndG:

f:X ->Y dnlyghwh Ynsynud t wénn (Gwqnn, sGwqnn, swsnn) bLipk
Jwiwjwywl x,,x,€ X qnuygh hwiwp x, <x, wwjdwlhg hGwbnd t, np
F(x) < f(x)  (hwiwywnwupiwGwpwnp'  f(x) > f(x,),  f(x) < f(x,),
S(x) 2 f(x,)): Cnhwhntp wndwip wyn pnpnp nbuwlyh $nbyghwitipp Yngynud
GG dnGnunG $nibGlyghwhbp: YGhwpnywb hwppmipjwl {(x; f(x)):xe X} Yb-

wbiph pwqdnupyniGp Ynsyned t dniblyghwih gpwdhly Yuwd qéwwuwnytip:
f:X >Y dnlyghwb Yngynd t qnujq, tipt gwllhwgwd xe€ X wwpph

hwiwp wnbtnh nh —x€ X L f(=x)=f(x) wwypdwlp: f:X =Y ImGy-
ghwG Yngymd t ytiGw, bpb qwllwgwsd xe X wwpph hwiwnp wnbinh nGh
-x€ X U f(—x)=—-f(x) wuydwap:

anyq  Pnilyghwlbp &G ophGwy y=x°, y=cosx, y=In|x|,

_sinx

1 .
., UGG &G =—, y=sinx, y=tgx, y=x-tgx,
x

y = arcsin(sin x) $niGyghwatipp: 2nt)q $niGyghwih gpuwdphlyp hwidwswih t op-
nhGwunGbph wawGgph Guwndwdp, huy YaGw pnbyghwh qpudphyp hwiw-
swih t YnnpnhGwuinGbiph uyqpGwybnh GYwndwdp: f L g $nGyghwhbipp Yng-
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ynud GO hwywuwnp, bpb Gpwlp npnawé GG dhulnyl X pwqdinipjwl Ypw b
jnipwpwbymp x€ X wwpph hwiwp wbnh nlbh f(x) = g(x) hwjwuwpni-
pjnLlp: dnuGyghwbtiph hwiwp plwlywb duny dingynid GG pwpwlbwlywb qnp-
6nnnupyntGGEp: Dhgmp f L g dnibyghwltipp npnawé GO ShLbnyls X pwq-
Onupjwb Ypw: Un nbwpnd w)la pniGyghwhlipp, npnlg wpdtipGbipp jnupwpwl-
gnip x€ X wwpph hwiwp hwjwuwp 66 f(x)+g(x), f(x)-g(x),

f(x)-g(x), —f—% (g(x) #0 gwllywgwsd xe X hwdwp), Yngyntd LG hwiw-
g(x

wwuwuhuiwlwpwp f L g pnlGghwbtiph gnudwp, nwppbipnipyntl, wpunwn-
nuwy b pwlnpn $nilghwbbp L Guwlwynd 66' f+g, f-g. f-g. f/g:

Pwpn pmbyghw: thgnip y =@(x), z= f(y) Pnillghwlbpp npn2ywé
GO hwiwwwwwufuwlwpwnp X L Y pwqinpjniGGtiph ypw, pGn npnud y
$niGyghwjh wpdbipGtiph pwqdnipynilp wwpniGwlyyned t (pOywé t) f dnily-
ghwjh npn20wG whpnepnid: Upn nbwpnid wyt F dnbyghw, npp jnipupwl-
gnip x€ X Ybwnwd pnninud £ F(x) = f(@(x)) wpdtipp, Ynsunid t pwpn
Inlyghw Ywid ¢ L f $pnlbyghwlbiph uniybipwnghghw b Gawbwlyynid k

/(9):
Ipitwlywl vwppwywb $nGyghwbtp Yngynd GG GniyGwpwp hwunw-

wnntl, wunh8wlwyhG, gnigswihG, (nquphpdwlwG, GrwGynibwswihwlwh L
hwywnwpd GrwGynibwswihwlwa $nGyghwlbpp: Puy wyb pnillyghwtpp,
npnlp uwnwgynd 6 hhdGwlwh nwppwywb $nibyghwitphg Ytppwydnp pw-
Gwynpjwdp pywpwlwlywh L uniwbpwnghghw qnpdnnnipyniGGeph dhongnd,
Ynsynid GG ninnuiyh rnwppwywb $nbyghwbp:

Swywnwpd PpniGhyghw: “hgnip npdws bt y= f(x), xe D(f): Un

nbwpntd jnipwpwbgnip x, € D(f) f optGpnd YhwidwwwinwutuwGtgyh

Ghawn dbY y, = f(x,)€ E(f): 3wSwfu hwpy t thGned dnibyghwih tnpué y,
wpdtiph hwdwp qultp wpgnuitiGinh wyb wpdtipp Ywd wpdtipGbpp, npnig
hwiwp  f(x)=y,: Uy Ybpwy wuwé x wpgnuibGnh hwdwp |nusti
f(x)=y,. o€ E(f) hwlwuwpniip:

Uju hwywuwpnidp nibh qnib dkY (nuencd: tw wyGhwyn E, npnghbnb y,
Inibyghwyh wpdtip t: Uwywyl hGwpwynp t, np hwywuwpnudp nGbGw dkyhg
wyby L GniyGhul wadbpe pwlGwynipjwdp (nuéntdGep: Spwd hwywuwpdwh
intdnudlGtipp YhGEG pninp w)l Ybwnbiph wpughulbipp, npnGp uwnwgynid Ga
y = f(x) $nilyghwih gpwdphlh L y = y, ninnh hwwnnishg:
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Gpt f dniGyghwG wyGwhuhG k, np jnLpwpwlgnip y, € E(f) wpdtp pG-
nnibnud £ Shawn oby x, € D(f) Yhwnnud, wwyw wynwhuh $nibyghw Ynsynid t

hwwnwpdtih:  Swywnwpdbh  $nGyghwyh  hwidwp  jnupupwbggnip
ye E(f) hwiwwywuwwupuwGmd t shown 66y xe D(f) wylwhuhG, np

y=f(x):

bt jnipwpwlynip  ye E(f)-p0  hwiwwywunwuhuwbbgGhiGp  wyh
xe D(f) dhwy wndbpp, nph hwiwp f(x)=y, www npwing E(f)
pwquntpjwl ypw ndwé Y hGhbp x = g(y) nblyghw, nphG wadwlnud GG f

$nGyghwyh hwlwnwpéd HncGyghw:
Cwwn hwSwiu hwhwnwpd nGyghwih wpgnudbbnp Lu Gwbwynd GG

x-nd L gpnd y=g(x), npinbin g-0 f -h hwhwnwpd $nbGyghw t: LkLGp
ninhn L hwywnwpd $nbyghwbbph Sh pwGh hwwnynepyntGGtp.

bt g PnGlughwl f IniGyghwyh hwlwnwpd pnibyghwi t, wwyw f
pnuGyghw g HniGyghwih hwywnwnda t, pGn nupnud’

D(g)=E(f). E(g)=D(f):

1) Swlywgwé xe D(f) hwdwp Ghwn b g(f(x)) =x hwjwuwpnipjnt-
Gp L gwlywgwé xe E(f) hwiwp Ghan t f(g(x)) =x hwjwuwpnepnibp:

2) y=g(x) pnibyghwsh L y = f(x) Pnilyghwsh qpuwdphlGlipp uhibinn-
phy GG y = x nunnh GYwwndwdp:

3) bpt f -p tuhuwn wénn t (Gwqnn t), wwyw wjb hwywnwpdbiih t, pln
npnud hwlwnwpd g pniGyghwa Lu YhGh fuhuwnn wénn (Gwqnn):

orkpLULLEP

Uwwagnighiy, np / $nGYghwh winn t X pwqinipjwl ypw’
w) f(x)=x’, X=R
A—-(btpglbklp Ywiwjwywh x, L x, Yewbp X pwqinpnilhg, npnGp
pwywpwpnid 66 x, < x, wwydwGhG: IGwpwynp t tpkp nbwp’
1) 0<x,<x,;
2) x,<x,<0;
3) x,<0,x,>0
bt tntinh nuGh 1)-p, www £ (x)=x" < f(x;)=x;
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bpb x,<x, <0, www 0<—x, <—x, L htwlwpup (-x,)’ <(-x)’, np-
inbinhg Yhtinbh (x* Pnilyghwh GG $nibhyghw t) —x,’ <—x’ wlhwlwuw-
pnipynilGp, npp hwiwpdtip t x,3 <x23 wOhwywuwpnipjwlp: 5y Ytpowwbu,
pb x, <0, x, >0 www x’ <0 L x,” >0 L htwbwpwp x,’ < x,’:

Upuwhuny x,’ < x,’ wlhwywuwpnipyniGp Shaw t gullwgwé x,,x, Yb-
wtiph hwiwp, npnlp pwywpwpned GO x, < x, wwjdwGhG: \Y

p) Uywgnighy, np [—a;a] uhdbunphy dhpwlwipnud npnwé gubyw-

gwd f(x) pnmGyghw Yupbih t GEpYuywglt) qniyq b YEGn PnGlyghwGt-
ph qnuiwph wnbupny:

A - LywlwytGp® Po(x) = M . W(x) = f(x) +2f (=x) '

x € [—a;a]: 36w t nbulli|, np @(x) L yw(x) ImbGyghwhbtpp YtGwnn L gqnijq

$nLllyghwtip bO:
r‘['lnp‘ ¢(—X) - f(—x)z—f(x) =_f(X) —2f(—x) __

Vi) = f(—x)2+ S0 _ f) +2f(—x) v

Swytilp @(x)+y(x), xe[—a;a] qndwpp.
JO)=f(=x) SO+ f(=x) _ f(x)  S(x) _

o(x), xel[-a;a]

P(x)+y(x)= 5 5 5 5
_ f(;x) + f(2‘x) = f(x), x€ [~a;a]

a) Hhgmp f,(x)=f(f(- f(x)):

(n wiqu)
X

GGty f, -p, tpb f(x)=\/.1?, xXeR:
x

A-GunGGp f(f(x))-p

X

f(f(x))= \]1+x: - X 2
\/]+ x \/1+2x

1+x?
Oqunytiiny dwpbiwwnhywywh hGnniyghwih dkpnnhg’ gniyg tnwip, np
f;'(x)z X , n=1,2;---
1+nx?
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x
bGpwnbilp £, (x) = k21
pwnptibp £, (x) W
x
fen@ =1 ()=l X
\/“ 2 Jl+(k+Dx
1+ ko’
x
Gwnlwpwp £ (x) = W \Y%
n) Gk, f(x)-p, Gpb f(l)=x+\/1+x2, (x>0)
x

A-btpp x>0, 1 >0: twnbkwpwp thnfuwphGtinyg f(l)=x+\/l+x2
x x

hwywuwpnipjwl Gtip x -p l -ny YnLOGGwhp’
x

2 2
f(x)=-!-+ ’l+i2=l+ 1+x =1+\/1+x v
X X X

| x| x
QunbkL y=f(x) PpmGYghujh x=g(y) hwlwnwpd pniGlighwt L
Gpw npn20wh whpnyypp.
w) y=3x—-4, (—oo<x<+o0)
A— dnlyghwl wsnn b (—oo;+00) Ghpwlwypnid L wpdtipltph pwgq-
dnipynilp 1g0nud £ (—oo;+ o) dhowlwypp. JnLpwpwlgnip y, € (—oo;+0) puh
Y, +4

hwdwp qnnpynté nGh - Shawnn GGY  x, =

Y  wyGwhuhG, np

y0=3-29§+-—4-—4= Vo: dnlyghwl hwiwnwpdbih t L Gpw hwhwnwpd

+4
dnLGyghwh niGh hbiwnbyw) nbupp x = Y

, (o0 <y <+o0) Ywd thntutiny

+4
x-h L y-h wbntpp YmOGOwGp hwhwnwpd Ppnibhyghwih y=x3 '

(—o° < x < +o0) inbiupp: \%
y=log,(x’ —8x+17), x€[4;+0)
t=x*-8x+17=(x-4)* +1 dnilyghwl wenn t [4;+ <) Showlw)pnil
L wpdtipGhph pwqdnipyniGp hwdpllGnid t [1;+00) dhowlwiph htin: 3nipw-
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pwgnip ¢, € [1;+ ) puh hwiwp qnynipynil nilh Ghawn ok x, € [4;+00) Gh-
pwlwyphG wyGuwhuhh, np £, = x; —8x, +17:

bpnp, (nLokGp £, = x* —8x+17 hwywuwpniip:

tp=x"—8x+17=(x-4)" +1
(x=4)’ =t,-1

Pwhh np £,—-120, www hwjwuwpmndG nGh Ghown GGY wpdwwn’
X, =4/t —1+4, npp wwwnlwbnid t [4;+e0) thowlwiphl (hwjwuwpdwh
gjniu wpdwwnp' x, ==/, =1+4<4 L sh wwwnlwbnid [4;+e) Showlwy)-
phG): Ujntu Yynnihg y =log, ¢, [I;+0) Ghowlwjpnid wénn t L wpdtipGtph
pwqdnpjnilp hwipGybnid £ [0;+00) dhowlwyph htwn: dtpeGwywlwwbiu
unwgytig, np y =log,(x* —8x+17) Hnillyghwl wsnn t [4;+0) Showlw)-
pnid L Opw wpdbpltiph pwqinipynibp hwdpGybnud £ [0;+c0) showlw)ph

htwn: Spwé pnGyghwd hwywnwpdbith t L hGwnbwpwp [0;+ ) Showlw)-
pnud gnynipynith nbh hwlwnwpd $nbyghw, npb nlGh htwnbyjwp wnbupp’

x=44+3" =1, (0 y<+oo) Ywi y=4++3"=1, (0< x < +00):

2. UU3UULUoUy 64 N2 UU3UULUDUY DNFLUSPULEP

S pniblyghwl hp npndwl D(f) whpnypnid Ynsynud t Gepplhg (Yb-
pkhg) uwhdwbwdwl, tpti qnynipynth nGh ¢, (c,) phd wylGwhuhG, np gubyw-
gwé xe D(f) hwdwp wbinh nGh f(x)2¢, (f(x)<c,) wihwjwuwpnipnt-
Gp: f dnmGlyghwa hp npn2dwlb D(f) whpnypnid Ynsynid b uwhdwGwihul,
bpt w)b dhwowdwbwy vwhiwGwhwy t L Gipplhg L Ybtipbhg, wjuhGpl gn-
Jnepynil nulhG ¢, ¢, pYtip wybwhuhG, np ¢, < f(x)<c,, xe D(f):

S dnuGyghwh hp npn2dwG whpnyyphlG wwnhwinn® x, € D(f) Lhwnud
Ungynid t uwhdwbuwdwy, tipti gnynupynild nGkG ¢, (x,) L c,(x,) putip L x, Yb-
tnh 2npwluwyp (2ngwlwypp Gnijlwbu Ywpnn t Ywhujws (hGE| x,-hg) w)jluh-
uhG, np ¢,(x,) < f(x)<c,(x,) pnp wyh x Yhnbph hwdwp, npnlp wwnljw-

Gnud GG wyn 2powluwyph L npndwG whpnyph pOnhwGnip dwuhG: Unynpwpwp
wjnwhuh ntiwpbpnid wund GG, np $nLGyghwh |nwy (nbEnwyhG) uwhdwbw-
thwy t x, Ybwnud:
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f dnlyghwl vwhdwbwihwy t D(f)-nd wyG L dhwyG wyG nbwpnud,
tpt qnjnLpyntl nLGh ¢ >0 phy wyGwhuhG, np witinh nLGh |f(x)| <c, xe D(f):

EpypwswithnptiG /1 dnGyghwyh uwhdwGwhwynpymbp GowGwynid t, np
Gpw qpwdphlp plwé t —c < y < ¢ bpunnud:

Thgnip E(f)-p pniGyghwih wpdbpltiph pwqdnipyniGG t: U ntiypnud
E(f) pdwjhl pwquinipjwl 62qnhwn unnphG (S2qphuwn YtiphG) bigpp widwGnid
GG / PniGyghwyh G2qnhwn unnphG (G2q9phwin Ytiphh) Ggp L G2wGwynud GG

nt (@) [ (7o)
=D xD(f)
UG nbwpnid, tpp pywjhG pwqinip)nibp uwhdwbwhwly st Gepplhg (Yb-
plhg), Wwjdwbwynpnrd Lhp pGnnubt
inf {f(0)}=— ( sup {f(x)}=+oo):
xeD(f) xeD(f)

hgnip qnynipyntl nbh x, € D(f) Yt wylwhuhG, np pngnp x Yhinkiph
hwiwp D(f)-hg wtinh nGh f(x) 2> f(x,) (f(x)sf(xo)) wihwywuwnpnt-
pnthp: Ujn ntiwypnid wund 66, np £ pmbyghwb x, Ytwnnud pGnnclnud t hp
wibkGwihnpp (hnppwqnyh) (wikiGwité (GEdwqneyl)) wpdtipp L qpnud GG

f(x)= min {0} (f(x)= max {f)}):

xeD(f)

Mwpq t, np bipk f(x,) = Xgll)i(l}){f(x)} (f(xo) = Eﬂ)f(){f(x)}) » iyl

Jnf {f()}=f(x) ( xesgg){f ®}=r (xo))

UwhiwGnudhg hbwnbnud t, np /£ pnbyghwG Yngynud £t D(f)-nid YihGh
ybplhg (Ghpplhg) ns uwhiwlwihwy, tpt gwilwgws ¢ >0 pdh hwiwp
gninipynth nGh  x, € D(f) Yt wyGwhuhG, np wbinh mbh  f(x,)>c¢
(f(x,) <=c) wGhwywuwpnipjnibp: dnbyghwb YhGh ng uwhdwbunhwy,
bpt gwGywgwé c¢>0 pyh hwiwp gqnnipntG mbh x.€ D(f) Ybwn
w)GwhuhG, np nntinh nGh | f (x‘,)l > ¢ wlihwywuwpnipjntOp:

Enpypwswihnptt $ncbyghwyh whuwhdwbwthwynepynibp Gwlwlynd t hb-
wnbywyp. hGswhuhG £y thGh YnnpnhGwwnwlwh hwppnipjwlb —c < y <c 2tpup,
wlwwydwbnpts  pnibGyghwih  gqpwdhyh dpw  Youlyh wnbywqlb dbY
M, (x,, f(x,)) Ytwp, npp nnupu b pGlwé win 2tpunhg:
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orkrLULLEP
Uwwgnmgty $nLGyghwih vwhiwbGwhwynpintbp
x3
w) f(x)=

, xe[0;+ o0
x!+1 [ )

3

p) f(x)=

1+x
14 x*
2|a|-|3] 2, 2
w) A-Oquytlp OS—TSI, ae R, beR, a"+b" #0 wGhwlw-
a +b°
uwpnipynilGhg: Lwhu f(x) 20, xe [0;+00): Ujbwtu np £ -p GEpplhg uwhdw-

x x? 1

Guthwy t: bpp xe [0;1], x’ <x*: Npubinhg Yhtnbh 0 ——<——<—
1+x" 1+4x" 2

(oquytighGp Gwé wihwywuwpnipiniGhg): bpp x € [1;+00) dhowlw)phG,
x* < x*: 36wnbwpwp wnwhuh x -tph hwdwp
3 4
< *
T+x*  14x*
Upwynptiny unwgywé wpnyniGpGlipp YnGhGwGp
3

0=
1+x*

0< <l:

<1, xe [0;+):
f -p uwhdwGwhuwy t: \Y

1+x?
P A= f(x)=—"7, €R
1+ x

Lwlhu f(x)20, xe R: UjGwbu, np £ -p Gpplhg uwhdwbwihwy t: 8Sniyg
dnLOyghw(

—4$L=
1+x° 140

nwhp, np wyl vwhiwlwgwy t Gwlk ybpbhg: Pwhh np i
x

witOwdité wpdtiph pOGnnimd £t x=0 Lbwndd, www 1,

2

xe R: n ad $nGyghwl ns pwgwuwlyw t L pun wwywgnigwséd wihwywuw-

+x*

pnpjwil (@ =1, b =x?) thnpp Ywd hwywuwp t %-hg : U)Gwbu np

1+ x? 1 x? 1 3
x)= = + <l+—==, R
SO = e T S22 e
Uunwgytg Osf(x)S%, x€ R: f -p uwhdwGwthwy t: \Y%
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Uywgmagty f(x) PmaGyghwh ng uwhdwbwihwynipynGp.

w) f(x)=x"-3x, x€[2;+e0)

A-8nyg wwbp, np f dnllyghwl Ytpuhg uwhdwGwihwy st: Ppnp,
Gwh' f(x)=x"-3x2x, x€[2;+00): dbipglbilp gulywgws M >0 phy L
npwbiu x,, € [2;+90) Ytin YtipglGhiGp max{2; M} pyhG qipwqulgnn Ywdwjw-
Yuwi ybwn' x,, > max{2; M} : Un nbwpnid

) =x),-3x,2x,>M

2wGh np M >0 phdp Ywiwjwlywo b, wwyw £ -p Yybipbhg uwhdwbwihwy
zt. \vJ
1 .1
p) f(x)=—-sin—, x#20, xe R
x x

A —8nig nwlp, np f pnillyghwl x =0 Yhwh ng Sh 2ppwlwypnid uwh-
Owlwhwy st:

Ppnp, ytipgltiGp x, =

, n=1;2;--- hwenpnwlwbnLpjnLGp:
% +27n

MubkGp limx, =0 L

n—oo

lim f(x,) = lim(% + 27tn) : sin(% + 2/rn) = lim(%+ 27m) = 400

3twbwpwn 0 Ytwnh hGswhuh 2pewlwyp b Ytpghine |hGeGp hGs-np 7,
hwiwphg ujuwé {x,,} hwonpnwlwbnipjwl pninp whnwidGtpp poywé Y hGeha
wn 2powlwypnid L hGwbwpwp hGgpwl £ 066 |hGh Gwhuwwbu npywoé
M >0 phyp, wyn n, hwiwpp Ywpnn Lop wybpwG dké Ytipghti, npp ophGuw-

Uh hwdwnp x, -0 wwinywhh wyn 2nowlwyphl L f(x,,0 ) =%+27m0 >M-g: V

Nhgnip / dnlGlghwl npngqdwé t b (nYwy vwhdwbwthwy t (a;b)

hGuntpdwih jncpuwpwGgynep Yeunnd: 36inbn®wd t, np pnibyghwb (a;b) -mud
uwhdwbwithwy t:
N3 sh htwlnud: OphGwy’
1

Jf(x)= .
Wu $niGlyghwi ybpuhg uwhdwGwihwy st: bpnp, LGpwnplGp M >1 ph-

xe (0;1)
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Up Ywiwjwlwh phy t: dbpgltibp x,, = 2LM€ (0;1) ybtwnp: Uyn nbwpnid

f(xM)=+=2M>M

M
Pnilyghw Ybpuhg uwhiwGwihwy st UwhwyG wyb (nwy uwhiwbwihwy t
(0;1) hGubipdwyh jnipwpwGgnip x, Yewnwd: Ppnp, Jnupwpwbsinip x, € (0;1)

Yiwh  hwiwp  ybpglkilp  (x,—&x,+€)  2npwluypp,  npwnbin
0<€<min(%;l—x0): PwGh np l $nGyghwld Gwqrn L, www
x

S+ <f(x)<f(x,—€), xe(x,—&;x,+€):
Npwbu ¢, L ¢, pytip YtipgltiGp
1

a=f(x,+€)= , ¢, =f(x,—€)=
' ° X, +€ : ° X, —€

f(x) InGyghwh |nyw) uwhdwbwthwy t Vx, € (0;1) Yhwnuy: \%

8nijg wwy, np Gpb f(x) Pnulyghwl (pYw) vwhiwbwhwy t [a;b]
hwunjwéh jncpupwbgnip x, € [a;b] Yewnnud, wyw w)b uwhdwbGwhwy t
[a;b] hwnydwénul:

A - Uwwgnygp JuwuwpbtGp hwywunn pGnnuGbinipjwld GnwGwyny: GG6-
pwnpbliGp $nbyghwl uwhdwbwihwy st: Unwlg pGnhwbpnipyntbp fuwhuntipnt
Ywpnn LGp GGpwnpb, np w)l uvwhiwGwdgwy st ybpuhg: Uy nbiwpnid
Vne N, 3x, € [a;b] wjlwhuhl, np

fx)>n, n=12; )

(1)-hg Uhtnlh™ lim £ (x,) = +eo: Upnu Ynnshg, pwth nn {x,} hwennnw-
Ywlnipynilp uwhiwlwhwy t (a<x, <b, n=1;2;---), www puwn Pniguln-
dwytipaunpwuh (Gddh, Gpwbhg Ywpbih b wipwunby {x,,k}, k=1,2;--- qmqu-
dtwn LGpwhwonpnwlwbnipyncd’ }i_mx,,‘ =c: Cuwnn uwhdwGGbph Ybpwpbpjwy

hwjinGh ptinptidh, yhtinbh a<c<b: Rwlh np f -p \njw| uwhiwGwhwy k
[a;b] hwndwéh jnipwpwlsgynip Yhwnnud, wwyw wyG (nhw) uwhdwGwdhwly Yih-
Gh Owl ¢ Yewnud: Snpnipynis nlGG M, L M, pdtip L (c—-J;¢c+3J) 2pgw-
bwyp wybGwhuhG, np (c—3J;c+ ) c[a;b] (tipt c-0 GtipphG Yt t, tpk c-G
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Swipwybin t, wyw hwiwwwunwuppwGwpwp wewynndjwd L dwhiwynndjwh
2ngwlwptin) L
M <f(x)SM,, xe(c-0;c+0) 2)

Pul uw hwlwunipyniG t: Npnyhtinnk Guitu f(x"k) — +oo L uluwé hGs-np
k, hwiwphg pninp x, Ytwnbpp Yuwnywata (c=0;c+0) 2powluyphl L
f (x,, ) >n,: Jwywunipnilp plutig Gpwlhg, np LGpwnnby thGp, pt HnLGygh-
wl uwhdwOwhwy st YypLpg: \%
QG f(x) pnGyghwyh npnadwl nhpnypp b wpdtpltph pwquint-
pyn0p.
4-x’

w) f(x)=4+x2

A- Bwlhnp 4+x* 20, xe R, wwyw D(f) =R : %unlkGp E(f)-p:
4-x> 8-(4+x%) 8
x) = = =-1+
S 4+x* 4+x* 4+x?

Lwlh np 2 8 3nLGyghwb YanniGh hp wikbwdbé wpdtipp, Gpp hwjunw-

+x°
pwpp (4+ x?) -hG pGnniGnud £ hp wibkGuighnpp wpdtipp, www £ $nibyghwG
hp dtéwaqn)b wpdtipp plnntGnud £ x =0 Yhwnd® £(0) =1: dnbyghwb wib-
Gwihnpp wpdtip snbh: Uwluyh hbauin £ Ghunnty, np ing{ f(x)}=-1: bpnp,

Gwhu’
8

1) f(x)=-1+ => -1, X€ER
4+x

2) Ve>0, e R, f(x)<-1+¢

dbipgltiGp 0 < £ <2 npuywi phy L |nétiGpp -1+ 4_3 > <—l+¢& wlhw-
x
Jwuwnpnipynilp:

-1+ <-l+¢

4+x°

—<ES4+x >£=>x2>§—4=>|x|> 2—4
4+x £ £ £

bwnbwpwp, bpt  npwbu  x’'e R JbpglkGp ophGwyh  hwdwp
x' =2, f§—4 Y, www wn Ynnd f(x)<-1+¢€:
£

109



Ibnwquynud, oquwgnpétiind  f -h  wGpGnhwwinipjwl  qunwihwpp,
YhhdGwynpkiGp, np f $nilyghwjh hwiwp E(f) =(-11] \

p) f(x)=log,(5+4x—x")

A- D(f)={x:xe R,5+4x—x >0} =(-15)

Lwahh np log, ¢ Inillghwl wtnn b, wwyw f(x)-p hp wikiGwiké wnpdtipp
yGnniGh wyt x, € (—=1;5) Yawnd, npnud 5+4x—x* tnwGnwdh t pGnnilnud
hp wikbwdté wpdtipp

5+4x-x*=9—-(x-2)’
Ujutntinhg Yhbiwnlh, np xgl:la?g){-xz +4x+5} =9 : 3twnbwpwp

max f(x)=log,9=2

xe(~1;5)

dniGyghwG thnppwgnyl wpdbp snibh, uwyw)l Gneyls duny hGswbu Gw-
unnn, fuGinpnud Yuintith t gnug wwy, ap inf {f(x)}=—e:

3Gwwquynid YhhdGwynpbGp, np E(f) = (—=; 2] \Y
Gl f(x) $mGlghwyh sup f -p inf f-p b max f -p, min f -p, tpk
GpwGp qnynipynl nLGEG:

SYhunnnepnih: Gpb E ng nuuinwpy puwihG pwqinipynill nGh wikGwibs
(wikGwihnpp) twppp, www wyb Yhwinhuwlw wyn pwqinipjwl hwiwp Yytphl
(unnphb) Gqp L hGwnlwpwp pninp YGphG (unphl) taptinphg watGwihnppp
(wikGwaksp): UjGutiu np wyu ntiwpnid sup £ =max f (inf f =min f):

2x
w) f(x)=——, xe€[45]
x +9
A - OquytiGp —IS%SI, a,be R wlhwjwuwpnip)niGhg, pln
a
npnud hwywuwpnipyjwG Gawbp wnbnh nibh, Gpp @ =-b, Ywd a =b nbwpnLd:
2x 1 2-3x 2-3x
= =—- : Rwl -1< Sl, _4;5 ,
f(x) = 9°3 719 wGh np 9a . xe| ] wyw
__l_gl. 2-3x2 = 2x2 sl, xe [-4;5],
3 39+x" 9+x° 3
. 1 1
min f = f(-3)=-3. max f=fG)=3

twnlwpwp, pun nhinnipjwb sup £ = max f =%, inf f =min f =—% \%

110



p) f(x)=cos’ x+cosx+3
2 1Y 11
A- f(x)=cos"x+cosx+3= cosx+5 +—
twbwpwp min £ pnilyghwh YplnniGh wyG x YbLwnbpnd, npnGgnud

1
cosx=—5 L max f-p pnlyghwG YpGnniGh wyG YbLwbpnid, npnGgnid

cosx=1:

2
X, = i§n+27m , n=0;t1;£2;-.- ShGhinwsh Ytwnbipp

x, =2kr, k=0;11;%2;--- dwpuhdndh Ywnbpp
. 11 9 11
mnf=— max f=—+—=5
s 4 s 4 4

Jtinlwpwp, punn nhunnnnipjwl
supf=maxf=5,i11ff=minf=171 \Y
Q) f(x)=2""

4.2%, tph x<-2
fx)= l-i, tpk x =2
4 2°

Rwlh np 2° Pnbyghwl wénn t, huy 1/ 2 $nGyghwl GYwqnn,
—o0 < X < +oo, Www f-p wénn b (—oo;—2] L Gwqnn t [-2;+00) dhowlwy)-
pnud: IGwnbwpwp x =-2 Yewnnd $niblyghwh YpGnniGh hp dEdwaqne)o wpdb-
pp: sup f =max f =1:

dnGyghw thnppwqgniyG wpdtip sniGh, uwlw)b inf £ =0: bpnp’

1) Vxe R 277450

2) ytingltiGp Ve >0 phy L qunlkilGp x'€ R wyGwhuhG, np 272 < ¢

LnstiGp 2774 < ¢ wlhwywuwpnipyniGp.

x>-2+log2l
£

s Loy |x+2|>log,— &
£ 1
x<-2-log,—
£

npwbiu x” Yupnn bGp Ytipglh| juwdwjwywh phy (neniGeph pwqdnepyniGhg:
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Uuwhuny' sup f =max f =1, inf f =0, minf-p qnnpjntl snLbh:
LUwG auny Ywpnn GGp gnug vwy, np $nLllyghwl wikGwihnpp wpdtip snibh:
Nw hwiwp pwywlwa t gniyg wy, np hGswhuh kg thGh m, >0 phyp, qnynt-
pyntG niGh x’ € R wyluwhuhG, np f(x") <m,:

hbuy wynwhuh x’€ R qnynipynilp htinlinud t Ybipp pipdwé nwwnnne-

pnLGGLphg, tipt € >0 phyp thntuwphGllGp m, >0 puny: \%
3-4x
- , _w;_l
0= xe (i)

A —Tuwpqbbp f pnilGyghwih dnGninnGnipjwb pGnupp:

3—-4x —4x+6-3 - 3

2x-3 2x-3 2x-3

dbipglliGp x, L x, € (—oo;—1] L x; <x, wwydwGhl pwjwpwpnn Yhwntip:
3 3 3 6(x, —x,)

x -3 2x-3 (2x,-3)(2x,-3)

Pwlh np 2x,-3<0, 2x,-3<0 L x,—x, <0 www f(x)-f(x,)<0:
Npwntinhg htivbnud £, np £ $mbGYghwl wénn b (—oo;—1] Showlwjpnid: 3b-
wbwpwp sup f =max f = f(-1)=1, min f -p qnynp)niG snLGh: bpnp’ Gwfu

—4x+3 3
f(x)= =-2

2x-3  2x-3
(hGh =2 < m, <1 phup qnyntpjntl niGh x’€ (—oo;—1] wybwhuhG, np
3

2x'=3

f(x)= (1)

Fx)=f(x)= 2

> -2, x€ (—o;—1]: 8nijg twlp, np hGswhuhh ki

-2-

<m, (1)

(notiiny (1) wGhwywuwpniip x"-h Gyuwndwdp YniGEGwGp x’<M:
2(my, +2)

Ujowtiu np f -p wikGuihnpp wipdtip sniGh: \Y
8nug wwlp, np inf f==2: bpnp (1)-hg hbwbknd t  f(x)=-2,

<-2+¢& wb-

x € (—o0;—1]: dtipgltiGp nplt £ >0 phy L |nLéGhGp -2 — 5 3
x—
hwjwuwpnipjwip:
<ES <£4:»3—2x>3¢1>x<l(3—E :
2x-3 3-2x £ 2 £
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Npwtiu x* ytipglkGp (—oo;—1] ShewlwjphlG wwwnlwlnn L %(3-2)
£

pdhg thnpp gwllwgwd Ytw: Un nbiwpnd  f(x")<-2+¢€: Ibtwnbwpwp
f(x)2-2, xe(—o—-1] L f(x)<-2+¢, x'€(—o0;—1] wuwjiwhGGliphg,
yhtwlp' inf f=-2:

Wuwhuny® sup f =max f =-1 inf f =-2 min f -p qnynpynih sniGh: V

3. DNHLUSPUSP UUIUUL,
GNPUruU2UOULUL UBLULURPULNIOE3NILL

Nhgnip f dnGyghwh npnpdwé £ a Ytwnh Utg0 (a) 6wy 2ppwilyuypnid: b
phup Yngynd &t £ pnLbGlyghwjh uwhiw, tpp x -p dquinud £ a-hG (Ywd a Yb-
wnid), bpt gwllwgws € >0 pyh hwiwp qnnipyntlh nbh §>0 (§<4,)
phd wjlGwhuhG, np gqulywgwé ULwwh hwiwp, npp pwywpwpnid t
0<|x—a|<8 wwywlhG, wtnh niGh |f(x)-b|<e wlhwywuwnpnipnilp
(pnLGyghwyh uwhiwh puwn Unzhh): Uju nbwpnid qpnud LG lxl_IE f(x)=b Ywo
f(x)>b,btipp x > a:

Spwiwpwlwywh updyniGiph dhengny wyu vwhdwbnuip Ywpbith £ qpb
htwnbyw) Ybpy {li_rgf(x)=b} & Ve>0,3>0, (0<G):

Vx:0<|x—a|<8—>|f(x)-b|<e

Ywd oquwgnpétiiny 2powlwyph hwulwgnipynibp™ Ywpbith t wyl gpby htinb-
Jwy Ybpwy.

{lirnf(x)=b} & Ve>0,38>0, (5<8,): Vxe Uya)= f(x)e U,(b)

b phdp Ynsynud t £ PniGyghwyh uwhdwd, tipp x -p dquinud t a -hG (Yuwd
a Ybwnud), bpt gwllywgwé {xn} hwonpnwywGnipjwl hwdwp, nph pninp
whnwiGbpp wwwnlwinud 66 @ Yewh 6, 2newlwiphl L wwpptip GG a-hg

(x,#a;n=1;2;---) L npp dquinui t a-hG (li_r’r:x" =a), $niGyghwih hwiw-
wwuwnwufuwb wpdtipGtphg Ywqidwo { f (x,,)} pywjhG hwonpnwywbnipynilp
dquinud t b -ha (lim f(x)= b) : (dnuGyghw)h uwhdwh puwn IwyGeh):
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UwhdwGh YUnohh L 3wyGth uwhdwGnuiGlpp hwiwpdtp ba:
b phdp Ynsynui t £ $nmGyghwih uwhdwG, tipp x = a-hG (Ywd a Yyb-

wnud), bipk b Yhiwnh gulywgws guwlywgws U, (b) 2pgwlw)ph hwiwp gnjnt-
pjntG mbGh a Ykwh Ud(a) owly 2pewlwyp, wybGwhuhG, np Vxe U, s(a) ytinh
hwiwp f(x)e U, (b):

Oquybiny uwhdwGh Gpypwswpwlwh dtLGwpwGnpyntGhg L 2pow-
Yuwptiph wbkpdhGGephg, vwhiwlGh qunwthwpp Ywpnn tGp pGnhwGpwglby
wjG nbwpbph hwiwp, Gpp a Ywd b pytiphg qnGb dLhp, Ywd GpyniuG ty
Shwdwiwlwly hwyjwuwp GG oo, + oo, — oo uhdynilbtiphg nplt sEYHG:

b phdp Ywd uhdynip Ynsumud bt £ $nullyghwyh uwhdwG, Gpp x -p dquinud k
a puhG Ywd uhiynihG, bt b Ytwh Y uhddnth YU, () (U, (b)) 2new-

Ywyph hwdwp qnyntpyntl nGh @ Ywnh Ywd uhdnth U s(a) (UAz (a)) 2now-
Ywjp wyGwhuphl, np Vxe Ua(a) (xe U, (a)) ybwh hwiwp f(x)e U, (b)
(f(x)eU, )"

4. DNFLYUSPUSP UPULNTUULP UUIVULLED,
vuuLuyp vuruuLLEr

ahgnip f Pnlyghwh npndwé b a Yhnh wowynndjwl' a<x<a+4,
(Qwhuwynnijwl’ a -4, < x < a) 2pgwlw)pnry:

b phdp Yngynud t £ PniGhyghwih wowlynndjwl (dwhuwynnijwi) uwh-
dw@, ipp x-p dqunud t a-h (Ywd a Yhwnnd), Gpb guwllywgwd € >0 pyh hw-
dwp gnynpyntl nbh 6 >0 (6 < 6,) phd wylwhuhG, np Yuwiwjwlwh x Yhwnh
hwdwp, npp pwdwpwpnui £ a<x<a+d (a—-9d < x<a) wwdwlhb, inbkinh
nGh | £ (x)—b| < £ wGhwywuwpnipnilp:

Lowlbwyynd t b= xl_imo f(x)=f(a+0):

" a Ybwnh U,(a) 6wy 2ppwlwpp, nw a Yowh (a—J,a+F) 2pwilwypl t wewhg a Ybwh
e uhtiunih U, (o) 2ngwlunpp (A >0), nw U, () ={x:| x|> A} pwadnipjniaa t

+eo uhddnih U, (+e0) 2nguijupp U, (+00) ={x:| x [> A} puquinyniGt t

—oo uhiynth U, (—e0) 2npwlwipp U A(—e-o)={x:| x| A} pwqinupnuGa t:
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Spwiwpwlwlywb uhdynmbGtiph dhengny wju uwhdwhndp qpynud t hb-
nbywy Ytipw.

{b=xl_i)gr+10f(x)}@‘v’e>0 36>006<4,):
Vx:a<x<a+d —>|f(x)—b|<8

Gpp f dnullghwh npndwé b a Ybwnh bpyynndwGh U‘,o (a) 6wy 2pow-
Yuypnd, wwyw a Yewnnd pnGyghwyh uwhdwGh gnynipynlp hwidwpdtip t
f(a-0) L f(a+0) vwhiwhGtph qnyntpjwhp L hwywuwpnipywGp:

Ohgnip f dnillghwl npnadwé t a Yenh U s(a) owy 2ppwlwypnid:

b phyp Ynsynui t f dniGyghwyh dwuGwyh uwhidwh, tpp x -p dquinud t
a-hG, tpt gqnynupyniG nuGh {x,} x, #a, (n=1;2;---) hwenpnwlwbnipniG
w)OwhuhG, np x, > a= !'i_rgf(x") =b:

LnyG dund uwhdwbymd G0 wGdtpe L Shwynniwbh dwubwyh uwh-

dwhGbpp: f $nGyghw)h wikGwihnpp b wiklwité Swubwyh uwhowbbEphG
wOjwnud 66 wyn InGyghwjh unnphG L YyEipht uwhdwGGbp L Gowbwynid G0

lim f(x)  lim f(x) uhduniGnny;

X—a

5. UNLNSNL dNFLLUSPUSH UUIUULL

Gpt f(x) $nGyghwl wénn b L vwhiwGwihwy (a;b) Ghowlwypney,
www jnupwpwlbgnp x, € (a;b) Ytwnd qnynipynth nuGbG dwhuwlynnijwl’
S(x—=0) L wowynnijwl® f(x,+0) yYtippwynp uwhiwhbtp, pGn npnud
S(x,=0)< f(x,) < f(x, +0): UwuGwynpwwbu qnympyntG nuGb a L & Yb-
wbpnud hwiwwwunwufuwlwpwp wowynnijwl b dwhuwynnijwb Ytpownp
uwhdwGGtp, npnGp hwywuwp GG xl—i)l;r+10 f(x)=sup f, ,l_lg}o f(x)= inf f:

xe(a;b) xe(a.b)
bpbt f(x)-p Gwqnn t L uwhiwbwihwy, wwyw Jncpwpwbsnip x, € (a;b)
GbpphG Ybwnud qnynipyntl GGG dwhuwynnijwG® f(x, —0) L wowlynndjwa’
f(x,+0) ybpgwynp uwhdwGlp, pGn npnud f(x, —0) 2 f(x,) = f(x, +0):

UwuGwynpwuwtu q L b Yawnbpnud qnynepynth niGbG hwiwwwinwubuwGwpwn
wowynnijwh L dwhiwynnijwhb ytpgwynp uwhdwGatip, npnGp hwywuwp GG

Jlim f()= sup f lim, /()= inf, /-

xe(a;b)
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orpLULLEP

Oquytiny uwhdwGh Unzhh uwhdwGnuihg wwywgnighi hwyjwuw-
pnipyniGp.

2

w) I lim L{'9x—+4=_2

=2 x+7
A - dnuGyghwl nhinwpyblp x, =-2 Yewh &, =1 dwy 2ppwlwypnty’
U,(-2) = (-3;-1) x#=2

x2+9x+4_(_2)=|x2+9x+4+2x+l4| |[x* +11x+18] _

x+7 | x+7 | | x+7 I
N ’|x+9| E _ -
=|x+2]| |x+7|<4 |x+2|=2|x+2|, xe U,(-2)

dtpgltilp npbt £>0 L |néklp, 2[x+2/<e  wlhwywuwnpnudp

|x+2|< % : Npwbu 8(e) >0 ybtpgGkGp &(€) = min {l;g}»: Wn nbwpnid

X +9x+4 |

0< |x + 2| < ¢ Lhtinlh + 2I < & wihwywuwpnpynilp: \Y

p) liran/)c2 -5x+29=5

A - YhwnwpybGp dnibyghwh x, =4 Ytiwh &, =1 dwy pgwlwypnid
U@ ={x:3<x<5, x¢4}

}\/x -5x+29 5‘ x’ —5x+4 l

V¥ —sx+29+5|
x|

—4|
=4 Jx?=5x+29+5

<g|x—4|, xe U, (4)
dtipgGkGp nplut £€>0 phy L (nL6LGp §|x—4| <& wGhwywuwpnidp:

Npwtu &(¢) phy YtipgGliGp' &(€) = min {l;%e} : \Y

a) lim 3x+4
x—)——03x 1

= —00

l.lulwgmgblm hwiwp pwdwywl t jmpwpwlynip A>0 pyh hwdwp
quitp 6(A)>0 phy wjlwhuhG, np pagnp x -tiph hwdwp, npnGp pwywpuw-
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1
pnud GG %— d<x< 3 ww)dwhhG, nbnh nGLGw ix +4

<—-A wihwywuw-
x-1

1
pnupyniGp: RwGh np x <§ www, 3x—1<0 hbGinLwpwp

:;x-H:<—A4:>3x+4>—A(3x—l)=—3Ax+A@3(1+A)x>A—4@
x—
S A-4 1 1+A-5 1(1_ 5
31+A) 3 1+4A 3 1+A
5 1
Ujuwyhuny, htGg np —- <x<-—, ] nLGGGw
juwhuny 9 n33(1+A)x3 www wbknh 4
3x+4
3 1<—A wlhwywuwpnipyntGp, npwtu 6(A)>0 phy YtipgGhGp
x—
5
o(A) = : \Y
3(1+A)
5-8x
lim =
N e

8ni)g wwlp, np jnipwpubsnip € >0 pdh hwdwp qnynipynih niGh
A(€) >0 phy wyGwhuhG, np x <-A wuwydwlhi pwywpwpnn Vx-h hwdwp

wntnh nuGh ;_f; +4{ < £ wihwywuwpnip)nilp:
X
5—8x+4| _[5-8x+8x+28| 3 33 _33
2x+7 | 2x+7 | |2x+7| |2x| |x|

pninp wyG x -Gph hwdwp, npnGp pwywpwpned GG | x > 7 ww)ydwGhG:

33
dtpgGhiGp nput €>0 phy L nuokiGp |——|<e wOhwywuwpnipyniGp:
x

33 33 33
Ixp—x<-—, x>—=:
£ £ £
33
Npwbu A(€) >0 phy ytipglklp® A(€) = max{7 ?} \Y%
2
) lim X =—o0
o= 3+ x

A —Uwwgmgtiin hwiwp pwdwlwa t gniyg wwy, np gwGyugws A, >0

pyh hwdwn gqnynipynth nGh A,(A)) >0 phy wjbwhuhl, np x <-4, wwjdw-
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2

-9

0hG pwywpwpnn pninp x -tiph hwdwp wntinh nuGh §+ <-A, wihwjwuw-
x

pnipynLlOp:

Unwhg pGnhwGpnipyniGp luwlunbing, Ywpnn GGp GGpwnntip, np x <=3

2
x° -9 <-A & (x=3)(x+3)

<-A & x-3<-A & x<3-A,
3+x 3+x

wyyh welbiny Gwb x <=3, npwtiu A, (4A,) phy YtipgltiGp
A,(A) =max{3;A, -3} \%
q) Xlirpﬂ [Bx+1] =400
8niyg wwbp, np gwllwgwé A, >0 pdh hwiwp qnnipymld  niGh
A,(A) >0 phd wyGwhuhG, np x> A, wuwydwGhG pwdwpwpnn painp x -tiph
hwdwp wnbinh nubh [3x +1]> A, wGhwywuwpnipyniGp:
OquygtiGp [3x+1]<3x+1<[3x+1]+1, YnObGwGp

[3x+1]>3x > A, @x>%

htiinbuwpwin, tpl npwtiu A, (A,) > 0 phy ytipgGtiGp A,(A,) = % , www x> A,
ww)dwGhG pwywpwpnn pnpnp x -tiph hwdwp ntnh YnGelw
[3x+1]>3x>3 % = A, wihwywuwpnipjniGp: \%

Oquytiny vwhiwGh IwjGbh uwhdwGnudhg, gniyg wwy, np hbwnlywy
uwhdwGp qnynupynil sniGh:

lim cos
x_,_i 3x+2

Uwwgnigbint hwiwp pwywlwb t qunGly {x,,}, n=1;2;--- hwenpnwlw-
2
Gnupyw(, npp dqunnid t —E-hﬁ, uwlyw)o $niGyghwyh hwiwwwwnwupuwb wp-

dtipGtiphg Ywqiywé { f(x, )} hwonpnwlywbnipyntlGp uwhdiwb snbh, Yuwd qunGby
oyt wwppbp {x/} L {x]} (n=1;2;---) hwenpnuwywGnipynilGtp, npnGp
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2 ’ v
dqunud LG -3 puUhG, uwluwyG {/(x))} b {f(x])} (n=12;---) hwenpnwlw-
GnipyntGGipp nLGEG wwppbip uwhSwGGbn: UnwehG nbiwpntd npwtu {x,} hw-

. 2 1
onpnwlwanipynh YtpgGhkiGp x"=—§+3—, (n=1;2;---) hwynpnwlywbni-
n
pyniGp:

V.4 V.4
Ujn nwpntd /1 (x, ) =cos =coSs
in g 7 (x,) 3x,+2 2+1/n+2

n=1;2;--- { f(x,)}-n uwhdwa smGh:

Gpypnpn nbwpmd GGnud GGp htinlywy nwwnnnnepnlGGtphg: RwlGh np
cosx =a hwjwuwpnuip (|a|<1) nbh whphy pwquinipjudp (nLonLiGLp, wuyw

{x} u{x]} (n=1;2;---) hwenpnulwGnpjnLGGtipp quGkGp htinlywy Ybpw'

=cosan=(-1)",

Cos ,” =1, n=1,2;--
3x,+2
CoSs :t =—]' n:];z;...
3x,+2
’ 2 1
’ =27n, (n=1;2;'--)=>x,,=——+—, n=1;2;--
3x,,+2 3 6n
il 1

- =r1(2n-1), (n:];z;...):x"::_z_'_ '
3x7+2 3 32n-1)

limx, =limx, = _2
3

Uwluw)G lim £ (x)) =1, lim £ (x])=-1: —1#1: DnGlyghwl uwhiwh sni-
Gh:
1
) lirr3142"'3

x—=

2

JdbtpgGtiGp x/ =2+L L x,',=§—i, n=1,2;--- hwenpnulywnipniG-
2 2n 2 2n

Gbipp: NuGLGp lim x/, =lim x; _3

wagtp {£(x))} U {F(x)}-0 inpwpwbgnip ne N hwdwn
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31
f(x’) =42(57)-3 =4", n=1;2;--

n

lim f(x))=1im4" =40, lim f(x})=1im4™ =0 9nilyghwl uwhiwh

snibh, Gpp x > —;— -h:
Oquybiny UwhdwGh IwjGbh uwhdwGnidhg, gnyg wwp np f(x)
$nulyghwG nGh uwhdiwh Shwjo Gwéd YEnbpnud:
2
Fx)= x“+3x+5, btpk X-pnwughnGuy t % ==3; x, = 4:
17 +4x, tpt Xx-p hnwghnGuy t

A—3bwn t Gywwnbp, np Gaywé Yhwnbpp y=x"+3x+5 L y=4x+17
dnibyghwtiph qpwdpybbiph hwwndwhb Ytinbtiph wpughulbpt t0: Iwwndwh
ytiwnbipnud opnhGuunGtpp hpwp hwjwuwp Ga:

bpnp x* +3x+5=4x+17 x*—x-12=0 x,=-3, x,=4: x,-hg L
x,-hg twpptip d0wgwé pninp Yhintipnud x?+3x+5#4x+17:

8nyg wwlp, np f dnGyghwlG x, =-3 Ltwmd nmlbh  uvwhowd:
NYhuwpytip yuwiwjwlwb hwonpnwlwbnup)niG, npp dquinud t -3 :

limx, =-3, x, #-3, n=1;2;---
30wpwynp GG Ghwyl hbwnbywy tipkp nbwpbipp:
I {x,} -h pninp wGnwiGlipp ufuwé Sh npny (n2n,) hwiwphg' nw-
ghnGwy pytnp G Un nbwpnd f(x,)=x’+3x,+5, n2n, L

htitnbwpwp (GYwwh nGbGwind, np ybppwynp pynd whnwiGbph
htinwgntip sh thnfund uwhdwGp)

lim £ (x,) = lim (x} +3x, +5)=9-9+5=5:
IL {x,,}-h pninp wlnwdlbpp uyuws 6h npny (n2n) hwiwphg
hnwghnGwy pytip bG: Un nbwpnid f(x,) =4x,+17, n2n L
lim f(x,)=1lim(4x, +17)=-12+17=5:
oL {x }-p wwpniGwyns t wGybpy pwiwynipjwip pb nwghnlw) L pb
hnwghnGuw pytip:
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tpti {xkn} N {xjm } -p wyn hwonpnwlwnipjwl nwghnGw| L hnwghnGwy
pytiphg pwniugwdéd LOGpwhwenpnwywlnipynGGlpG 66, www puwn Ybpp
wwwgnigwéh f(xk" ) -5, f(xjm ) —5: Wuhlph 5 pyh gulbywguws € >0
2nowlwyphg nnipu Ywpnn GG qunGyt wyn hwenpnwywGnipjniGGph qnigb
shuyG Ytipgwynp pyny wlnwibbp L htwbwpwn {f(x,)} hwenpnwywant-
pjwl ytpowynp puny whnwiGtp, hnlwpwp
lim f(x,)=5:
LnujG duny gnuyg Yuwbp, np x, =4 Yhwnnd $niGyghwi nlh uwhiwh b
lin} f(x)=33
UGwgwé pninp Yhnbipnid $nclyghwl uwhdwh snibh: bpnp, GGpwnpbiGp
xR L x,#2-3, x;#4: Unnbbwiny x,-hG Gh nbwpnid hnwghnGuy
pytinhg pwnywgwé {x’} hwenpnwywlnipynilny, oY wy) nbwpntd rwghn-
Gwy pUtinhg pwnywgwé {x7} hwenpnwlwbnipniGny, YniGGwbp
limx, =limx’ =x,
lim £ (x,)=lim(x;” +3x, +5)=x) +3x, +5
lim f(x}) =lim(4x, +17) = 4x, +17
Uwlwyh xg +3x, +5# 4x, +17: dnlblyghwl x, Ytwnnd uwhdwb snilh: \%

3wyt linolﬂl—-)i uwhdwGp:
x— X

Luwhu wuywgnighbp tpynt Yuplnp wGhwjwuwpnipynclltip trwGyynibw-
swihwlwh $nGyghwhliph hwdwp.
sin x

<1 (1)

I-8nujg nwlp, np ipk xe (—%,-’25) x#0 www cosx <
x

A —UnnpnhbGwunwywb hwppnipjwl Ypw nhunwpytiGe Shwynp 2wnwy-
nny 2pewG, nph YtGupnGp qunGynud t 0(0;0) Yhwnud:

Yhgnip ZAOB=x, npbin 0<x<x/2: B Utwh
wpnbiyghwG x -tiph wnwGgph ypw GawlwykGp C-ny, huy
D \ytiwnp pnn thGh OB Gwnwqujph L 4 Ytwny x-Gph 4
wrwlgphG wwpwéd ninqwhwjwg manh hwwndwh Yewnp:
Ujn nbwpnud BC =sinx, AD=tgx:
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Pwnnwwbiny AOAB -G, utiyuninp OAB-G L AOAD -G, Gpwhg dwytpbu-
Gtph hwdwp Ywpnn tGp qpbig

SAAOB < SuhhAOB < SAAOD (2)

npubn S, s =%(AO)2 -sinx = %sinx

SuhlqA()B=5(0A)2'x=5x SMOL,:EOA-AD:-Etgx

wnbinwnpbiny (2)-h Gtg L YnSwintiyny 1/2 -ny, Yuunwbuwhp

sinx<x<tgx, xe(O;%) (3)

pwbh np sinx >0, xe (O;%), www (3)-h bpbip dwubpp pwdwlbiny sin x -h

Ypw Yuunwlwhp’
<X < ! . xe(O;ﬁ) 4)
sinx cosx 2
UGglLny hwlwnwnd dénLpynLGGEphG (4)-hg YniGLGwGp
cosx < Snx <1, xe (o;f) (5)
x 2

Ujdi tGpwnptbp —% <x<0: Un nbwpnd 0<-x< % L hGwnbLwpwn

sin(~-x)

puwn (5)-h cos(=x) < <1: (6)

_x)

sinx

Pwlhnp cosx L dnLlGlyghwtipp qniyq pnibGlyghwitp GG, www (6)-hg

yhtwlp cosx<smx<1, xe(—%;O): 7)
x
(5)-hg L (7)-hg Yhtinlh (1)-p:
II-8nyg wwbp, np gwllwgwé x € R -h hwdwp Ghawn t
|sinx| < x| 8)

(8)-p Ghain t ipp x=0: LGpwnpblp x #0:
bpb xe (o;%), wwyw (8)-p hitnlintd t (3)-hg:
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tpt xe (—%;0), www winwhuh x -Gph hwdwp (8)-p hwiwnpdtip t
—sinx £ —x Ywd sin(—x) <—x 9)

Pw)g xe (O;%). nph hwdwp (9)-p L hbwnlwpwp (8)-p Ghawn t: Ujuwhuny

(8)-p Ghawn t, tipk |x|<%: bpb |x|2%, www wjnwhuh x-bph hwdwp (8)-+h

dwiu dwup thnpp Ywd hwywuwp t 1-hg, huy we dwup dké t 1-hg:
Ujuwhuny (8)-p 6hawn t gwllwgwd xe R hwdwnp:

Udi hwyytGp 1in3ﬂ-n:
x— X

Cuwn (1)-h cosx<w<l, X€ (——’25,-7—2[-) x#0 (10)
x

Pwqiwwwuwnybiny (10)-h tptip dwubipb k| —1-nd, wjGnihbwnl bpbip dw-
ubiphG qnuiwptpny 1 phdp, YnLGEGwhp.

sin x Tr

<1-cosx, xe(———;—), x20 (11)
2°2

Uwluwjl puwnn (8)-h L Isin tl <1, te R wGhwjwuwpnipjub

0<1-
X

0<l—cosx = 2sin® = = 2|sin 2| sin 2| < 2|sin = S2-M=|x|, x20 (12
2 2 2 2 2
Ujuyhuny unwguwlbp
0<1-222<|«], xe (-f;f), x#0 (13)
x 22

JdbipgGbGip nplt £ >0 phy L npwtiu &(¢) phy plnpkGp J(€) = min {s;%}

sinx
—-1

phyp: 3thGg np 0<|x|<5 Yyhtiwnlh < & wlhwywuwpnipynibp: U)G-

whu np lim 322X 1.
-0 x
1

lirr(}(l +x); uwhdwGh hwaynuip:

A — Lwhu wwwgnigliGp htinbyw| wannudp
Ohgnip {n,}, (k=12;--) plwlwh pytiph Ywiwjwywa (ns whuuw)iws
wénn) +oo -h dqunnn hwonpnwlwbnepynil t: Uyn nbiwpnid
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Ywiwjwywl hwenpnwlwbnipynil t, npp dquinti £ 0-h L x, >0, ke N:

124

lim[l +L) =e
k—oo nl(

bpnp puwn hwenpnwlywntpjwlb uwhdwbh vwhiwGiwh

(1-}-1) —e
n
Lwlh np }imnk = 400, WIYW
VM >0, 3K,,e N:Vk2K,, >n >M

Ve>0 3ny(€): Vnzny(e) > <€

(1)

)

(2-h dbg npwbu M >0 phy ytipgltilp M =n,(e) 3K, (&) =K(€):
Vk 2 k(€) > n, >ny(€)

Npwntinhg, puwn (1)-h, Yhbwnbh <€, k2k(e)

(1 +—1—) —e
n,
k —o0 nk

Ujdd waghblbp uwhdwhh hwaydwhbp:
Pwywlwl t wwwgnighiy, np

bwnbwpwp lim(l +i] =e

1
}LIPO(I +x)* =e
1

}L@O(l +x)*=e

3)

(4)

©)

OqunytiGp uwhdwGh 3w)Gkh uwhdwGnushg: Yhgnip {x, }-p (k=1;2;--)

UnwGg plnhwGpnipyniGp fuwfunbim GGpwnpliGp O0<x, <1, ke N:
LawlwlkGp n, =[V/x,], k=1;2;---

U)n ntiwypnid n, s—l-<n,,+l, k=12;---

Xy

Npwtinhg by Yhtitnkh 1+

1
<l+x, <l+—:
n + n,

Lyjwwh nuGbGwny wumhﬁwﬁu’ﬁ L gnigswihG $nilGyghwlbbph wsnn
LhGbiLp Ywpnn GGp qnbiy.

n 1 n,+1
(1+ l ]_,.<(1+x,)§ <(1+-1—) . ke N
n+1)’ n,



Lwlh np SwypwlnwiwihG hwonpnwlwbnipyntbGGtipp dquintd LG e -hG

www puw tiptip hwenpnwlwinpyjwi Yhipwpbipjwy pinptith Il‘im(l +x,)* =e:
1
Npwtinhg k| Yhtwnbh lirPO(l +x)*=e:
(4)-p wwwgnigytg: Uwwgnighlip (5)-p: dbipglktp -1<x, <0, ke N,

wwjdwbhl pwywpwpnn  YwiwjwlywG 0-h dquinn  hwenpnwlwinipyniG:
Lowlwytbp y, =-x,:

Ujn ntiwpnd
1 W ™
(I+x)* =(1=-y) ™ =( ) =[1+—)—)"—). . ke N (6)
1-y, 1-y,
LwlwlbkGp z, =1y" . ke N, nGtGp z, >0, limzk =0 L
i=ﬂ=L_1' ke N:
Z Vi Vi
1 1
Npnbnhg —=—+1, ke N:

Ye 2

Stnwnntiiny (6)-h vk, YnLGEGwhGp
1 1

(+x)* =(1+2,)* -(1+2,), ke N
Npuntinhg i, pun wwywgnigwdsh, Yunwbwbp
1 1

lim(1+x,)* =lim(1+z, )+ lim(l+z,)=e

6. UGNrAUYNN UUIUUL NFLESNT DNFLUSPULGIP G4
LPULS UUIVULLGrP IUSUNFRINILLEGM D

Swwnlynp)nilh 1 - Gpt Inyghwh a Ybwnd nGh Ytpewynp uwhdwa,
www w)b |nywi uwhdwGhwy t wyn Ywnnd:
Rwwynpynih 2 - pbi lim f(x) =b, pGn npnud b # 0, www gqnynipnil

niGh a Ytnh Uy(a) 6wl zppwlwyp wyluwhuhG, np wyn 2pgwlwyph pninp b-

wbipnud $niblyghwl plantGnud t Gyl Gawbh wpdtipGtp, hGs Gawh noh b ph-
dp: Wu hwuwynipjwlp hwiwhu wldwbnid 66 GowOh wwhwwldiwl hwwn-
YnLpynLG:
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JwwnlnpymG 3 - bpb gnynipynth nLGh 6 >0 phy wylwhuhG, np pninp
xeU s(@) hwiwp wbnh nGh g(x) < f(x) < p(x) wlhhwywuwpnipynilp L
bpt lim g(x) =limg(x) =5, www qnynipynth nLGh li_rg f(x)-p, npp GnejOwbiu
hwywuwnp t b-hb

lim f(x)=b

Swwnynpynt 4 tpt lim f(x)=A4, limg(x)=B pln npnid A< B

(A>B), wyw gqnjnipynts moh 6 >0 phd wybwhuhG, np pnpp x€ Ua(a)

hwidwp wbnh nGh f(x) < g(x) (f(x) > g(x)) wihwwuwnpnipynilp:
Uwubwynpwwbu® tpb lim f(x)=A4 L A>B (A<C), www qnjnpjnth

nGh 6 >0 phy wyGwhuhG, np pnipp x€ Ud(a) Ytwbtiph hwdwp wtinh nlh
F(x)>B (f(x)<C) wGhwjwuwpnipnip:

3wwnynpyna 5 bpt qnynupynth nGh >0 phy wywhuhG, np pninp
xeU s(@) hwiwp wbnh nGh f(x) < g(x) wGhwywuwpnipynilp L btpb
lti_rgf(x)=A, 1i_rgg(x)=B,wu|w A<B:

7. ULYGrR oNer dNFLUSPULLD,
PUNTNUSNIUL, JUUUNGGR ULYEGNR ONLRNGP

Gpb lima(x) =0, wyw a(x) $nibyghwiht whywbnd GG whykipg thnpp

$nbyghw, tipp x > a:

dtppwynp pwlwynipjwip whdbpe thnpp IniGhyghwltiph qnidwpp
waytpo thnpp dnbyghw t, Gpp x > a:

utdtpg thnpp niGlyghwih b a Yhwnh hbs-np dwy 2pgwlw)pntd npngwé

L vwhdwlwhwy pniblyghwih wprwnpjwip widtpe thnpp pniblyghw t, tipp
xX—a.

Pwlh np wOdtpe thnpp $nilyghwb nlwy vwhdwGuwihwly pnibyghw t,
www bpyn waytpe thnpp $nibyghwbbph L hnbwywpwp Ytppwynp pwlw-
Unipjwip whytipg thnpp Hnillyghwltiph wpinwnpjwip whdtipg thnpp HniGy-
ghwt, tpp x > a:

Npwbiugh b phyp hwinhuwlw f(x) $niGyghwih vwhiwa, tpp x > a,
wGhpwdtain t L pwywpwp, np f(x) dnlGyghwl nGkGw f(x) = b+ a(x)
GGpywjwgnidp, npuintin a(x)-p waytipg thnpp $nibyghw t, ipp x > a:
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np pnihp
p)ntlp L
inyOwbu

§ A<B
e Uy(a)
X

nynLpynLl
tinh n.Gh

" pognp
p L bpk

ing thnpp

qnidwpp

npn2ywé
w t, tpp

Gyghw t,
n pwliw-

n Pnuly-

') X —>a,
b+a(x)
1

bpt a(x) L B(x) $nLGyghwhbipp whybpg thnpp &G, ipp x 5 a L

—x=0, www a(x)-p widwbnd 6O wybh pwpép Yupgh

whytpg thnpp B(x) whydbpe thnpph GUwwndwdp, bpp x > a L qpnid GG
a(x)=0 (B(x)), tipp x > a:

. =1, wyw a(x) L A(x) dnGyghwhtpp Ynsynid G hwiwp-

dtip wGytipg thnppbip, tipp x — a: LawGwyyns b a(x) ~ B(x), ipp x > a:

Liwbwunhw uwhdwbnuiGlip wpdned 66 Gwl wGytipy dké Pnibyghwbtph
hwdwp:

Upwwnpjwih L pwinpnh uwhdwGGEp hwybihu Ywpbih t npn2 $ncby-
ghwGbip thnfuwphGb hwiwnpdtp $nGyghwGtpny:

Lwplnp uwhdwGGbp, npnlGp oquwgnpéynd GG $nLGghwhtiph uwhiwh-
Gtp hwaytihu,

sinx X _
w) lim =1 im2—" -
) lim " n) Llil‘ol . Ina
o) liml—cg)sx _1 by lim log,(1+x) _ 1
=0 x 2 x50 x Ina
1 p_
9) lin(}(l+x)" =e q ling(l"'_x)__l=p
x> x— X

Oquytiiny hwiwwwwnwufuwld vwhiwbGGbph pwlwdltiphg L hwdiwpdt-
pnipjwl uwhdwGnuihg, Yupbih t Yuwqik] hwdwpdtp $nbyghwGtiph hbuinb-
jwy wynwuwlyp, pp x >0

sinx ~ x, Gpp x 20 arcsinx ~ x , Gpp x>0
tgx~x, Gpp x>0 e -1~x, Gpp x>0
arctgx ~ x , Gpp x o0 In(1+x)~x, tpp x50

tbpp x>0 |(1+x)"-1~px, Gppx—>0

l—cosx—--l—x’,
2

a'-1~x-Ina, bppx—>0
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Uu wrynwwyp Ghown t Gwl wyl nbwpmd, Gpp x-p thnfuwphGnud Gop
a(x)-ny, npnbin a(x) >0, tpp x > a:

sina(x) ~ a(x), pp x > a |arcsina(x) ~ a(x), bpp x > a
tga(x) ~ a(x), bpp x > a |20 1~ g(x), bpp x > a
arctg a(x) ~ a(x), pp x 2 a  |In(l1+a(x)) ~ a(x), bpp x > a

G - P11~ tipp x 2 a
l—cosa(x)~%a2(x), R x—a |(1+a(x))” -1~ pa(x), e

a®® -1~ q(x)-Ina, bPpx—a

8. PJUPULULUL SNPrENNFER3NILLEN
JdGNAUUNN UUIUUL NFLESNT DNFLYSPULEPP 36S

bt f(x) L g(x) PnGyghwhtipp nmOGG YGpowynp uwhdwGGtp, Gpp
x —a, pln npnud lim f(x) =4, limg(x) = B wwyw

1) lim[f(x)tg(x)]=lim f(x)tlimg(x)=A%B

2) lim f(x) - g(x)=1lim f(x)-limg(x)=A4-B

lim f(x)

3) imd P o= A By,
s> g(x) limg(x) B
UwhdwGGtpp hwpytithu oquwlwp £ hbwnbyw) ptinpbdp:
Btnpkd. bpt qnynip)nth NGk lime(x) =5, lirr: f(y)=A4, pln npnud a

Wwh hg-np Uy (@) Swl 2pewluph pninp x -tiph hwiwn @(x) # b , wuww
anipyntG mGh £ (@(x)) pwpn $niGyghwyh uwhdwGp L wbnh nubh
lim f (p(x) = lirrl} f(y) = A hwjwuwpnipyniGp:

orhpLULLEP
Uwwgnigtig, np
w) limsinx =sinx,, (x,€ R)
XXy
p) lim cosx =cosx,, (x,€ R)
XXy
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q) }i_g:tgx=tgxo, (xoe R, xoat%ﬂm, ne Z)

n) krg&/? =2, . (%, € (0;+00), ne N)
t) lima* =a*, (a>0, x,€R)

x—bxo
q) limlnx=Inx,, (x, € (0;+20))

XX,

b) lir)r(no (u(x))vm =a’, wwdwlny, np qnynpyntli niGkG lim u(x)=a
X XXy
(@>0) L limv(x)=b
XXy

A — w) NuGkGp sinx —sinx, = 2sinx;x° -cosx2x° , npintinhg
: . . X=X, x+x, X=X
|smx—smxo|= 2sin 0i-cos 5 °ls2} > °i=|x—Xo|
Unwguilp 0 < |sin x —sin x,| <|x —x,| (1)

Oquytilp uwhdwGh Ynahh uwhdwnuihg:
Swlywgwé £ >0 pyh hwiwp npwtiu 6(¢) >0 phy yYtipglhiGp d(e)=¢:
Ujn nbwpnid 0<|x—x0| <d wwjiwbhg |sinx—sin x0| < ¢ wihwywuwpnt-
pjwp:
ItinLwpwp
lim sin x =sin x, v

XXy
A —p)-Unyh dkny
X —2x0 sinZ Zx" i < |x - x0| , npuntinhg Yhtinbh

lim cosx =cos x, \%

XX

0 <|cos x—cos x,| =[2sin

A —q) RwGh np x, ¢§+7m, ne Z, www cosx, #0:

Oquybny pwlnpnh uwhdwGh Ytipwptipjw) ptinptidhg” YnuGkiGwhp
lim sin x

. . sinx sin x
lim tg x = lim =22 =—"L =tgx, \%
X% x5 cosx limcosx cosx,
XXy

A —n) YwwnwpbiGp thnthnfuwlwGh hnfuwphlnud”™ x=x, +¢: 6pp x = x,,
t-0:
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NYhuwpykGp ,"/xo +t dniGyghwh 7, =0 Ytiwnh & =-x§°- Swl 2powlwypnuly’

U 5(0) : Unwhuh ¢-tiph hwiwn wtinh nbh

{./x_o( __Ii)q/g...n—'—q/g(nﬂ)
Xy 0 Xy

X,
wOhwywuwpnipynip:
Oquytitny 8 Ytitnh Ne 1 hwuwnynipynilhg L 11 Ytwnh pinptidhg, Ytipplw-
Ywlwwtiu YnGEGwGp lim Ux =1 X, X, >0: \Y
XXy

A-b) Uywgngblp a>1 nbwph hwiwp (0<a<l nbwpp Yptipyph

wwwgnigywd nbwphlG’ oquwgnpsébiny a* = hwywuwpnipynibp L

(Va)

pwlnpnh Yybpwpbipyw) pbnpbidp): NLGkGp |a”* — a“’l =qa”*

a™ —l| :
A !
Pwlh np lima " =lima” =1, wyw punn hwenpnwywGnipjwa uwhdwGh

uwhdwGSWG npdwé >0 puh hwdwn, gnynipniG nGh 7, plwlwG phy
a

11
w)GwhuhG, np l—%<a o< g™ <1+%:
a a
Ujnu Ynndhg' a>1 nbiwypnmd a* dnilyghwih dnGnunnGnipjwl 2Gnphhy
YnOLGwap.

1-£ ca™<a™<a® <1+-= htiGg np 0<|x—x0|<i
axo a‘o

Npwntinhg Yhtivnlh

x- 1
a™ —1|<ai*o- 0<|x—x,|<—
ItwnbLwpwp

ar —1|<£, tpp 0<|x—x0|<i

a"—a‘°|=a“'

buy vw Gwlwymd t lim a* =a* \Y
XXy
1 1} 1
A- Oquytiiny 1+——<In|1+—|<—, n=1;2;--- wlhwywuwpnt-
n+l n/ n
pynLlhg.
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Uju wihwywuwpnipjnibhg Yhtiwnbh

m(1-1)=-lni=-m(l+LJ.
n n-1 n-1

—L<ln(l—l)<-l, n>1
n-1 n n

Uuwhuny gullywgwé n>1 plwlwh pyh hwidwp Ghouwn t

—-1—<ln(l—l)<ln(l+l <l,
n-1 n n) n

npintinhg  YhGwkh, np gwllywgwd ¢ > 0pyh hwdwp gnnpynG niGh

/
1, PGwywb phy w)bGwhuhG, np —£<ln(1——l-)<ln 1+L)<e:
0 n,

ThuwpyGp f(x) =Inx nbyghwh x, >0 Ytwh & =X owy 2powlywy-

n,

pnud’ (0 <|x—x0| <ﬁ):
My

Unwhuh x -tiph hwdwp Inx-Inx, =ln(1+ X% ):
Xo

Swyyh weGtiny In(1+x) $nilghwsh wénn |hGGp, Ybpelwlwlwwbu
In x —In x, -h hwiwp YnLGEGwGp hbnbjw) qGwhwinwywip’

_€<1n[1_l)<h{1+x-x°]<ln(l+i)<€, tpp 0<|x—x0|<ﬁ
n, Xo n, n,

Ywd |Inx—Inx|<e, 0<|x—x,| <X
0

hul uw Gawbwynud t, np limInx =Inx, \Y
X—)Xo

A —t) Oqutiiny fuGnph wwjdwGhg L q) fubnphg, YnLGbGwhp
limv(x)-lnu(x)=b-Ina
XXy

3twnbLwpwp, puwn b) luGnph

. v(x) . In lim v(x)-Inu(x) bina , . ,li.",:,v(x)
lim (u(x)) = lim "™ = g0 =e =q = ( lim u(x)) \Y%
XXy XX, ey

3wyt vwhiwGGEpp
w) lim In(1+x)

x—0 X
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p) limZ _1, (@a>0)
x>0 X

. (I+x)P -1
Q) Ll_rgg(—x)—. ( p -0 hpwlwG phy t)
A —w) Cuwn pwpn $nGyghwyh vwhiwbh Ybpwpbipywy ptinptidh L puwn q)
fuGnph, YnGGOwap.
In(1+x) . . 1
lirrg =1ingln(l+x)‘ =1nlm(}(l+x)’r =lne=1 v
xX— X X! x>
A—-p) LawGwybGp a* —1=t¢: Cuwn &) — fubGnph YnGLGwaGp, tpp x = 0-h
t -G Lu dqunnid t 0-h: IGwnbwpwp putn Gwhunpn fuGnph
lim &1 < fjm 9! _ jip, Ina =Ina
=0 x =0 In(14¢) 0 In(1+¢)
A —q) Cuwn [nquphpiwywb hhdGwywh GnyyGnipjwlb L pun Ybipp www-
gnigwd w) L p) uwhdwGatiph, Ywpnn GGp qpbi
P _ pin(l+x) _
lim(1+x) 1=1ime l'pln(1+x)___
x—0 x x>0 D ln(l + x) X

v

pin(l+x) _
—im £ 1. pln(1+x)=p
0 pln(1+x) x-0 x

8niyg wwy, np gynipnth nuGh & >0 phy wylwhuhG, np GYwd wwj-
JwGho pwjwpwppn x -Gph hwdwp Shawn t wGhwywuwpnLpyniGp.

w) Y1+6x° +x° <Y1+7x°, -0<x<0
p) 17cos5x >5+12cos6x, -0<x<d
Q) e > e +2In(1 +4x), -0<x<0

n) tg32x+25cos(2x+%)s3tg2x, %Sx<%+5

A —w) UGhwjwuwpnipjwl dwhu dwup npnywd st x 2 -% hwdwp:
UuninigliGp wlihwywuwpnpynilp x =0 Yhwnh hwiwp’
14+6-0+0<Y1+7-0:
1<1 6hwn t:
GhpwnpliGp x # 0: uGnph wwhwghg htitnnid E, np funupp x =0 YLwnh
dwhuwynnijwa 2pgwlw)ph dwuhh t: IGwnbwpwp vwhiwGwhwyybGp

—L<x<0
6
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4 puwn q)

x—>0-h

D Www-

ud wwy-

hwdwp:

:0 Ybwh

wihwywuwpnipjwlp pwywpwpnn x-tpny: Uynwhuh x-Gph hwiwp www-
gnigytithp wihwywuwpnpyniip hwiwpdtp t (x-Gpp pwgwuwywh GG)
3/1+7x5 -\"/1+6Jc5

e <1 wGhwywuwpnipjwlp:

waytilp f(x)=
wbp x =0 Ybwnud:

5 s _8 s
7 5Jl+6x dnilyghwih dwhuwynndjwl uwh-

e =thver . (147 -1 (146x°)F -1
lim - = lim ———~ lim —————=
x—0-0 X x—-0-0 X x—0-0 X

7 3
—Xx ~x

=00 x5 %500 x5 5 420

(UwhdwGatipp hwybihu wiytpe thnppbipp thnluwphGlighGp hptlg hw-

dwpdtip wGytipe thnppbipny):
13 1

2wGh np 50 <1, wwyw puwn 8 Ywh 36 >0 phy wjGuwhuhG (5< %)
np f(x)<1,bpp =8 < x<0: UG hGs whwnp kp wwwgnigh: \%

A - p) UnniqliGp wGhwywuwpnipynilp x =0 Yawnh hwdwp.

17cos02>5+12-cos0

17 217 6hwn t: BapwnptiGp x # 0: Uynwhuh x -tph hwiwp wihwjwuw-

pnepyntGp hwiwpdtip t
cosSx—cosbx _ 5

>
1-cos5x 12
wOhwywuwpnipjwlp:
SwytiGp uwhdiwbp
.ox .11 x 11
2-sin—-sin—x 2-—-—Xx
cos5x—cos6x _ . . 2 2 11
im——————=1i =lim =
x50 ]—cosSx 0 1-cos5x =025, 25
2
Lwlh np % 21%. www puwn 8 Yiwh 36 >0 phy wyGwhuhG, np pnnp
x-tiph hwiwp U,(0) 6wl zpguwiywyphg Ghawn t
cosSx —cos6x >i
l1-cos5x 12
wOhwywuwpnpyniGp: \Y%

133



A - q) UnniqbiGp wohwywuwpnepyniGp x =0 Ybwnh hwiwp
e > ™" + 21In(1+0)
121 Ghouin t
GGpwnpblGp x # 0: Sniyg nwbp, np gnynipyntl ntbh x =0 Yhwnh dwhuw-
ynnjwl Yhuwzpowlwyp, nph pninp x -tiph hwiwp 6hown b wihwywuwpne-
pJnilp: RwiGh np pwgwuwlwh x -tph hwdwp In(1+4x) -p hnpp t 0-hg, www
wynwhuh x -tiph hwiwp wGhwywuwpnipyntGp hwiwpdtip t

sin9x sin3x

—— <2
In(1+4x)

wGhwywuwpnipjwlp:
Swytilp uwhiwbp
sin9x _ sin3x sin3x / _sin9x—sin3x _ )
lim & =€ - |im & D _ fim e
x—0-0 ]_n(l + 4x) x—0-0 ln(l + 4x) x—0-0
i | sin9x —sin 3x
- lim ———=1: lim —8M8™—=
x—0-0 ]_n(l + 4x) x—0-0 4x
. 2sin3x-cos6x . 2:3x .. 3
= lim = lim - lim cos6x =—
x—0-0 4 X x=0-0 4 X x—-0-0 2

(UwhiwGp hwzytiihu wGdtipg thnpptipp thnfuwphGtghGp hptiGg hwiwp-
dtip whytipg thnppbipny):

Lwh np %< 2, www puwn 8 Ytwh qnynpyntl nGh x =0 Ybwh dwhuw-

unnsjwG U,(0) 6wy 2ppwlwyp wyGwhuhG, np pninp x-tph hwdwnp wyn
2ngwlwyphg Shawn t

sin9x sin3x
—-e

e
— <2
In(1+ 4x)

wihwywuwpnipywlp:
UhwgGtiny x=0 Yybtwnd unwgdwsé wpnynilpp, Yunwbwp wyG, hGs
wbiwnp tp wwwgnighy: \Y

A —n) Lwju unniqliGp wlhwywuwpnipynilp x = 7:/6 Ltwnh hwdwnp
g’ T+ 2500s(£+£) <3tgZ
3 3 6 3
33 <343 shan t:
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EGpwnpblp x > 7/6: UWnwhuh x-tiph hwiwp wihwywuwpnipynilp hw-

P2x-3tg2
dwndtip t 'g °x 3ti X> —25 wihwywuwpnipjwlp, pwGh np
cos(2x + —)

cos(2x+%)<0:
3wybklp uwhdwbp
39y tg2x tg2x+«/§ tg2x-~/§
i 23 ( )( )_
e cos(2x+£) X0 cos(2x+£)
6 6

tg2x—tg—7£
= lirxn tg2x(tg2x+s/§)- lim —3—=\/§(\/§+\/§)

x V4
e i cos(2x + g)

sin(2x-§)
=6-2- lim

,_,%w cos2x

- lim
x-%40

6 cost-cosl-cos(2x+£)
3 6

sin(2x——’£) sin(Zx—%)
3 =12-2- lim ———<¢=

- lim

=50gin| Foox-Z 150 sin(z - 2x)
2 6 3

) y 4
sin (2x —3)
=-24. li£n ———”—- =-24
xg0 sin(2x —5)

n
fwlh np =24 >-25, www puwn 8 Ytitnh qnynipynth nibh x=€ ytiznh

v/ 4
Swhuwynndjwa %<"<E+5 2nowlwjp wjGuhuhG, np wyn 2ppwlw)ph pn-

tnp x-Gph hwdwp Ghawn t
tg’ 2x—3tg2x S

cos(2x+£)
6

=25

135



wihwywuwpnipjwp:
UhwgGtiny x=7/6 Ytwnh hwiwp unwgwé wprynibpp, Yunwlwip

w)G, hbs whwp tp wwwgnighil: \%
Uwwgnigt| hnljw) wuhdwywniphly pwGwdlip

w) e’ =cos(z/?)+o(m). tpp x — 0
p) 9x° =7t2+o(\/5 sin‘3x), bpp x_)g

3

q) 5°° =x2+o[(x—5)z), tpp x & 5+0

A - w) Pudwywl b wwwgnigtiy, np

e’ —cos(\/7 x )

lim =0
x—0 \3/tg2 4x
3wyytibp uwhdiwbp
e“—cos((/x_’) R 1-cos %
lim =lim———+Ilim——=
x—0 %/th 4x x—0 3'tg2 4x x—0 3,tg2 4x

2 ——7—1im3x+—1-—.1im2\'/?=0

7x
=lim————+lim—~“——
x50 3 16 'x2/3 x—0 é/ﬁ.xzﬁ \/ﬁ x=0 2% x>0

(UwhdwGp hwyytiihu oqunytighGp 11 Ytwh ophGwyGtph n) uGnphg L 10
Ytwh hwiwpdtip pnblyghwbtiph wnyniuwlhg): \Y

A-p) gnyg nwbp, np a(x)=9x* -7 whytpg thnppp wybih pwndn
R /4
Yywnah woytng thnpp £, pwl B(x) = Vsin* 3x whytipg thnppp, tipp x — 3

lim a(x) - lim 9x? —7? = lim (Bx- 7!)(3x+7t) 2 lim 3x-rm
x—»—ﬂ () Zsin'3x I {sin® 3x x5 {sin* 3x

YuunwptGp thnihnfuwlwih thnfuwphlnd: LywGwybklp 3x -7 =¢:

tpp x—)%, t >0, Yunwlwlp 3x=7m+t¢:

a(x) T 4 -
Il_l,l_l_ﬂx =2 E%m—zﬂl’%ﬂT—Zﬂ llm\/— 0 \Y
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A —q) Swpybilp uwhiwdp

. ST =xr (57 =25)-(x=25) .. 25(5°%-1)
l_l,n} N 1 4 = lim 4
x5 O(x 5) x—5+0 (x_S) x5+0 (x_S)

m EoIEEI) _ g B | iy 45 75(x+5)=0

x—55+0 (x_5)3/4 x—-5+0 (x_S)J/“

3

3bnbwpwp 57 - x? =o((x—5)z), bpp x 5540 v

OphGwlyGtp HniGyghuh uwhdwlp hwydbn JEpwpbpuy

UwhdwGGtpp hwytiihu hwSwhu hwGnhwynd GGp nbwpbiph, tpp ww-

hwbgynid t hwpyti lim S Ex; uwhdw(p, npnkn f(x) L g(x) $nbyghwblipp
X—=a g x

wGytpe thnpp Pnilyghwlbip GG x =a Ybwnd' lim f(x) =0, limg(x)=0:

Unwhuh nbwpbipnid wuntd GG, np nuibGp 0/0 wnbuph whnpnanipyniG: Unuh-
uh uwhdwG hwytiint hwiwp, wluwwnnud 66 dLwhnfubp Sx E ; Ynunpwyp
gx
wnwGdOwglbiny U hwiwphsmd, W hwypnwpwpnud (x —a)” whwh wpnwn-
nhsGt: .
OphGuwy, tpt a Ytwh hGg-np Us(a) 6wy 2pgwlwpnid f -p b g -G Gp-

Yuywgubt 66 £(x) = (x—a)’ - £,(x). g(x)=(x—a)"-g(x) pon npnus 4& E’

8
S(x)

dnGyghwyh uwhdwbp gnynipyntG nubh, www gnynipyntl ntGh —— ) hwpwpb-
g(x

pnipjwl uwhdwaGp, npp hwywuwp £ wyn uwhdwbGhG
lim f(x) =lim (x—a)” ’ f;(X) =lim fi(X)
o g(x) a(x—a)-g(x) g (x)
GnyGp Ywpbith t wub) Gwl w)b nwpbpned, Gpp £ -p L g -0 wGdbpe dkotp GG,
Gpp x = a-hh (a-0 Yupnn t |hOb] Yhw Yuwd uhdyny):
lim £ (x) =1im g(x) = co:

Ujnuwhuh ntiwpbipnud wuntd GG, np tpywé b oo/oo inbiuph whnpnnip)niG:
Unynpwpwn wtuwwnnud 66 wyn nbwptpnd Yninnpuyp dlwdinfutip wy-
wtiu, np unwgywé Pnilyghw)h Gywwndwdp hGwpwynp thGh Yhpwntp uwh-
dwGGkph Ybpwpbpjwy hwynGh hwwnympyntbGtpp: OphGwy, tpt f-p L g-0
137



dhLlnyG* 7 -pn Yupgh pwqiwGnwidbbp 66
f(x)=ayx"+ax"" +---+a,, a,#0
g(x)=bx"+bx"" +---+b,, b #0
Uww hwiwphsp L hwjpnwpwpp pwo‘wﬁblm[ x" -h Ypw, YuunwGwGp

a
2
a+2 +24. 42

lim 8 g~ x o K
x> g(x) "’“b +bl b2+...+_" b,
x x2 x"
3wyt) vwhiwGp
2x* +x-10
1m3—
=2 x" +3x-14
V15-2x -/5x—6

]‘1-%3/8x+3—i/2x+21
a) lim J1+1tg2x —V/1+sin2x
x50 sin’ 2x
n) l@.\/4x2+6x+5-\/4x2—6x+3

A — w) NuGkGp 0/0 wbiuph wlnpnanipyntl:
2x’ +x-10= 2(x-2)(x+%) =(x-2)(2x+5)

X +3x=14=x-8+3x-6=(x-2)(x* +2x+4) +
+3(x=2)=(x=2)(x* +2x+7)
ItinLwpwp
27 +x-10 (x=2)(2x+5) 3
im — =lim > ==
-2 x" +3x-14 =2 (x=2)(x"+2x+7) S
A - p) puwqbwwwnytipny L pwdwbbinyd hwiwphsh b hwynnwpwph dnpn-
Gtipny L oqunytiiny 11 Ytiwnh n) fubGnph wpnynibpGbiphg, YuunwbwGp
i Y15-2x =526 _
=3 Y8x+3-Yx+21

(15-2x—=5x+ 6)(,3/(sx +3)7 +3[Bx+3)2x+21) + Y(2x +21)? )

v

=lim

13 (8x+3-2x-21)(V15-2x +V/5x-6)

" -7(::-3)(,3/(8”3)2 +3/(8x +3)(2x +21) +</(2x+21)2) v
IR 6(x~3)(V15-2x +/5x-6) )
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A - q) Puqiwwwuwnybiny L pwdwbbiny hwidwphsh 16npnny L oqunybiiny
10 ytivmh hwiwpdtip waytpe thnppiph wrynwwyhg nt 11 Ytwh p) L n)
fuGinhpGtiph wpnyniGpeGtiphg, Ywpnn GGp qnbi
—_ +si —_l
lim \/l +1tg2x —1+sin2x im tg 2x —sin 2x

10 sin’ 2x 0 sin’ 2x(Jl+tg 2x ++/1+sin 2x)

— lim sin2x(1-cos2x) 1 1 _
x>0 sin’ 2x c0s2x fl+1g2x +/1+sin’ 2x

A —w) NLOGGP oo — oo ntiuph whnpnnip)nth:

Pwqiwwwwybiny b pwdwGtiny wpjwéd wpnwhwjinnipjwl (dnpnnd,
wyGni-hinnk hwiwphsp b hwpinwpwpp pwdwbbing x -h ypw L oqunybiiny 11
Wtwnh n) tuGnph wpnynilphg, Yunwbwip®

14x+2
lim(v4x? +6x+5 —vV4x2 —8x+3|=1lim =
i N s e

v

&|—

14+2

=i ——r
\/4+—+—2+\/4——+—2
X X X X

3wyt) vwhdwGp

X

2
e' —cos2x

N

w) lim —
-0 sin®x

L.
p) lim x? (5‘ —5‘*‘)

X—poo

x=2 2
-X
lim——
Q) x4 x-—4

W+ 5x-W1+2x
n) lim

x—0 x

In(cos 5x)
x>0 In(cos 9x)
. Ycosx —Ycos2x
q) lim —
x50 siIn‘ x

2

x2+3 "
t) lim
)xl-'~(x2—3)
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p) lim(tg x)***

X
4

w) - q) uwhdwGGtpp hwykiihu YoqunytiGp 10 Yhwh hwdwpdtp dnLGy-
ghwGbph wynwwyh hwiwwwunwubuwb pwlwdltiphg

2 x? - - 2
. e —cos2x .. (e 1)"'(1 cos2x) oy
A—-w) lim — =lim — =lim——+
>0 sin® x x-0 sin” x x50 SIn° x
1
1-cos2x x? 5-4x2
+llm—2'——l —2+llm 3 =14+2=3 v
x-0 sin” x x—’Ox x50 X

IR L 1 2
P) lime(S‘—-S‘*'):limS“"xz[S"(‘*"—l)=lim XIS s v

X—yoo X—o0 X—doo x(x + ])

42—x? 471 -16+16-x" l6(4"“—1)+

A-q) im———=1lim =lim
x4 x—4 x4 x-4 x4 x—4
+1imM4+_x) 16 In4—8 = 31,,& v
x4 x—4 e

1

1
W1+5x -¥1+2x i AP -1 (+2x)% -

A-n) lim

x—0 X x—-0 X x-0 X
s, 2
—lxm13 plsoo3_2_4 v

=0 x x>0 x 13 15 195
In(cos5x) lim In(1+cosS5x-1) lim 1-cos5x _

A- = =
-0 In(cos9x) 0 In(l1+cos9x—1) *>01-cos9x
1 2
—-25x
=lim 2 B v
X ‘81x2 81
_q lim s/cosx—l/cos2x \/cosx 1 \/cos2x 1
0 sin? x HO sin’ x H° sin’ x
1 1 1
(1+cosx 1)5—1 (l+cost-l)’—l . §(°°s’“)
— =lim 5 -
x—)O s]n x x-+0 sin“ x x—0 X
1 1 2
—(cos2x—1) —x? Zx?
“timl i 10 g2 2 113 v
x—0 x x50y -0 x 7 10 70
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UhGs t) L p) vwhdwGGeph hwaydwGp wGglhip YwwwpkGp dh nhwinnnt-
pyntG:
Yhunnnipyntl — thgnip lim u(x) =1, limv(x) =oo:
XXy XXy

Ujn ntiwpnid, oqundtiiny 11 Ytiwnh t) fuGnph wpnyniGphg, Ywpnn tGp qpbi
V(x lim (u(x)-1)v(x)
lim (u(x)) 0 _ e
XX,

x> +3

A —t) Oqunytiip nhuiinnnipynilhg: MOkGp u(x) =—; 3’ v(x)=x?, ht-

2 . X
. x +3 lim = -
wnbwpuwp llm( -~ ) =e™ ¥ 3 =¢ v
ol x° =3
Iin‘\‘(tgx—l)tg2x
tg2x

x—b-‘-
=e

A- p) lim(tg x)
SwpykGp lin}(tg x=1)tg 2x uwhdwp.

=
2tgx I 2tgx

=- =-1

1-tg’x ~E1+tgx

limﬁ(tg x=1)tg2x= lin’}(tg x-1)
X—): X

3bwbwpwn lim(tg x)e* =¢™

4

9. dNHLLUSPUSP ULLLIIUSNIP3NFL

Thgnip f(x) dnbyghwh npnywé t x, Yhwh hGg-np &, >0 2powlw)-
pmd: f(x) dnbyghwl Yngymd t wGpGnhwnn  x, Ybwnd, Gpb
lim f(x) = f(x,): Wuwhuny f $nmbyghwl whGplnhwn b x, Yhwnud, tpk
XX,
pwywpwpywé GG htnbyw) wwydwGGpp.

w) f-p npnaqwé b x, Ytinh hGs-np 2nppwlwypntd, wyuhlel™ 34, >0 phy
wyGwhuhG, np U, (x,) <€ D(f)

p) Qnjnipyntl nibh lim f(x)= A4

X—Xg

Q) 4= f(x,)

GOpwnpbiGp $nLbGyghwh npnywé b Yhwnh U 5 (%) owl 2pewlwypnid:
141



X, Ytwhl YwGjwakGp f Ppnblyghwih fuqiwl Ytin, tpti f(x) dnibhy-
ghw Jwd wyn Yhwnnud npnaqwé st, Ywd bpb npn2dwé t, www wopGnhwen gt:

Uuwhuny x, Ytwp f(x) pniGyghwih hwiwp fuqiwh Y t, Gpb htinl-
Jwy bpbp wwydwGGbphg wnGywqp dkYp wkinh snlGh

UJ) xO € D(f) ’

p) anynip)ntl nLGh lim f(x) = 4 ytippwnp uwhdwGp,
XX,

Q) 4= 71(x):

Ept x,-0 dnbGlyghwjh wjbwhuh uqiwb Ytw t, np wyn Ytinnud gnynepyniG
Okl $nGyghwyh dwhuwynnijwl L wowlynniywh Ytppwynp uwhdwGbbpp
Jim f(0)=1(%-0). lim f(x)=1(x,+0),
www x, Ytwp wlwlnd GO wowehlG ubieh juqiwlh Ytw: Gpp
Sf(x,=0)= f(x,+0) x, Ybwp Ynsgynid t ytipwgltith fuqiwh Ytwn: Gpb x,
fuqiwl YGwp werwehG utnh fuqdwl Ybw sk, www wyb Ynsynd t Gpypnpn
utnh fuqiwb Ytw: Ujuwhuny x, Gpypnpn utinh fuqiwl Ytwnnd InGhyghwgh

dwhuiwynnijwh L wowynnijwl uwhiwhGbbphg qnGb dEYp Ywd q)nipynth sni-
Gh, wd gnGt dtYyp hwywuwp t whytpenLpjwa:

Swnwghnptib GniyG dund uwhdwbynd G0 x, Yewnd dwhuwlynndjwb L
wowynnijwl whpbnhwwnnepynlbbtip:

Pbtnpkd: Yhgnip f -p npnaqué t U 5 (xy) 2powlw)pnid: Gpb w)l whpln-
hww t x, Ywnd b f(x))>0 (f(x,)<0), www gqnynipynth nlGh 6 >0
(0<d)) phd wylwhuhG, np Yuiwjwws xe Uz(x,) hwdwp f(x)>0
(f(x)<0):

Rtnpkd: “hgnip f(x) L g(x) Pnilyghwhlipp npnfwé 66 Uy (x,)-nui:
x,eU 5 (%) ubwnd f(x) L g(x) whpGnbwwn PniGyghwlliph gnudwpp,
nwppbpnipymbp, wpnwnpjwip, huy g(x,)#0 nbwpnd Gwb pwGnpnp,
wlpOnhwuwn GG x, Yhunud:

10. IPULULUL RGNNGULEP
ULLLN3IUS DNFLUSPULE P JGPURGMSUL

RtnptdGlp: bpt [a;b] hwndwénid npnadwd f(x) pniblyghwh whphn-
hww t wyn hwindwéh jnupwpwlsgnip Yannd, wwyw
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w) f(x)-p vwhiwlwhwyt [a;b] hwunywéndd,

p) f(x)-p plnnilnud t hp S2qphin unnphG L YtiphG tiqpbipp npwtiv wp-
dtipGtip,

q) bt f(a)# f(b): COnnibnud t f(a)-h L f(b)-h dhgl plywd pnynp
dhowlljwy wndtipGlpp:

orpLULLEP

Qnbb; f(x) mGyghuyh uqiwh Ybwnbpp G2wd Showlwypmd L
wuwnqbi Gpwhg pGnypp:

w) f(x)= sgn(sin%ﬂx) X x€[0;6]

- 7. s
p) f(x)—sgn(cosx), xe[6,3]

q) f(x)=3x=[x]; xe[0;2]
m f@=5x=[Vx];  xe (6]

A—w) Pwlh np uhqlmd $niGuyghwb fuqynn t x=0 Ytwnul, www
huqiwl Ybwnbpp YhGbG wyh Ybinbpp, npnGp wwnwbnd GG [0;6] hwwn-
JwoéhG L npnGgnid sin%lz’x dnGyghwl hwywuwp t 0-h° x, =0, x, =g,

x2=%,...x5=6:

titnwqnuntiGp whpGnhwinnpynilp x;, x,, x5, x, GepphG Yhwntipnwd:

. .5 . .5
lim sgn|sin=7zx |=1, lim sgn|sin—7zx [=-1
x—»%—o 6 x—b%+0 6

x, =g Ytwnp wnwehb ukinh fuqiwh Yt t:

SwnwghnptiG GnyG duny Ywuwwgniglilp, np x,,x;,x, Ytintpp Gnyyhwbu
wnwohb ukinh tuquwh Ytwnbip GO:

x—0+0

lim sgn(sin%lrx) =1, sgn(sin0)=0
X, =0 ybpwglbih fuquiwh Yt t:
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lim sgn(sinémc) =+1, sgn(sin§67t) =0

x—6-0 6 6
x, =6 Ytipwglbith luquiwh Yow t: \%
A - p) huqiwb Ytwbpp, npnGp wWwnlhwbnud GG [%,%] hwuwnywéhl Yuw-

2 2 2
nn LG (hGok" x, =—; x, =—; x, =— Ybwnbpp:
pnn GG (hObL™ x, 7 BT g B Ytwnbpp

2wlh np pninp Yhnbpp Gepphl Yhwnbp 66, wwyw pwydwyw t hbnwgn-
wntii wipOnhwwnnipnilp, Gpwlghg nplt dkuh hwdwp: UnniqliGp x, =§ ybi-

unh hwdwnp:
lim sgn(cosl) =-1, lim sgn(cosz) =1
x—)Z—O X ,_.,3+0 X
9 9
X, =% ytinp wnwehG ubnh fuqiwh Y t: \Y

A —q) Rwlh np y =3x dnlGyghwh whpGnhwwn t [0;2] hwwndwdsh pninp
ytwntipnud, huy [x] $niblyghwh fugqynn b wipnng Yhwnbipnid, www hGwpwynp
huqiwG Ytwnbpp YhGkG [0;2] hwndwshb wwinwbnn w)G x, Yhwnbkpp, npnGg
hwiwp x? -hG pGwlwa phy t:

x,=0, x, =1, x2=\/§, x3=\/§, X, =2

x,,X,,%; Ytnbipp GipphG Ytintip G6:

lim Bx-[+')) =3J2-1; lim Gx-[x')) =3J2-2;3V2-123V2-2

X, = \/—2_ Ytwnp wewehl ubinh fuqiwb Yhwn t: LG duny Ywptith £ hhiGw-
dnpbig, np x,, x; Ytuwnbkipp Lu wewehb utinh fuqiwh Yhwnbp Ga:

xgmo(3x-[x2])=0 $nLGyghwh wpdtipp x, =0 LYEwnud Lu hwywuwp t
0-h: x, =0 Ytitnp whpGnhwuinnipjwi Yhiun t.

I1_1’12130(3x—[x2])=6—3 =3 $niGyghwih wpdtipp x, =2 Yhwnud hwyw-
uwpt 6-4=2: x, =2 Ytwnp ytipwglbih fuqiw Yo t \Y

A —=n) Rwlh np 5x $nbyghwh (1;16] Shewlywyph pninp Yhwnbpnud wi-
pOnhwwn nilyghw t, wwyw wpjwd pnGyghwh tuqynn t pnpnp wyb Yhnk-
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pnud, npnlp wwunywbnwd 66 (1;16] dhowlw)phG L npnGgnid fuqynn t [«/; :|
$nulyghw: bwuhwéth Yownbip 66° x, =1, x, =4, x, =9, x, =16:

lim [\/—]—1 lim [\/_:I 2:122

x—4-0 x—4+0
LnyG dlny Yuwwgnighip np x, =4 L x; =9 Yhwnbipp Lu wnwehG utinh
luqiwG Ytnbp &G lilrgl_o[\/;] =3, [\/E] =4, x,=16 Ytwnp ybpwgltih

uqiwt Yt lim [Vx]=1, x =1 Ubun sh wunlwGns $nblghush

npn20wh  whpnyphl, uwlw)s wyn YbGwnud qnynpynté mGh nLGuyghwh
yGpowynp uwhdw(p:

Ujuwhuh nbwptipnd x, =1 Yhwp L wwpdwGwynpynd GG plnncbt
Jtpwglbih huqiwG Ytw, wwydwbny, tpt pnibyghwld vwhiwbhbp x, =1
Yewmd  pp vwhdwGhG  hwjwuwp:  SwSwhu  Gnp unwgywéd

f(x); 1<x<16
SH(x)= 4 1 $nLlyghuyhl wlywlnd GG f(x) Pnillyghwyh
; x=
wlpGnhwun wpniGwynipynih 6hGsh x, =1 Yhuwnp: \Y

IEnwqgnunbp f(x) nGYyghwl wGpbhnhwnnpjwl mbuwlbnhg:

W) f(x)= 2x* =3x-21, bphx-pnwughntuy t
24+3x—x%, tphx-phnwghnGuy t
R) f(x)=lim2 "
n=p* +n”
x+xle™
=lim
Q) f(x)=lim=——=
n)f(x)—llm4 5, x20
= 1+2x"

A —w) dbipgllGp nplk x, € R Ytwn: dnblyghwh wyn Ytiwnnud YihGh wi-
pGnhwuwn, Gpb pwywpwpytl hbnbyw; Gpynt wwydwbatipp®

1) QnjnipyntlG niGh lim f(x) = 4 tpowynp uwhdwlp
XXy

2) A= f(x,)
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Ohgnip {x,}-p ShwyG nwghnGwy, {z,}-p ShuyG hrwghnGwy Ytwbinhg
Yuquijwé Gpynt juwiwjwlywh hwenpnwlwbnipyntGGtp GG, npnbp dquinud LG
x,-ha:

MmatGp

lmf(x")=lﬂ(2xj-3xn-21)=2x3—3x0-21 ™)

lim f(z,) =lim(24+3z, -z} ) = 24+ 3x, - x; )

Npwtiugh ynLbyghwb x, Yivnnid vwhdwb nibtiGw, wihpwdbn t, np tipt

(1)-0 L (2)-p (GGG hpwip hwiwiuwip:
2x2 =3x,-21=24+3x, - x;

Npwntinhg Yhtiwbh, np x, ==3, x, =5:

Wuwhuny, pdwjhG ninnh pninp Yhintipnud, npnbp hwjwuwp 3660 x, =3 L
x, =5 Yawbiph, f(x) $nGyghwl uwhdwh smbh L htnLkwpwp wyn Ybunb-
pnud wyl fuqynn b x, =3 L x, =5 Yhwbpnd pniGyghwh nibh uwhdwa, pln
npnuy’ xlgg f(x)=6 ln_r,rsx f(x)=14: Uu dtwunnh 6hunn  hhdGwynpnuip

unpywé t Gwiunpn Gdwlwwhw d6Y wy) fubGnpnud:
fwlh nmp x,=-3 L x,=5 Utwbtpp nwghnlwy Ybwbp GG, www
f(=3)=6 L f(5)=14: dnlyghwl whplnhwwn t =3 L 5 YLuwnbpney: \Y
A -p)QunlkGp f(x)-p, xe R

L1 1
n Y an_l 1_
x>0 f(x)=lim—2 =lim—S—=lim—2—=1
n—eo nx+i noe p*t 41 noe + 1
x 2x
n n
o_ 0
x=0 f(0)=lim =

" n +n

1

——n—x

=0

0

x _ -2x
x<0 f(x)=lim 2 —lim -
n—yee +n* no=]4+pn

N i
I, tpp x>0
Uuwhuny f(x)=4 0, tpp x=0

-1, tpp x<0
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Unwgulp f(x)=sgnx, —00 < X < o0

x =0 Ybwp wnwehb utinh fuqiwG Yt t \Y%
A —q) NuOtGp
x+xt-e™ X
f(x)=1lim =lim £ =x?, tpp x>0
noe 14+e™ e 1
— +1
e
n0
£(0)= lim% -
no= l+e”
2 x+ —’i
f)=limEZE " _jim—€¢” _ ;. bppx<0
nse |4 n—eo 1 L
e-m’
x%, tpp x>0
Ujuwhuny f(x)= InGyghwl whplnhwwn t pywyhl nin-
x, tpp x<0
nh pninp Ytwnbpnud: \Y%
A —n) NGLGp

f(x)—lim4xn_5—’l'i‘r’?"4x”—5——5 tpp 0<x<1
e 142x" 1+ lim2x" ' -

n-—joo

4.-1-5 1
1) =lim =——
AL noe 142 3
5
ax -5 A=
f(x)=1lim =lim—2*-=2, tppx>1
n—e 14 2x" H”L+2
x'l

-5, uppO0<x<l

1
Uuwhuny f(x) = -3 tpp x =1

2, uppx>1
fA-0)=-5, f(1+0)=2
x =1 Ytwp wnwehl ubnh fuqiwh Yhw t: \Y%

a-h n°p wpdtplbiph nbwpnd f(x) pmbGYghwh Y hGh wGpGnhwn
Gywé x, YGwnnud:
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sin x )2a(x-2)
(——) , bpp X # 2;
w) f(x)={\sin2

Xy =2
otg2
et Lpp x =2;
s _1
N+ax \ﬁ+2ax’ bp x % 0;
p) f(x)=1 9x X =0
~35° tpp x =0;
4(a+|)1 1 0
o upx#0;
q) f(x)=9 2°*-1 X, =0
| 2, tpp x =0;
Incos ax
>—> bppx#0;
n f(x)=1 ; x, =0
-, tpp x =0;
| 73 i

A — w) JwytiGp uwhdwap’

i l CYY Iy Jim__Sinx-sin2
lim w 2a(x-2) = lim 1+21_11_1 2a(x-2) - e,-.zza(x-z)sinz -
-2 sin2 X2 sin2

2 ctg2

=ex—'3 a(x-2)sin2 —e 2a

(oquytighGp 10 L 11 Ybwbph hwiwwwuwnwuluwb fubnhpGiph wpnynbpGt-
nhg)

dg2  cu2
e =g ¢ =:’ctg2=ctg2, a=2 v
2a 4
(1+ax)5—l (1+ax)7—l
1+ax—U1+2m .
A-p) lim =lim -
x—0 X x=0 x
1 1 lax 2
5 _ 7 _ = -
—fim e 1 e =l S gim Y _a_2_ 3
x—0 x x-0 X "x—=0 x -0 x 5 7 35
a0 a=3 v
35 35
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A_q)mn&“m—lzmnm+nrm4=2w+n
x—0

234(_1 x—0 3ax]n2 3(1
3a 2
A-n) lim ln(coisax) —lim ln(l+co§sax—l) —1im cosajc—l _
x—0 X x—0 x X0 x
Lee
=-lim2——=-——a’=-2,a’=9, 4 =-3; a, =3 \Y
x—-0 X 2 2

w) Uywgnigti, np [a;6] hwindwénud wipGnhww guwGlwgwd f(x)
npwlwb InGyghwih hwiwp qnynpinia nitGh m ppuwlwi phy wyGybu,
np Vxe[a;b]= f(x)>m:

A—-Pwlh np f(x)-p wlpGnhww t [a;b] hwndwdnl, www wjl pun

dwjtipanpwuuh tiphpnpn ptinpbidh wyn hwnywénd plnncGnud £ hp thnppw-
qny0 wpdtipp:

LowlwykGp m, =min{f(x)}: NGLGp dx,€[a;b] wjbGwhuhG, np
f(xg)=my L f(x)2m,, xe[a;b]:

Ujniu Ynnihg f(x) -h npwyw@G (hGinig Yhtiwbh, np my, > 0: Npwtiu m
phy ytingGliGp, ophGwyh hwiwp m =m,/2:

Wn nbwpntd 4nGGGwlp f(x)>m, x€[a;b]: \Y

p) Thgnip f(x)-p whpGnhwwn t (a;6)-nd b ¥ ={f(x):x€ (a;b)}:
Uwwgnigtl, np ¥ pwqinpjul guwlywgwd A4,4,,---4, pytiph hwdwp

A+t +4, phyp GnyGybu ¥ pwqunipjniGhg t:

A+A4,+--+ A4,
n

GhpwnptiGp A4,,4,,---4, pdtiph pwqinipjwl dtp qnynipynth nGGG

wnGwqG bpynt hpwp ny hwjwuwp pytp: ©nn A4 -0 L 4, -0 (hGEG

A, A,, - A, pdtiphg thnppwagny)Gp L dkdwant)Gp: Cun pywpwlGwlywh ShohGh
hwuwnynipjwb

A-bpt 4, =4,="-=4,, wyw

= A, wywgnigyuws t:

g At A,

) n ko
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Pwlbh np A,0 G4 L A,‘“ -0 $nibyghwyh wpdtipGtip GG, www qnnpynth
NG x, -G L x, -0 Ytwnbn (a;b) Showlwyphg, wyGuwhuhG np £ (x, )= 4, U

f (xko ) = A, : Uhpwnbiiny Pnigwln-Unzhh tiplpnpn pinpkidp x, L X, wjpw-
ytuintp nubtignn hwundwéndd, YniGeGwhp, np qnynepynih nuGh wrGwqb Gty ¢
YGwn, npp Wwnhwlnud t x, L X, 6wjpwytivntip nuGkignn hGwnbpwiha L
wjGwhupb t, np

=A,+A2+-~-+A,,: v

f©

q) Uywgnigty, np Gpt /(x) $nublyghwl wiplGnhwn k [1;+ ) dhpw-
Yujpnd b qnynpyntG niGh )erm“ f(x)=B Jbppwynp uwhdwbp, wwyw

f(x)=p [1;+ o0) -nd uwhdwGwihwy t:
A-Oquytiiny uwhiwlh uwhiwlGnuihg® £€=1 pyh hwiwp quGklp
A(1) >1 phy wjbwhuhG, np B-1< f(x)<B+1, x>A(1) (1)
Lwhh np [1;A] showlwypnid $nGyghwl whplnhwenn b, www putn dw-
jp2unpwuh wewehh ptinptidh, w)b wyn dhowlwypnid uwhdwbwihwy t: Anjne-
pjntlG nlGGG m L M pytip w)lGwhuhh, np

m< f(x)SM, xe[1;A] (2)
OwlwykGp
my =min{m;B—-1}; M, =max{m;B+1} (3)
(1)-(3)-hg Yhtitnh
my< f(x)SM,, x€[l;+oo) \

n) Yhgnp f(x) PnlGyghwl wGplnhwwn t (a;b) dhpwlwjpnd b
X, € (a;b) Ytwh guGlhwgwd ppwlwpnid pGnnGnud b hGiwybu pwgw-
uwlwh, wybwybu k| npuwlwi wpdtipbbp: Uywgnigh, np f(x,)=0:

A —-GhpwnptiGp hwywawlp f(x,) #0: Un ntiwpntd, punn wGpGnhwun
Inllyghwyh Gwlh wwhwwliwG hunnynipjwl, qnnipyntld nlh x, Ytwh
(xp=0;x,+0) c (a;b) 2ppwlhwyp wjlGwhuhG, np wyn 2pewlwyph pninp
Ytwntipnid pniGyghwh plnniGnud t GnyG Gowlh wpdtipGbip, hGs GawG nlGh
S (x,) phuyp: 4whp hwhwunipjwh: ItnLwpwp f(x))=0:
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G) %hgnip f(x) PmbyghwlG wGpGnhwwn t (a;b) dhowluypnd L
qnnipjnih nLGEG Ll_rg f(x) |‘l_n’;l f(x) yGppwdnp uwhdwGGEpp: Uwwgne-

gbi, np f(x) pnlGyghwl uwhdwbwihwy t (a;b) -nl:
A - LwlGwykGp 1!_!‘2 f(x)=4A L lin; f(x)=8B

Cuwpnibwytibp f(x) $niblyghwl whplbnhwwnnpkb a L b Yeinbpnid:

A, x=a
fix)=1f(x), a<x<b
B, x=b

Cuwpnbwywéd f(x) pnGyghwh Y hGh whplnhwwn [a;b] hwndwdnid b
htwnbwpwn, pun dwjtipunpwuuh wnwehl ptinplth, qnnipynth YnGEGwG m
L M pytip wyGwhuhl, np m< f(x) <M, x€[a;b]:

ewlh np f(x)= f(x), xe (a;b) wwyw YtippghG wihwjwuwpnipjniGhg
yhbwnbh m < f(x)< M, xe (a;b): \Y

q) thgnep x,,x,,---x, pybpp (a<x, <x, <---<x, <b) [a;b] hwnjuw-
onud wipGnhwwn f(x) pnGyghwih pnpnp qpnGERG GG: Uywgnigbl, np
(a@;x,), (x5 X,),(%55%3) -+ (x,,;0)  dhpwlw)ptiphg jntpwpwbynipnid nGy-
ghwi wwhwywbnud t hwunwnntb Gwa:

A - GhpwnptiGp hwlwnwyp: Ujn ntiypnid qnynepynit YniGbbw wnbywqb

(x,‘o;x,‘o,,,) dhowyw)p, npnud $nLbyghwi sh wwhwwbnud hwuwnwunnit GowG:
huly nw Guwlwynd t, np qnynpynth NG wyn dhowlwiphlt wwuinlwbnn
wnGuwql Gpynt z, L z, Yawnbp wybwhuh, np f(z)- f(2,)<0: z, L z, 6w)-
pwybwnbp nGtgnn hwwndwdp pGhws £ [a;b] dhowlwypnud: Un hwunywdnid
Yhpwnbiiny Pnigwln-Unzhh wnwehl pinptidp YynGLGwhp, np z, L z, dwjpw-
ytwbip nGtignn hGubipunid gnjnepyntG YmOtiGw welywqp G6Y z, Ytwn w)b-
whuhG, np f(z,)=0:

Blwlp hwywunipjwl, npnyhtinl x,,x,,---x, ptipp f(x) dnblyghwih
pninp qpnGLpG GG:

t) Uwywgnigki, np 3° =7x hwyjwuwpnuwip (0;3) dhowlwjypnd nilh
wnGwqb Gpynt wpdwn: \Y
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A - %hunwnpykbp f(x)=3"-7x, xe R dnilyghw(:

Uj0 wGpGnbhwn t, npwtiu Gpym wiGpOnhwunn $nibyghwbtph twppbpne-
pjnih:

NabLGp
f(0)=3"-7-0=1>0
fH=3-7-1=—4<0
f(3)=3'-7-3=6>0
Lwlh np f(x)-p whpbnhwun t [0;1] L [1;3] dhewyw)ptiphg jnLpwpwil;-
Jnipned b dhowlwyptiph dwjpwytnbpnud pGnniGnid £ vwppbp GawGh wpdtip-
Gbp www puwn Pnigwln-unzhh wnwehlb pinptidh qnympynth nuGkG x, L x,
ytwnbip wyGwhuhG, np 0< x, <1, 1<x, <3 L f(x)=0, f(x,)=0:
buy vw GawlGwymd t np x,-p L x,-p hwGnhuwbnd GG 3 =7x
hwywuwpiwG wpdwwnbbp: \Y
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511.

513.

51S.

517.

519.

520.

Uwywgmgty f(x) $pnibGyghuh vwhdwlbwpwlnipinilp

f(x)=x*-x-1,[-1;5] 512, f(x)—— [0;4]
f(x)=x2x+]’ (oite) Sl f(x)=—— X , [0;+90)
/ 2
f( )— X +5 (—oo +oo) 516. f( )-1+x (—oo +oo)
242 1+x*
f(x )— 08 (~oo;+o0) SI8. f(x)= Vxr+1=yx =1, |x[21
sinx
2smx /4
f(x)-l+tg2x’ x¢5+rzk ke Z

f(x)=ctgx-sin2x, x£xk ke Z

bty f(x) Ppmbyghuyh dzqphin wnnphG b ybphG bqpbpp, JE6w-

qniyG b thnppwaniyl wpdbpGbpp, Epk gnynipyniG nLGGG

521.

523.

525.

527.

529.

531.

533.
53S.

2

F=5 (0re) S22 f(x )—" 1 (s0)
f(x)=1g(x* +x-2) 524. f(x)—log0,(4x-3-x2)

2 2
f(x)=ﬁ,(—oo;+oo) 26, f(x)=——. (23], x%2
f(x)=27" a8, f(x)_3x+5 e
=2 (-3 S0, f()-4 5",( -2]
f(x)—2x+3 Bi+e) 832 f(x )-3"“ [1;+ o)

4
f(x)=5x+3, -2 84 S0 = ”3  [2s+e0)
Uwwgnigtiy,

w) tpt qnjnLpnLh nuGh $nilGyghwyh dhowane)b wpdtip, www
sup{ f(x)} = max{f(x)}
xeX xe X

p) Gpt qnynipyntlG nLGh pniGyghwyih thnppwqnt)b wndtp, www
inf { f(x)} = min{f (x)}
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536. hgnip m(f) = inf {f ()}, M(f)= sup {f(x)}:

xe(a,b)
Uwwgnigtig, np
m(f))+m(f) <Sm(fi+ L) SMfL+ ) SM)+M(f,):
QG| pniGYyghuyh thnppwagnyld b JESwanyG wpdtpbbpp:
537. f(x)=—x’+5x—6, [0;4] 538. f(x)= ﬁ , [-10;=3]

2

540. f(x)=——., [0:3]

4-x’
539. f(x)= ,
7t 4+x°

Uwwgmgty, np gnymupyniG sniG6G pniGlyghwyh hnppwgnyl b JESw-
qnyl wpdbplbp

2

x

541. f(x)— xeR x¢0 542. f(X)-————, xe(_1;+°°)
| x | x+1

543. f(x)= ad xe R
V+xt

Uwwgnigly, np gnynupyma nGh pniGlyghuyh hnppwqniyl wpdbp,
vwluw)G s6owagnyG wpdbp gnynipyniG snLlGh

544. f(x)=x"-3x, xe R 545. f(x)=x3+i3, x€ (0; +o0)
x

_ x| (x-2)°
546. f(x)——1+7, xe R 547. f(x)= N , xe[1;2)

Uwuwgmgby, np qnynupynG nLGh pnlGyghuyh d6éwaqniyG wpdbp, uw-
YuwyG thnppwqniyG wnpdtip gnynipynil sniGh

548. f(x)=4x-x"-6, xe R 549, f(x)=l+l -, X€R
x
1 -
550. f(x)=2%/;+3—, xe (-8;0) ss1. f(x)=\/; 1, e [0;1)
Ux —

I6wnwqnunby f(x) Pmbyghwlt vwhiwbwhwlympjwl inbuwlybinpg

552. f(x)=(0,6)", (—oo;+ o0) 553. f(x)=logy, x, (I;+)
554. f(x)=log,(2), (I;+oo) 555. f(x)= \/1:7 , (o034 00)

154



-1 [z
556. f(")“cosx’( 2 2) 557
558. f(x)=3", (~;0)U(0;4+00) 559

Uywgm gl wihwywuwpnipymGp

s

560. sinx < x <tgx, (O;

561.

. f(x)=x-sinx, (—oo;+o0)
1+x?
. f(x)_W’ (—o0; +00)

sinx2x, x<0

562. [sinx |<| x|, (—oo;+00) 563. ctg,x<l, (0; g)
x
564. cosx<£—x, (O; E) 565. ctgx>£—x, O;E
2 2 2 2
2 n x?
566. t < Py 0;— 7. _—— —00" (%)
. ( 2) 567. cosx <1 2,( ;+0)

x3
568. sinx > x——3—, (0;+ o)

569.

arcsinx > x, (0;1)

Oquybiny vwhdwbh Ynzhp vwhdwlGnidhg, wwwgnigh| hwywuw-

pmpynilGp
570. 1inzl(x2 -4)=0 571. lim x’ =27
572. lirrll(2x2 +x)=3 573. linll(2x3 -1=1
2 2 _
s74. lim* 3~ ¢ 575. lim 22 —3%*9 _3
=0 x4 2 x—3 X+ 3
2 _ 2
576. lirl'll‘bc—x-‘-2 =3 577. lim 2457
. 2x+7 16 -2 x 42 2
2
578. lim X 4Tx=5 -1 579, lim3/x =1
x—-3 x2 + 8 x>l
580. lim v-x = 2 s81. lim X —11 =2
P x— X -
582. lirr‘} cosx =1 583. limcosx =cosa
584. lirr} sinx = % 585. limsinx =sina

x>
6
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586. lim x - sinl =0
x—0 X

X—a

588. limtgx =tga, (a # %+Itk)

590. lim ! =
x52-0 y =2

;

592. lim (Vx+1-vx)=0

X—>+o0

594. lim[x]=—oo

X——00

596. lim [(4x—5)] = +oo

5-8x

598. lim =4
x— 2x 47

600. lim > -
x_,l_o 3x-1

3
2

602. lim 243 -

5= 2x =3

Oqubyny vwhdwbh IwyGbh vwhdwGnidhg, wwwgnighy, np uwhdw-

Gp qnynipynil snLlGh

604. limsin l
x—-0 X

606. limsin2x

X —yo0

608. limsgnsin 1
x

x—0

610. lim arctgl
x

x>0

612. ,'L’P.. (x-[x])

614. lim sini
x—l X _1

616. limcos L
x—2 x—- 2
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587.

589.

591.

593.
59S.

597.

599. lim

601.

603.

60S.
607.

609.

611.

613.

61S.

617.

. NG
lm} tgx = T
x—»;

. 3x+4
lim =

X—yoo X -

3

lim e*2 =0

x—2-0

lim (\/3x+2-%/m)=0

lim [(3x+1)] =40
. 71-9x
lim =
1 3x =2
6x-5__
x5240 D —x -

. 2x+5
hm = —00
x-q)%-A.[) 3 - 4x

-3

. 3xP+1
lim = —o00
£ 4-3x

1

lim2~
x—0
limcos3x
X—)o0

) 2
limsgn cos—
x—=0 x

lim arcctg 1
x=0 X
lim (2x —[3x])

lim sin
,_,_% 4x+1

lim cos
,_,.% 3x+2



618.

L 1
ling 42x3 619. lin} 33x4

X—— —
2 3

Oquytiny uwhdwlh uwhdwlbnidhg, gnyg wwy, np f(x) Ppnbly-

ghwt dhuwyl Gdwoé YEwnbpnid nGh uwhdwl

620.

621.

622.

623.

624.

625.

626.

627.

628.

x*=7x+4, bpblx-p nwghnGwg t X =-2
f(x)= . L
10-6x, tipti x-p hnwghnGuy t  X: =
4x—x*+3, btpbx-p nwghnGw| t X =-3
f(x)= D nuighnGuy sy o=
3x-9, tpt x-p hnwghnGw bt X: =
3—-|x|, tipti x-p nwghnGuwy t _
B x, ==5
fx)= _x..._l_, tpb x-p hnwghnGwi > X, =
7 7
2 _
x*+3, bpbx-p nughnGw t x =-1
f()= , 0z
5-|x|, tpkx-p hnwghnGwy t X: =1
1) = 2x? =3x-21, bpbx-p nwghnGwy t X =-3
24+3x—x%, bpbx-p hnwghnGwy t *: =5
fx)= x?—8x—60, bphkx-p nwghnGwy t X =-5
100+ 4x —3x?, bpbi x-p hnwghnGwy t~ *: =8
Uwwgnighif, np Gpt qnynipynih nLGkG’

w) lim f(x)=a (f(x)#a, tpp x#Xx). p) limg(y)-p, wuyw x, Yb-

winud gnynepyntG nGh g (f(x)) pwpn dniGyghwh uwhdwlp L wbinh
niGh lim g(f(x)) =limg(y) hwjwuwpnipjnilp
Uwuwgnigli, np bpbt x, Ytwh nplt 2ppwlwipnid wtinh nuGto
g(x)< f(x)< g,(x) (x#x,) whhwywuwpnip)ntGGtipp L
lim g,(x)=lim g,(x) =4, wwyw lim f(x)=4:
XXy XXy XXy
Ohgnip f(x) dnLGyghwG dnGnunnG t (a;b)-nud:
Uwwgnighi’
w) gwlywgwsé x, € (a;b) Ytwnd f -G nGh f(x, —0) b f(x, +0) ybip-
pwynp Shwynndwbh vwhdwGGbn:
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629.

630.

631.

632.

633.

634.

63S.

636.

158

p) a L b UbLwnbtiphg jnipwpwbsnipnid qgnynipyntl nuGlG Ybpowynp Ywd
wGytpe vwhiwbatip:

Uwwgnmgty, np tipti f(x) $nGyghwl x =a Ytwnud nGh 0-hg twpptip
ytpowynp uwhiw, huly g(x)-p x=a Ytund gnbh Ybppwinp uwh-
0w, wwyw f(x)-g(x) $nGghwl x =a Ytwnud snibh eppwynp vwh-
owG:

Nhgnip 1i_r2f(x)=0. huy g(x)-p x=a Ytwnd uwhdwh snibh: b0y
wptth t wub f(x)-g(x) $mblyghwih uwhdwGh qnnipjwl Swuhb
x =a Ytwnd: PEipk hwiwwwunwufuwb ophbwyabp:

Uwwgnigtit, np bpti lim f(x)=A4#0, limg(x)=co, wuw f(x) g(x)
$nlyghwl x =a Yhwnud whybpy Gkd t:

SwpinGh £, np f(x) L g(x) dnbGyghwlbpp x =a Yhwnd uwhdwh sni-
Gb0: P03 Ywpbth b wubp (f(x)+g(x)), f(x)-g(x) $nillyghwibiph
uwhdwGh qnynipjwl dwuhb: REpL hwiwwwwnwutuwb ophGwyGtip:
Rhpt f(x) pnuGyghwyh ophGwly, npp (—oo;+ <) -h ng bh Ywnud uwh-
dwG sniGh, uwluyl £ (x) -p gwllwgws Yhwned nibh uwhdwG:

Spywé t a,+ax+a,x’+---+a,x", (ne N, a,#0) pwqiwlnwuip:
Uwuwgnigtig, np lim | P(x) |= 4o

Uwwgnigli|, np tpt  f(x) dnibyghwl x=x, Ytwnd nGh Ytpgwynp
npwlywl A4 uvwhiwlp, www gnjnipyntd nbh x, Ytwh (x, —9; x, + )

2nowlwyp, npntin f(x) >§, X€ (X, —0; x,+0), x#x,:

a,+ax+---+ax"
by +bx+---+b,x"
ghwb: Uwwgnighy, np

Spdwé t O(x) =

(a, #0, b,, #0) nwghnGw| $nLGY-




637.

Jwb; uwhdwip

. Sx?—6x+1
lim ———M—
=3 x+1]

2
639. lim—

641.

643.

645.

647.

649. lim

651. lim

653. lim

65S.

657.

659.

661. lim

665. lim

) x?
. lim -
H-’( 2x+1

) 4
1—52\/;_\/5

. oxt=2x+1
llm-a———
=1 x” =2x+1

. X =3x+2
llm—s—
=1 x” —4x+3

. X =2x'-4x+8
lim—; >
-2 x"-8x°+16
. xt=2x+1
im=———
ol x" =2x" +1
x+\/— 6
4 x_5Jx +6
Yx* -4
e e

5x+3J5+5x +1

085y —4./5+5x +8

) ( 3 1 )
lim T+——
o\ 1-x" x-1

. xP+Tx+12
lim ———
e x4 x—1

lim| —* _7x2+1

e 52 Sx+7

(x+1*3=Tx)?
2x-1)"

X—o0

x+4xr-2

1-2x?

Vax? +3x +5x

== 4243

|

638.

640. lim

642. lim

644. lim

646. lim

648.

650.

652. 1

654.

656.

658. lim

662. lim

666. lim

x
X llm .
[x +1

. lim

. x2+4x-=5
lim ————
x-l X _1
2x? -11x-21
7 x2—9x+14
3xt-x*-2
=l x* 42x -3
5x° =2x*+5x-2
5x1-12x+4
45’ -3x-1
x+-0.5 4x* +4x +1
. 4x* —4x+1
lim T
=05 2% +x" +x-1
. x=5Jx+6
lim——————
=9 x —8x +15
- Ix -1
""'3/_+2\/_ 3
. x"-101x+100
lim 5
= x" =2x+1

) ( 2 1 )
lim T+

=2\ 2x—x" x“=3x+2
(1-5x)°

e (14 x)(x* +x+1)

3x2+x
x+2
(2x-3)"(6x+13)"
(12x-5)°

\/4x2 +Vx* +x*

Jox? +4x

Vaxt+1+x

Sx+1

x—0,4

x—00

X—ptoo

X ~9=—00
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VX2 +S5+x VX2 +S+x

667. lim ————— 668. lim
= 4x+3 e 4x+3
\/x—2—2 ) \/6 x -1
669. 1 670. lim
g Cx-6 ""53 s/4+x
_ 2
671, lim 2J/x? +x+ —2-x 672, lim J7+2x-x2 J1+x+x
x0 x2 2x x
— 2 — —
673. lim ‘/2x+7 Vx+4 674, lim Y FX-1-Vx+3

=3 3 0% -5 ""2\/;2+x+2 J2-x
Px+3-Yx+2 J‘ 3x? +2x —Jx+2

675. lim 676. 1

ol xlex=2 P Vax+1-+2x+5

J9+2x -5 . A9+ x+x+7

677. lim ———— 678. lim ———

=8 Yy -2 -8 Y15+ 2x +1

3 - +

679, lim —v2x*+7~3 680, lim 53X +35x=3

=10 2y —4 +6-x = P3x+2x +x
681. lim(\/x" +2x2 -1 —\/x“ -2x? —1)
682. lim(\’/x3 +3x2 +4x—Yx* —3x2 + 4)
683. lim x? (\/x" +x3Uxt 1 =2x* )

3

684. lim x? (\/x+2 =2Jx+1 +«/;)
685. lim 502 686. lim 303%

x2 x x—0 7x
687. lim 32 688. lim S0%*

Xy x>0 tgﬂx

. sin(l- x) . l-=cos2x
689. lim o

im J—— " 690. 111_1’13 =
691, lim— 0% 692. lim( 2 12 )

-0 sin 6x —sin 7x —0\sin2x-sinx sin‘x

) AR
sm(x———)‘ . l=cosx-cos2x-cos3x

693. lim 3 694. lim T ooss

160
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I tg’x —3tgx

695. lim

697. lim

699.

701.

703. lim

70S. lim

707.

709.

711.

713.

718.

717.

719.

721.

723.

x 4
3 cos| x+—
6

J1+tgx —1+sinx

3

x—0 X
2

lim

x-0 J— Jl+cosx

7 —4arctg L
lim 1+x
x—0 X

tg2x —3arcsindx
x>0 sin Sx — 6arctg7x

tg(1+ x)tg(1 - x) —tg’1

x—»O tg X
3%

lim

=0 4x

1
limx(S" —l)

7
e x_er

lim
x—0 tgx

x2

. € =—Cosx
lim———
=0  sin” x

mf _l-cosmx _1
lim

x—0 x2

X a

. a -
lim
xX=a x—a

p 14
. xP-a
lim——, (a>0)
x-a xq — aq
. sinzx?
lim — 5
- SINTX

698.

700. |

702. lim

704.

706.

708.

710.

712.

714. lim

716.

718.

720.

722.

. lim

cos4x —3Ycos Sx
-0 1—-cos3x

x2

lim
x—0 \f1+xsmx —Jcosx

lim sinv1+x? —sinv1-x?
0

I—) x

31+ arcsin x — 3farc tg2x
x-0 31+ arc tg3x —/1—arcsin 4x

sin(a+2x)—2sin(a+ x) +sina
2

lim

x>0 X

lim cos(a+2x)—2cos(a+x)+cosa
x-0 xz

tg(a+2x)-2tg(a+x)+tga
2

lim

x—0 X

LR
limx2[4‘ —4x+')

] e” -1
lim
=0 J1+sinx? -1

_tgmx

"‘" V3i-x-=2

e®* .cos*® x—1

2

lim
x—0 X

—onc?
lim =% (56 hpwluwd b
X

x—0

sin mx

lim

-7 sin nx

i (47 -4x) (x>0

, (m,ne N)

li_)m“[(l+x)(l+x2)(l+x4)---(l+x2')], lxl<1
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7 _ 9 _l
724, i 430 -1 725, 1im‘[“5x W1+ 7x
x-0 2x x-0 x
Y9x-9 +7- . N+2x+3Y3x-1
726, lim 2% - O+VT=X 29, lim Vi 2’2‘ 3x
=2 x"4+3x+2 -0 x“+2x
_3 _3
728, lim Jx+2-Yx+20 229, lim V3x+1-3Y9x+19
=1 Yx+9-2 =5 Y17x-4-3
6 9
730, lim 3% V14275 -1 oy lim(sinz+sini)«/x2 +2x43
x50 x e X X
x 2
732. lim 2 -x 733. lim (sini+sinl)\/x2 +x+42
-2 x-=2 X—y=oo X X
-1 _ 2 2y _ _ 2
234, lim x 235, lim In(1+3x+x°) 2ln(l 3x+x%)
x-3 x_3 xo0 x
736. lim BX_1 737. limx-log, 2%
x-10 x-lO Xo0 5+x
V4 4
ln tg (— + 3XJ) PR 2
: ( 4 739, lim| X611
738. lim - =0 x.-;*+1
-0 sin4x
. In(cosax) . lgla+x)+1gla-x)-2lga
740. lim ——————= 741. 1 s
x-0 In(cos bx) paae x? (a
x Y !
: . o ;
742. 11—52(2x+1) 743. El_r’rg(l sin x)
x* 1
) 244 ( dn'x
744, llm( = ) 745, lim| 118 )
e\ x" -4 =0\ 1+sinx
R otgx
746. lim(cos 6x)™ * 747. lim| tg (E_ x))
x—0 x50 4
sinSx _esinx 1 x
748. lim—— 749. li in— -
=0 In(1+2x) a| N Heos x)
1
. (aF =-b) [ x+l x+1\3
750. lmg—( ) ,)z »a,b>0 751, lim ﬁ) ,a,b>0, azb
™ a" -b =0 a+b
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8nyg wwy, np gnympyniG nuGh 6 >0 phy wybuhupG, np Gwo wuwy-
JwOhG pwwpwpnn x -bph hwdwp Shan (hGh wlhwwuwpnipynilp:

752. costSl—ll(\/xz_-l-9-3), |x|<d,
753. sin5x>19(Jm-2), O<x<d
754. sin(sin’ x) > 0,98x? |x|<d
755. tg’x 2 0,99tg x?, |x|<é
756. 3cosx 22 +cos2x, |x|<d
757. tgx <sinx+x’, 0<x<é
758. 3" <14+2In(1+x), O<x<d
759. cos2x >1-2,02x2, 0<x<d
760. sin’ x+1,98cosx >1,98, |x|<é
761. sin’3x <10sinx?, |x|< &
762. sin’ 4x > 7sin2x?, |x|<d
763. 3sin’ 2x +Ycos8x > Ycos2x, |x|< &
764, 4/1+5x <x+ 4 +4x, —5<x<0

765. 1+7° 2x* + Y1+5x°, —-6<x<0
766. 2341+ 6x° +x° <2Y1+7x°, 0<x<d

767. |/1+tg2x > J1+sin2x, 0<x<d
768. 38+ tgdx >3x’ +38+sin4dx, -0<x<0
769. 38+ tgdx <2x’ +3/8+sindx, -d<x<0

770. \/1+4tg3x <25x° +/1+4sin3x, -0<x<0
771. \/1+4tg3x >26x’ ++1+4sin3x, 0<x<d

772. 2,/1+tg2x > 2J/1+sin2x +3x°, 0<x<d
773. 11x* + Y1 +sindx < 2/1+tg4x s -0<x<0
774. S5cos3x =24 +cos7x, |x|<o
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775. 7cosSx23+4cos7x, |x|<d

776. 22cos5x <7+15cos6x, |x|< o

777. € < e +In(1+3x), -0<x<0

778. 6" <6+In(1+6x), -0<x<0

779. €% > e 4 21In(1 + 4x), -0<x<0

780. 2sin’ 3x+cos13x < Ycos5x |x|< &

781. €' <cos3x? +7sin? x?, |x|< &

782. tg’xs3tgx—23cos(x+£), Z_s5<x<Z
6 3 3

783. tg’2x+25cos(2x+%)s3tg2x, %Sx<%+§

Uwwgnigl; htinlyuy wupdupinninply pwGwdlp

3
784. \/1+x=\/1—x+o(x“), tpp x o0

785. Y3+x* =3Y3-x° +o(x2), tpp x =0
3
786. cosx=cost+o(x2), tpp x >0+
E
787. sin4x=2sin2x+o(xS ) Gpp x>0
788. ¢* =cosx+o(«/;), tpp x >0+
T 4
789. 200s(x+—3—)=1+0[x5). Gpp x >0
, 3
790. "% =1+o(x“), bpp x > 0+
791. x* =7z2+o(Jsinx), bpp x > 7 -
792. x* = x’ +o(s/-sinx). bpp x > 7+
793. 9x* = x* +o(~/5 sin 3x). Gpp x—)%
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794. 16x* =’ +o(\/° sin® 4x). tipp x—)%+0

79S. COSX=l+O Jx—z , Gpp x_)£+
2 3 3

3
796. \/l+xsinx=l+o(x2), tpp x > +0

797. J1-cos8x =~/1+cos10x +o(\/—sin3 6x), tpp x—)-g-+0

798. Jl—cos4x=\/1+cos6x+o(\/—sin38x), Gpp x—)%—O

799. 6(/l+4x" =6{’/1+5x5 +o(@), Gpp x>0

800. ¢’ =cosd§+o(\3/tg24x), pp x >0

3
801. 5“3=x2+0((x-5)“), Gpp x 5+
802. ¢** =cos3/F+o(3/;7). tpp x — 0
803. 1+x)*=1+a-x+o0(x), Gpp x>0
804. ,/x+px+q=x+§+o(-l—), tipp x > 4oo
x

arctg x 1
80S. —=0|— | tpp x > oo

1+x x
806. a* =1+ xIna+o(x), Gpp x o0

Qunlity f(x,~0)-G L f(x,+0)-G

x—| x|

807. f(x)=—2—, x,=0 808. f(x)=arccos(x—-1), x, =1
x
20-x?)+|1-x|
. =2%", x, =0 810. = , X, =
809. f(x) X, f(x) T~ X,
1
811. f(x)=sgn(cosx), x, £ 812. f(x)=—, % =3
2 x+3%*
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813. f(x)=—1—, X, =—1 814. f(x)=x+[x*], x,=10
x—[x]
a-h b B-h hGs wpdtiplbph nbwpnd pnibyghwl YhGh waytpg
thnpp
2
815, f(x)=2*=D_

(x+1)°

816. f(x)=vax’+x+1-ax-f3, w) pp x > +oo, p) lipp x o —o

-5, tpp x D

817. f(x)= fel—ax-ﬂ, w) Gpp x o 4o, p) lipp x > —oo
e -—

1
818. f(x)=(x+4)e* —ax-pf, w) ipp x 90, p)bipp x 50—
819. f(x)=In(1+e*)-ax-2, w) tipp x — +oo, p) ipp x > —co
820. f(x)=x“-siniﬂ, tpp x >0+

x
821. f(x)=x"-arctng, pp x >0+

x

822. f(x)=(1-x%)", tpp x - 0+

Uwnnigbg, np hbnlywy pniGyghwblphg jnupwpwbGyympl pp npndwG
whpnyph Jpw wGplnhunn t

823. f(x)=2x+1 824. f(x)=3x"-1
825. f(x)=x 826. f(x)=sin2x
827. f(x)=arcsinx 828. f(x)=tgx
829. f(x)=arctgx 830. f(x)=log,x
Sx _ x+1
831. f(x)=4 832. f(x)—x2+3

JGwnwqninby pmiGyghuyh wGpbGnhunnmpyniGp: hwuwluwpql) fuquwl
Ybwnbpp puwn ubinh:

833. y=[x] 834. y=x-[x]
835. y=sgnx 836. y =sgn|x|
837. y =sgn(sinx), xe [0;27]

V.4 11
838. y=sgn|cos— |, xe|—; —
Y g( x) [5 2]
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839.
840.

841.

842.

843.

845.

846.

847.

849.

850.

851.

852.

853.

y=2x-[x"], xe[0;2]
y=x-[Vx], xe (1;16)

— 2y 1
y=3x-[7x], xe [0, 2]
J’=4x2—[%x2i|, xe [l;sfﬁ)']
y =vx-[V2x], xe[0,5,8]

 y=x-[3al, xe [0;1—96-]

y=3x-[4x"], xe[0;]]

=s n(sinz) X€E [11]
Yo x) " 85
w{, Gppx#0

x

1, tppx=0

y= x*, tpp x € (—oo;1)
2x—1, tppxe[l;+00)

y:

Bl,, tpp x # -1
_J1+x
Y

=, Gpp x =-1

3 PP
y=[x]sinzx

Jxa Siﬂ'l—, tppx#0
y:

x
0, ppx =0
( 1
lx"arctg—, tppx#0
y= x
0, ppx =0

(1-x2, ppx <0
y={(x-1)’, tpp0<x<2
4-x, bppx >2
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x2

854. y=——
sin x

855. y = x[l]
X

3 sinrx, tipp x-p nwghnGw) t
r= 0, tpp x-p hnwghnGwy t
857. y=[x]-(x—[x])

x—[x], tppx-p nwghnGwy t
458, ={ [x], tnpx-p nwgh

856.

0, tpp x-p hnwghnGwy t
2" -1 sin x
859. y=— 860. y =
21| tgx
11 x, tpp|x|<1
mtx 862. y=
861. y=2{” ) Y {1, tpp| x |>1
. -x, bppx<l
863, y= 1SN 864. y={ 2
sin x —, bppx>1
x-1
nx
cos—, tpp| x|<1
865. y = 2 el x|
| x=1], tpp| x|>1
11
_3|x-4| _Xx_x+l1
8“.y—m 867._}’———1 _l
x-1 x
868. y=|smx| 869. y = ,l—cos:tx
X 4-x
/4
sin x cosz—
870. y = 871. y=—=%
| x| cosit—
2x
1
872 y= 3% 813. y=—7+
X+x |
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874.

875.

876.

877.

878.

879.

880.

882.

884.

886.

890.

892.

IGwnwgnnby pniGyghwl whpGnhunnnipywl inbuwlbiinhg

4x x> +3,
x)=
160 {M,
3 +l
S(x)= 9’
3—|X|,
S—les
f(x)_{x2+3,
2x2 +3x-21
x)=
J&) {24+3x—x2,
(cos3x,
f)=y 1
\ 2’
sin2x,
fx)=1_1
| 2]
x -1
=l
f(x) hm

f(x)=lim¥1+x*

—X

f(x)= limZ

o= n* 4 n

-X

Il.l'

f(x)= lim =

ne ]+ xe™

2x" =3
=lim——-,
/) nse 14+ x"

f(x)=lim

x+xt-e™
=li
f(x)=lim————— T+o™

n—yoco

n—e 14 (2sin x)*"

tpb x-p nwghnGuwy t
Gpb x-p hnwghnGwy t
tpt x-p nwghnGw) t
tpt x-p hnwghnGuy t

tipt x-p nwghnGwy t
tpt x-p hnwghnGuwy t

tpb x-p nwghnGuw) t
tpt x-p hnwghnGwy t

Lpbt x-p nwghnOwy t

tpt x-p hnwghnGwy t

tpb x-p nwghnGuwy t

tpt x-p hnwghnGuwy t

881. x20

1
=h R
7 o 1+x"

883. f(x)=limcos™ x, xe[0; 7]

885. f(x)—llmsm X, xe[-—g;f]

2

"

887. f(x)=Ilim , x20

noe | 4

>0 889. f(x)= }'i_)m“(l -x)", xe[0; 1]
_ In(1+€*)
891. f(x)= m——ln(l o
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a-h n°’n wpdbpGbph nbwypmd f(x) pmbyghwh YipGh wlplnhwwn
G2dwé x, Ybwnud:

J cos x xl’ £20
893. f(x)=\ cosax ) ’

5 X% =0
e, x=0
( 1
1+tgx sin’ ax
, x#0
894. f(x)=J(l+sinx) s % =0
{ e, x=0
( _1
(sinx)za(x—h e
895. f(x)=1\sin2 ’ D ox,=2
ctg2
et x=2
{
1
896. f(x)= (cosa(x+1))aay, x#-1 . xy=-1
e, x=-1
-5 x#0
897. f(x)= x 5 X% =0
4In3, x=0
Jg(az—Z)x_l
898. f(x)=1 3Qahx_y° x#0 5 % =0
2, x=0
L
'4(3a+$)x _ 2(5a-2)x
899. f(x)= x X200
| 5In4, x=0
r4(20+3)x _4(a—S)x
900. f(x)= 0 *F0 w0
| —2In4, x=0
feazxz _e(7a—6)x2 . O
—_— X
901. f(x)=J In(1+4 3ax?) ;X =0
| 4, x=0
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902. f(x)=1
903. f(x)="
904. f(x)=+:

905. f(x)=1
S(x) =+
907. f(x)=:

908. f(x)=:

909. f(x)=1

910. f(x)= }

[ 2a-13 ,

e 2 —cos(a-2)x
, x#20 . =
sin’ x i %=0
| 3, x=0
( Tax _ (2a+l)x
¢ .e x#0
sinx 3 X% =0
| 4, x=0
e(2a+3)(x—|)‘ -1
, x#1
\/l+tga(x—1)2 -1 ;X =1
L7, x=1
f 29+ _ p(5a+2)x+2)
x#=-2
In(5+2x) 3 X =—2
| -5, x==2
e —cosx+5)
(x+5)2 ’ ; x0=—5
2, x=-5
[ 2
(97 _cos(a—4)x £ 20
2 bl
x 5 X% =0
_.9_, x=0
)
[+ ax -1+ 2ax %0
o x 5 X =0
-—, x=0
. 35
'4/l+5ax—3[1+3x 20
x ’ 5 % =0
i 7, x=0
($1+3a(x—2) - f1-4a(x-2) )
xP-x=2 ’ o =2
’ 0
3, x=2
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YN+ax -1-sinx

, x#0
911. f(x)= In(1+ x) ; X =0
2, x=0
(a+4)x* _
J ¢ I , x#20
912. f(x)=11+sin’ax -1 ; % =0
| 3, x=0
'5 - —1—=gqi -
,/1+(2a 3)x —1-sin(a 3)x, £ 20
913. f(x)=H In(1+ax) 3 X% =0
L _3, x=0
[ sin?ax L0
914. f(x)=J 2—3+cosx’ 3 X%, =0
32, x=0
x-sin(6 —a)x C x#0
915. f(x)=4v3—2cosax —+2—cosax ; x,=0
4, x=0
In(cos a(lxz— 1)) ’ cxl
96. f(x)=4 7D s ox, =1
9
-=, x=1
2

Oquybind wGpGnhwwmpjwl Unphp uvwhdwlGndhg wuwwgnighy
S(x) PmbGyghuyh waplnhwwnnipynilp Gwd x, Ybwnned:

2 2

07, f=X"T*=2 =5 o8 f=X"2
x—6 x+6
2 2

o19. f(x)=>"X=4 . -3 g0 fp=XTXH2 )
x=2 x=3

921. f(x)=v6-5x, x, =-2 922. f(x)=v5-4x, x,=-5
923. f(x)=v-x-3, x,=-7 924. f(x)=3/-11-4x, x, =4
925. f(x)=v7+9x—x*, X, =3 926. f(x)=12+5x—x, X, =4
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927. f(x)=sin2x, x, =% 928. f(x)=cos3x, x, = %
929. f(x)=sin’4x, x, =1 930. f(x)=cos’2x, x, =2
931. f(x)=tgx, x, =3T” 932. f(x)=ctg3x, x, = %

Iwpwynp t wpynp fuqiwl x, Ynnmd f(x) pnlGyghwh npnyby
wybuwbu, np nwetw wipGnhwwn:

1 1

933. f(x)=;+m, x =0 934, f(x)=272""" x =1

Lt f

935. f(X)--;'e R xO—O 936. f(x)=2 x , x0=0
x' -1 e -1

937. f(x)=——, x, =1 938. f(x)=——, x,=0
x -1 [ x|

lvwnp juGnhpltp

939. RPtiptp f(x) PnLbGyghwyh ophGuy npp (—ee,+ <) -h ng Uh Yhwnud whpln-
hwn 51hGh, pwyg 12(x) -p qullywgwé Yhnnid |hGh wGpGnhwn:

940. Yhgnip f(x) PniGyghwl wGpGnhwwn t x, Y b f(x,) #0: Uww-
gnighit, np qmynipynts niGh € >0 phy L x, YGwh 2powlwyp, np wyn
2nowyuwyph gwllywgwd Yhwnnud G0wphn t | f(x) 2 C wihwywuwpnt-

pjniGp:
941. Mhgnip f(x) dnbGyghwh whpbnhwen t [a;b] hwindwénd: Uwwgnighip

w) bpt f(x)>0, www qnnpyntG ntlGh m>0 phy, np f(x)>m,
x€ [a;b]:
p) Gpt f(x)<0, www qnnipyntt mGh M >0 phy, np f(x)<-M,
x€ [a;b]:

942. Yhgnip f(x) PniGyghwh npnawé t (a;b6) Ghowlwpnud: Uwwgnighy,
np tpt f(x)-p wOplnhwwn t x, € (a;b) Yhuwmd, www | f(x)|p L
() -p Lu wGplnhwun GG wyn Yewnnud: Plipky £ (x) fuqynn nLGyghwsh
wyGwhuh ophGul, np | f(x)|-p b f7(x)-p $niGughwltipp (hGEG whpln-
hwuwn:
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943.

944.

94S.

946.

947.

948.

949.

950.

951.

952.

953.

174

Thgnip f(x) L g(x) Pmbughwhtinp npnywsé GG (a;b) Showlwypnid,
pGn npnud f(x) -p whGpGnhwn t, g(x)-p’ tuqunn x, € (a;b) Ywnud: 3b-
wnwqnnbp f(x)+g(x), f(x) g(x) dnGyghwbtiph whplnhwwinnipnilp
wyn Yhwnod:
Ahgnip f(x) L g(x) $nbyghwilipp fugynn tG x, € (a;b) Ytwnnud: 3b-
nwgnunbp f(x)+g(x) L f(x)-g(x) $nbyghwltiph whplnhwnnipne-
Gp wyn Yhwnnud:
bwnnmgby (0;1) dhowywyph dpw wjlwhuh wGpGnhwwn $nilGghw, npp
snLOtOw n's wikOwdks, n’s witkGwdgnpp wndtipltip:
Uwnnmigby [0;1) Yhuwpwg Shewlw)ph Ypw wjbwhuh wGpbGnhwn dnGy-
ghw, npp snGG0w n's wikGwiko, n's wikGwihnpp wndtipGbip:
Uwwgnighi, np bipt f(x) $nLGyghwl wopbnhwn t, www

—C, bphf(x)<-C

Se(x)=1 f(x), tpb|f(x)|<C
C, tpb f(x)>C

$nbyghwl Gnylbwbu wipbnhwwn t, npnbin C -0 Ywiwjwywb npwiywh

phy t:
Uwuwgniglip, np [a;b] hwuindwénd npnawé L dnGnunG f(x) dnGYy-

ghwjh tuqiwb Yhwnbtipp Shihw)G wnwehb utinh GG:

Uwuwgnighip, np tipt f(x) $nbGyghwh dnGnunnG t [a;b] hwindwéntd L
Gpw wpdtipGliph pwqinip)nilGp hwdpGyGnu £t f(a) L f(b) Swypwyt-
wbp nlbignn hwwnywdsh hbwn, www w)t wGplnhwn t [a;b] hwnyw-
onud:

Ohgntp f(x) dnGyghwl npnqwé t L whplnhwwn [a;b] hwunywéndd,
pGn npnid Gpw wpdtipGhph pwqdnepnilp GnuyG [a;b] hwnywéG t:

8nug wwy, np [a;b6] hwndwénid gnynipyntG nibh gnGt dkY x, Ykw, nph
hwiwnp f(x,) =x,:

Uwuwgnigtip, np hwundwéh ypw whplnhwwn $niGghwyh wpdtpGtph pwgq-
onLpynilp hwwnywé t:

Ptipty hGunbpwintd npndwd L whplnhwunn dnGyghwih ophGuly, nph
wpdtipltiph pwqdnipyntlp” w) hwuwnywé t, p) hGwnbpdwy t, ) YhuwhG-
nbpdwy t:

8nuyg vy, np bipt f(x) $niblyghwl whplnhwwn t (a;b) dhowlwypnid L

X5 X500, %, UGnbipp Ywiwjwywh Yewnbp 66 wn dhowlyw)phg, www
GpwGg dhol gnynpynth nibh qnGt BLY ¢ Ybun wyGwhuhG, np



954.

95s.

956.

957.

958.

959.

960.
961.

962.

963.

f(e)=

Ohgnip f(x) dnbyghwtG whplnhwn t (a;b) Ghowluypnud: Uwwgnt-
gtil, np gwlwgwé x, <x, <---<x, (x,€(a;b),i=1;2;---n) wuwydwlha

f(x|)+f(xz)+°"+f(xn)
n

pwywpwpnn Ytwnbph hwiwp b gwGywgwé a, 20, Za, =1 pytph hw-

i=1

Guwp gnynupynih YniOtiGw weldwql oY ¢ Ybwn (x, <c<x,) w)Gwhuhl,
mn f(c)= af(x):
i=1

Uwwgnigtil, np tpt  f(x) $niGyghwl waplnhwn t [1;+00) dhowlwy-
pnud Lgnynpyntl nubh lim f(x) = B dGppwynp uwhiwbp, www f(x) -p

[1; 4 e0) -nud uwhdwlwdwy t:

Thgnip f(x) dniGyghwih whpbnhwn t (a;b) Showhw)pnid L x, € (a;b)
Ywnh gqualywgwé 2ppwlwypnid ponnibnud t hlswbu pwgwuwlywh, w)b-
whtiu k| npwlwG wpdtiplbip: Uywgnighy, np f(x,) =0:

Nhgnip f(x) $nGyghwi whplnhwn t (a;b) Showlw)pnid L gnynipyntl
nLGGG xl_imo f(x) L xl_i)rbr_lo f(x) ybppwynp uwhiwGGbp: Uwwgnighy, np

f(x) dnGyghwl uwhdwbwihwy t (a;b)-nL:
hgnip x,,x,, -, x, pdipp (a<x, <x, <---<x, <b) [a;b] hwndwénLi
f(x) wGpOnhwwn $niGyghwjh pninp wpdwnGiplb GG: Uwwgnighip, np
@x), (x;x,)+(x,;b) Ghgwlyw)ptiphg jntpwpwlbynipnid pnilbyghwa
wwhwwbnud t hwunwunneb GawG:
Ahgnip f L g $niblyghwhpp npndwé b whpbnhwn 66 [a;b] hwuindw-
ond L f(a)<g(a), f(b)>g(b): Uywgnigtl, np qnnipjntG nLGh
wnGywqb a6y ce (a;b) Y wyGwhuhl, np f(c) =g(c):
Uwuwgnigtig, np x-2° =1 hwywuwpnidb wpdwwn nuGh:
Uwwgnigtig, np 3* =7x hwdwuwpnuip (0;3) dhewwypnid wnGywql
Gpynt wpdwwn nGh:
Uwwgnigtig, np 2° =5x hwjwuwpnuip (0;5) dhpwlw)pnid wnGwql
Gpynt wpdwwn nuGh:
Uwuwgnigbi, np x° =3x =1 hwywuwpnidp’ w) (1;2) Ghewlw)pnid wp-
duwuwn nGh, p) wnlGwql biptip wpdwwn nGh R -nud:
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964.
965.

966.

967.

968.

969.

970.

971.

972.

973.

974.

176

Uwuwgnigty, np 10" = x hwywuwpntiG niGh weGwql Gpynt (nLénc:
Uwwgnigbiy, np x-sinx =1/2 hwjwuwpndG niGh wGytipe puny (nuénud-
Gkp:

Uwuwgnighil, np cosx =x hwywuwpnidp (0; -’25) dhowlwpnid wpdwwn

nLOh:

8 V4
Uwwgnigby, np cosx =—x hwjwuwpnuip 0;3 dhowlwypnud |ni-

V4
6nud nubh:

. 3 nr

Uwwgnigbl, np cosx +4sin4x =— hwdwuwpniip E,E Ghowlywy-
n

pntd nuonLd nelh:

3

f(x)= % —sinzx+3 $nGyghwl [-2;2] dhowlwypnid pGnnilnid t

1
wpnnp 25 wndtipp:

Uwywgnighbi, np wdkl dh YEGwn wunhswGh hpwlwb gnpéwyhgbbipny hw-
jwuwpnid ntGh gnbt vkY hpwlywl wpdwn’

a, x> +a x> 3 4.ta,, =0,a,#0
Uwuwgnighi|, np bGipb qnuq wunhwlh pwqiwbnwdip pGnniGnid £ qnGt
Oty wpdtip, npG nLGh wjwq winwih qnpéwygh hwiwnwly G2whp, wWww
pwqlwlnwdb nhh wikGwphsp tipyne hpwlwb wpdwunbbp:
Uwwgnighiy, np htivnbyw) hwjwuwpnuiGephg jnupwpwGsjnipp Goywd dh-
owlwjpntd nibh weGjwqlb hpwlwh wpdwen:

+a,x

w) ¥’ +5x*=7=0, xe[1;2]; p) x* +6x’-1=0, xe[0;1];
q) 16x2 =2tgx-7=0, (%;%); m X’ +Inx=20=0, xe (0;2):

Uwuwgnigli, np hGwnbjw] hwjwuwpniGbphg  jnipwpwGsnipG  nuGh
wnOywql Gpynt hpwlwh wpdwwn:

w) 2x* +9sinx-1=0;

p) e —x-2=0;

Q) X’sgnx+x’+3x-1=0:

R -nu8 pwGh® wlpGnhwuwn 1nuénud nGh y? = (x? =1)* hwywuwpnudp:



auUsSuluLLEr

81. P22gq: sz.Pziq: 83.P2iq: 84. P=1,0<g<l1: 8s. P=3; osq<3:
2 3 2 2
3 1 2\’
232. z: 233. —-6—: 234, - g 1235, 2:  236. ——:237. —6: 238. 4:
239. —-1: 240. Z: 241. —l: 242. l: 243. l: 244. E: 245. E:
3 5 3 2 3 5
246. 2a+l: 247. 2: 248. l: 249. £:250. l: 251. 0: 252. 0:
3 2 2 4
1 4 15
253, —: 254. 9: 258. 1: 256. 2: 2§87. —: 258.1: 259, —:
6 3 8
20 - 26 2L 22 B 261 264 22265 O 266 -2
2 4 8 3 3 27
267. E: 268. —-E 2 : 269. l: 270. i: 271. 3: 272. 1: 273 —iz
3 4\Y2 3 5 4
274. l: 275. E: 276. l: 277. 0: 278. l: 279, ﬁ-:zso. ﬁ:
4 8 2 3 2 5
5 . 6 -10 2 —4 4 . 6
281. 7 282 ¢° 283 ¢7": 284 oF: 285 7' 286, Ye: 287. e: 288, o°:

a /by, tppp=q
289. Z,hnp a=5;00,pp a#5: 290. < 0, tppp<gq
> ol tppp >q
291. 0: 292. Qnynipynil sniGh: 293, Qnynipynih snilh: 294. 0: 295. 1/2:
296. AnjnLpynil snLGh: 297. 1: 314. 0;2: 315. I;5: 316. -7;8: 317. —4;6:

318. —6;5: 319. —-12;6: 320. -%;%; 321 —eje+1:322. 0;%: 33, (2 +1)e2:
329. O;+eo: 330. —5;%: 331. -1;%; 332. -17;20: 333. -10;14: 334. -11;8:
335. ——7-;-2: 336. —i;l: 337. —6;1: 338. -ﬂ;é; 339, —2;1: 340. l;l:

341 2217 342, l;3: 343. —2;16: 344 —l;i: 345. —4;1: 346. 0;2:
2 4 3 3 2
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347.

399.

407.

413.

449.
453.
457.
461.
465.

469.

471.
475s.
479.

491.

494.

495,
521.
522.
523.
524.
525.
526.
527.

528.

529.

530.

531.

178

351. O;i:
3

12 4

412. L
28

452. Qniqudbn t:
456. Swpwibwn t:
460. Qniquibwn t:
464. Swpwibwn k:
468. 2niquikin

474. Swpwibuwn t:
478. 2niquibn t:
482. 2niquidtin
486.
490.

2niquidtiun t:
Aniquidbn t:

493. Swpwdbwn t:

498. 2niquibin t:

O;EZ 348. O;-z—s' 349. 0;—9-: 350. 03—43-:
3 24 5 720
1
— 400. i: 401. i 402. i: 403. 1. 404. l:
1- 3 28 36 3
l 408. l: 409. i: 410. l: 411, —
3 4 84 15 21
% 414. 1-2: 415. 1-J2: 416. 0: 417. % 418. %smz 419. —In2:
Swpwdtin t: 450. Swpwibkn k: 451, 2niquidtin t:
2niquiotiin t: 454, Swpwitin b 455, Swpwdbwn t:
2niquitiin £ 458. Qniquidkn k459, Swpwadbin L:
Inquibin b 462. Swpwibn k: 463. 2niquitititn
Qniquitin k: 466. Qniquibin t: 467. 2nquidbun t:
niqwibtint, ippd<a<
2niquitin t: 470. Antauium npo<a<e
wnwpwibwn t, tippa > e
Swpwitwn t: 472, 2mquwoibkn t: 473, 2niquidtinn E:
2nquitin t: 476, 2niquikiin k477, Swpwdbwn L
Swpwibn b 480. 2niquibin t: 481, Swpwibin t:
. Qniquibn £ 484, 2niquidbin b 485. 2niquidtun
. Swpwitin k488, Swpwibint: 489, Swpwdbn t:
Swpwibn t: 492. 2niquiikitn t:
qgniquibknt, tpp0<a<l
wnwpwitnt, ppa 21
2nquititn £ 496. 2Qniquistiin b1 497. Qniquiibinn t:
inf{f}=min{f}=2; sup{f}=+oo:
D(f)=(—=;=2)U(I;+ =) ; inf{f} =—o; sup{f} =+e:
inf{f} =—e; sup{f} =max{f}=-2:
D(f)=(13); inf{f} =—=; sup{f} =max{f}=0:
inf{f}=min{f}=0; sup{f}=1:
inf{f}=—co; sup{f} =+
inf{f}=0; sup{f}=max{f}=1:
mf{f}——,SUP{f} max{f}=1:
inf{f}=——: sup{f} =max{f}=-1:
inf{f} = mm{f}—-—. sup{f}= ——:
inf{f}=min{f}=-1; sup{f}= —5:



532.

533.

inf(f} = min{f}=—4; sup{f} =—1:
inf{f} =§ . sup{f} = max{} =131:

534. inf{f}=min{f}=-11; sup{f}=-2:
537. min{f}=-6; max{f}=%: 538. min{f}=%; max{f}=3:
539. mm{f}————; max{f}=1: 540. min{f}=0; max{f}=%:
7 15 9 29
637. —: 638. 3: X :640. —: 641. 2: 642. —: 643. 0: 644. ——:
3 639 8\5 7 8 40
1 3 1 1 1
645. —: 646. ——: 647. —: 648. 0: 649. —1:650. ——: 651. 4: 652. —:
4 2 4 2 4
5 1 1 7
653. -5:654. 5050:655. 1:  656. —5:657. 5: 658. —125:659. —;:660. 3:
49 1 9 Js 1 1
661. —: 662. ———: ——:664. —: 665. 3: 666. ——: 667. 0: 668. —:
16 210.12% 4 3 5 2
669. l: 670. 3: 671. 3: 672. [7- 673. —-:i: 674. 4: 675. —-L: 676. i:
4 4 4 4 12 16
1
677. E: 678. 2: 679. —it 680. —i: 681. 2: 682. 2: 683. — 684. —-!-:
5 81 12 42 4
a
685. S04 . 6g6. 3. 687. 0: 688. . 689. —2: 690. 2: 691 —1: 692 :
4 7 B 2
1 1 4
693. ?: 694. —24: 695. 14: 696. 3 697. s 698. 3 699. 0: 700. 4+/2:
2t
701 2: 702 100 703, —~: 704, tg*1~1: 705, —sina: 706. —cosa: 707. —5L.
37 9 cos“a
708. %ln3: 709. In5: 710. In4: 711. 5: 712. 2: 713. %: 714. —4r: 715. %:
p ay. 4 pa’ mn M 21
716. 0: 717. =: 718. a’In—: 719. D720 (-D)""—: 721, —:
2 e qa’ n 31
722. L: 723. Inx: T724. ﬂ: 725. —it 726. —l: 727. ﬂ 728. 2—2-
1-x 2 99 6 20 27
729. — 243 1 730. E 731. 5: 732. —-11: 733. 4ln—2- 734. 9In3-6: 735. h\_lO
272 18 e 10
2
1
736. 2: 737. Slog,e: 738. 2: 730. L. 740. 2: 741. — © 742, 0:
&2 b? a’ln10
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743.

751.

812.
814.

816.

817.
818.
819.
820.
821.
822.
833.
834.

835.
836.
837.

838.

839.

840.

841.

842.
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1 1
—J—Z 744. &8 745. JZ; 746. L: 747. —: 748. i: 749. e 750. In%:
e

e e r
M: 807. f(0-0)=1; f(0+0)=0:
a+b
f(l—0)=f(l+0)=%: 809. £(0—0)=0; £(0+0)=+oo:
f(1—0)=%; f(1+0)=%: 811. f(%-o)ﬂ; f(§+o)=_1;
73-0)=0; f(3+0)=%: 813. f(=1-0)=1; f(~1+0)=+oo:

£10-0)=109; £(10+0)=110: 815. @=1; f=-3:
1

w) a=2, ﬂ=%;p) a=-2, ﬂz—z:

w) a=1, f=0;p) =0, f=0:

w) a=1, f=5;p) a-6 jwiwjwlywd f=0:

w)a=3, f=0;p) a=0, f=0:

w) @>0, £-0 jwiwywyws; p) =0, <0;q) a<0, <0, a-5>0:
w) >0, F-0 jwiwjwyws; p) =0, <0;q) a<0, <0, a-F>0:
a>0, a+f<0:

x,=n, (ne Z) wnwohb utinh fuqdwa YhLwnbp:

x,=n, (ne Z) wnwehb utinh fuqiwh Ytwnbp:

x =0 wnwohh utinh tuqiwb Ykin:

x =0 wnwohl utinh fuqiwb Ybwn:

x, =0, x, =27 Jipwglbih fuqiwb Ytwnbp, x; =7 wewehl ubinh fuqiwb Yhwn:

1 1 2 2 2
X, =—, X, =— whpOnhwwnipjwl Ybinbp, x;, =—, x, ==, x; =— wnwohl
1 =5+ %2 =5 wipln Pllln394755 gh
ubinh fuqiwG YLwnbp:
x, =0 wobpGnhwwnipjwl Yt t, x, =2 Jbpwglbih tuqiwb Ytw, x; =1,

X, =2 , X =3 YGwbpp wewehl utinh luqiwh YEwnbp GG:
x =1, x, =16 Jtpwgltih huqiwb Ytwnbkp, x;=4, x, =9 wnwehl ubnh
tuqiwh YGwnkp GG:

=0, x, =% wipGnhwuinnipywl Ybwnbp, x, =—;—, X, =2

7
utinh juqiwG Yewbp GG:
x, =1 woOpGnhwwnipywlG Yt t, x, =J20 yGpwglbih fuqiwl Ytwn,
%, =5, x, =10, x; =15 wnwght ubinh fuqswG Ybwnbn bG:

, Xg =—:;- wnwohl



843.

844.

845,

846.

847.
848.
849.
850.

851.

852,

853.
854.

855.

856.
857.
858.
859.
860.
861.
862.
863.
864.
865.
866.
867.

1
X, =5 whpOnhwuinnpjwG Ybwn t, x, =8 Ybpwglbih fuqiwb Ybw, x; =2,
x, =9/2 Ytiunbipp wnwohb ubinh fuqiwG Ybwnbp GG:

x; =1 wiplnhwwnipjwl Yt t, x, =% Ytipwglbih fuqiwh Yk, x, =T;"
4
X, =3, x5 =1 Ytinbipp wowehG ubinh fuqiwG YLwntp LG:

x, =0 wlpGnhwwnipjwlb Yewn t, x, =1 Jbpwglbih uqiwh Ybw, x, =%.

2
X, =§ , X =§ Ytiwntipp wnwohl ubinh luqiwG Yhwbp LG:
X =%. X, =% Utinwgltih huqiwG Yhnbin, x, =% X =% wnwehG ubinh

huqiwG Ytwntp GO:

x =0 wlpOnhwwnipjul Yhwn:

x =1 whpGnhwwnnipjub Yew:

x ==1 wipGnhwwnipjwh Ybw:

x, =k, (ke Z) Ytwnbpp wGplnhwuinnipywh Ybwnkp GG:

x=0 wGpbnhwwnnipjub Y t, pt a>0: 6pb @ <0, x=0 YbLwnp Gpypnpn
ubinh fjuquwa Yybtuwn t:

x=0 wOpOnhwwnnipjwl Y t, pb @ >0: bpb =0, x=0 YbLwp ytpwg-
G6h fuqiwG Yewn t: Gpb a <0, wwyw x =0 YEwp Gpypnpn ubinh luqiwh Ybw t:
x =0 wlpOnhwwnnipjwl Ytwn: x =2 -p wnwohb uknh fuqiwb Ybun t:

x=0 Ybuwp ybpwglbbiih juqowh Yk t:

x=0 Ybtwp Jtpwgltih huqiwb Ytw t: x, =% , (ke Z) wnwohl ubnh
tuquiwG Ytwbp GG:

x#k, (ke Z) Ykwmbpp Gpupnpn ubinh fuqdwb YEwnkp GG:

x=k, (ke Z) Ybwntipp wnwehG utnh fuqiwh YGwbkp LG:

x, =k, (ke Z) Ytwbipp tpypnpn ubinh tuqiwh Ytwntp G6:

x =0 wnwohl utinh fuqiwb Yk t:

x, =7k , (ke Z) Ytwnbipp Yybipwgltiih luqiw Ytwnbp Ga:

x =0 wnwohG utnh fuqiwb Yt t:

x =-1 wnwohh utinh fuquwb Ybw t: x =1 wlpGnhwwnnpjwb Yt t:

x, =mk, (ke Z) Ytwnbpp wnwehl utich luqdwh Yk La:

x=-—1 wnwohb ubinh fuqiw Yk t:

x =-1 wnwohl utnh fuquwb Ytw t: x =1 whpGnhwinnipjwb Ybw t:

x =4 wnwohb ubinh fuqiwb Y t:

x =0 L x, =1 ytipwglbiih luqdwh Ytwnbp 66, x; =—1 YGwp Gpypnpn utinh
tuquwG Ytiwn t:
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868. x =0 wnwohO utinh luquiwh Ytiwn L:
869. x, =-2 L x, =2 Jbtpwglbiih fuqiw Yhinbp GG:
870. x =0 wnwohl utinh fuqiwa Ybuwn t:
2k1 T (ke Z) ybpwglbih tuqiwb Yt t:
872. x =-2 JbpwgGtih huqiwh Yt t:
873. x =0 bpypnpn ubinh, x =1 wnwohl ukinh fuquwh Ytinbp LG:
874. UGpGnhwuwn t dhwyb x, =-3 L x, =4 Ytwnbpnud:

91
875. UGpGnhwuwn t Ghw)b x, =-—% L x, =E ytiwnbpned:
876. UGpGnhwun t dhwyG x, ==1 L x, =1 Ytwnbpnud:
877. UGpGnhwun t dhwyG x, ==3 L x, =5 Ybwnbpned:

871. x, =

878. UdtiGnuptp fuqynn t, pwgh i%ﬂ'+§7rk , (ke Z) ybwnbiphg:

879. UskGnupbp fuqynn t, pwgh (-D* ]1!2—+%k, (ke Z) Ytnbphg:

880. luqunn t x;, =—1 L x, =1 YLnbpnei:
881. luqunn t x=1 YLwnui:
882. UGpGnhwun bt (—ee;°0) Showlw)pnei:

883. luqynnt x, =0 L x, =7 YLnbpney:
884. tuqynn t x =—% L x, =% Ybwnbpned:

885. tugynn t x =0 YLwnd:
886. tuqynn t x =0 Ykwnui:
887. tuqynn t x =1 Yhwnoo:
888. tuqynn t x =1 YLwnui:
889. luqynn t x =0 Ybwnui:

890. huqunn t -’2£+7tk, (ke Z) yhwnbpnu:

891. UGpGnhwn t (—oo;00) Ghowluwypnu:
892. UGpGnhwin £ (—oo;00) Showlwypnid:

893. a,=-3;a,=3: 894. a=2:895 a=2:8%. a =-2;a,=2: 897. a=5:
898. g,=-1;a,=3: 899. a=-2: 900. a=-10: 901 g =-3;a,=-2:
902. a,=-3;a,=5:903. a=5:904. a=2:905. a=-2:906. a=2:907. a=3:

908. a=3:909. a=%:910. a=6:911. a=9:912. a,=—§; a,=2:913. a=-1:

914. g, =-2; a,=2: 915. ) =-3,a,=2: 916. a,=-3;a,=3:
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